## 2019 RATE CASE CENTERPOINT ENERGY HOUSTON ELECTRIC, LLC MLS RATE DATA MITRL AND LABOR TEST YEAR ENDING 12/31/2018 SPONSOR: M. TROXLE

## MLS TARIFF SUPPORT DATA - MATERIAL AND LABOR

			Н	PS - SECUR	RITY/FLO	OD					MH-SECUR	TY/FLOOD			HPS- ROADWAY	HPS- GUARD LIGHT	MV- GUARD LIGHT
BASIC DATA	-	150W		250W		400W		1000 W	175\	N	250W	400	w	1000W	150W	100W	175W
	<del> </del>									_			_			<del> </del>	
LAMP RATED INITIAL LUMENS (read comment)		15000V		28000V		50000V		140000	12900	V	19475V	3220	DH	104500	15000V	9500	7800
LAMP RATED MEAN LUMENS		13800V		26100V		45000V		126000	8400	٧	12500V	2300	DH	80000	13800V	B000	3300
LAMP LIFE HOURS		24000		24000		24000		24000	1000	ю	6000	150	00	12000	24000	24000	24000
WATTAGE INCLUDING BALLAST	ļ							1									
AVERAGE HOURS OF OPERATION		4000		4000		4000		4000	400	00	4000	40	00	4000	4000	4000	4000
ESTIMATED ANNUAL KWH								1									1
MOUNTING ARM		18"		18"		18"		16"	11	<b>6</b> "	16"	•	18"	18"	3	3	31
APPROX, MOUNTING HEIGHT		25'	_	25'		25'		25'	2	5'	25'		25'	25	25	25	25
INITIAL INVESTMENT																ĵ	
LUMENAIRE	s	127 44	s	174 93	\$	147 50	5	324,75	\$ 142.0	0 1	170.79	\$ 176,	34 \$	324 75	\$ 67 28	\$ 67 28	\$ 67.28
LAMP		6,34		6 42		6.01		38.15	19.5	53	19.43	19	43	23,52	IN KIT	IN KIT	IN KIT
PHOTOVOLTAIC ELECTRIC RELAY (PER)		3 39		3 39		3,39		3,39	3,3	39	3 39	3	39	3.39	IN KIT	IN KIT	IN KIT
MOUNTING BRACKET - DISCONNECT ARM		17		17		17		17	1	17	17		17	17	IN KIT	IN KIT	IN KIT
ARM WIRING /SPLICES/MISC. COMPONENTS		7 41		7 41		7.41			7.4	11	7 41	7	41		7.41	7.41	7.41
INITIAL MATERIAL COST (SUB-TOTAL)	<u>s</u>	161,58	<u>\$</u>	209 15	<u>\$</u>	181 31	5	383 <u>,29</u>	\$189,3	3 3	218 02	\$ 223	57 5	368.66	\$ 74.69	\$ 74 69	\$ 74 69
INSTALLATION COST (Contract Labor)	ş	94 69	\$	94.89	\$	94 89	\$	94,89	\$ 94.8	9 3	94 89	\$ 94	9 \$	94.89	\$ 94,89	\$ 94.89	\$ 94.89
OVERHEAD (STORES & ENGR )	3	74 85	\$	92.06	\$	81.99	\$	155,05	\$ 84.8	9 :	95.27	\$ 97.	28 \$	149 76	\$ 43,42	\$ 43.42	\$ 43.42
TOTAL INVESTMENT COST	<u> </u>	331.32	<u>\$</u>	396,10	\$	358,19	<u>.                                    </u>	633,23	\$369.1	1 5	405.18	\$ 415.	74 \$	613.31	\$ 213,00	\$213.00	\$ 213.00
ANNUAL OPERATING EXPENSES																	
FIXTURE REPLACEMENT COST	s	137.17	\$	184.74	\$	156 90	\$	366,29	\$ 164.9	2 :	193,61	\$ 199.	16 \$	351 66	\$ 67,28	\$ 67 25	\$ 67.28
TRANSPORTATION COST	s	19.95	\$	19,95	\$	19 95	\$	19 95	\$ 199	6	<b>S</b> 19.95	\$ 19.	95 1	19.95	\$ 19,95	\$ 1995	\$ 19,95
Labor Cost/Hr	s	94 89	\$	94.89	\$	94.89	\$	94 89	\$ 94.8	9 :	\$ 94.89	\$ 94.	89 1	94 89	\$ 94,89	\$ 94 89	\$ 94.69
Man Hours	,	1.00	\$	1.00	\$	1.00	s	1 00	<b>s</b> 10	0 :	1 00	<b>\$</b> 1	00 1	1.00	<b>\$</b> 1.00	<b>s</b> 1.00	\$ 1,00
COORDINATION COST	s	7 12	5	7 12	\$	7.12	5	7 12	\$ 7.1	2	\$ 712	<b>s</b> 7	12 \$	7.12	\$ 712	\$ 7.12	\$ 7.12
LAMP REPLACEMENT COST (LABOR)	5	102 01	\$	102.01	\$	102 01	\$	102.01	\$ 102.0	11	\$ 102.01	\$ 102	01 \$	102.01	\$ 102 01	\$ 102.01	\$ 102.01
OVERHEAD (STORES)	5	25.90	\$	34 88	5	29 62	s	69,16	\$ 311	4	\$ 36.55	\$ 37	60 \$	66 39	\$ 12.70	\$ 1270	\$ 1270
TOTAL COST TO REPLACE FIXTURE	s	285.03	\$	341 58	s	308 48	\$	557 41	\$ 318.0	2	\$ 352.12	\$ 358	72 \$	540 01	\$ 201 94	\$ 201 94	\$ 201 94
Lamp Life (years)		6 00		6 00		6.00		6 00	2.5	0	1.50	3	75	3 00	6 00	6 00	6 00
TOTAL ANNUAL MAINTENANCE COST	<u>s</u>	47.50	<u>\$</u>	56 93	<u>s</u>	51.41	<u>s</u>	92 90	\$ 1 <u>27.2</u>	1	\$ 234 75	\$ 95	<u>66</u> <u>s</u>	180 00	\$ 33 66	\$ 33 66	\$ 33,66

13 33

20.33

3 33

Lamp Related O&M	\$	27 18 \$	36.60 \$	31.09	\$ 72.57	' <b>\$</b>	78 42	\$
Pole Related O&M	s	20 33 \$	20 33 \$	20,33	\$ 20 33	; <b>\$</b>	48 78	\$
Transportation Portion of Pole Related O&M	\$	3,33 \$	3 33 \$	3,33	\$ 333	\$	7.98	s
Overhead (Stores & Engr.)	E	Factor A	polication					
Construction Overhead Rate ≕ Stores Overhead Rate ≔ Rates are based	0	),1729 Applie ),1888 Applie	ed to Sum of Mater ed only to Material	ial and Labor Cost	Cost		0.1729 0.1888	
Transportation Costs' (Truck w/ Single Bucket)			\$	19 95	Hourly			
Coordination Support			\$	7 12				

153 44 \$

81 31 \$

13.30 \$

63 14 \$

32.52 \$

5.32 \$

139 35 \$

40.65 \$

6 65 \$

13 33 \$

20,33 \$

3 33 \$

13 33 \$

20.33 \$

3 33 \$

# 2019 RATE CASE CENTERPOINT ENERGY HOUSTON ELECTRIC, LLC O&M ALLOCATION DATA TEST YEAR ENDING 12/31/2018 SPONSOR: M. TROXLE

	İ	1	ı		1 1									i	j		
Type of I	.amp	Lumen	Annual No of Lamps	Lamp Related O&M	Nuber of Poles	Pole Related O&M		ual O&M p Related	An	nual O&M Pole Related		Annual O&M		ransportation ortion of Pole Related	Nuber of Poles		Annual nsportation lated O&M
stomer Owned:																	
Flood Light	HPS (150 W)	16,000	1,368	\$ 27.18	98	20.33	\$	3,098.29	\$	1,992.01	\$	5,090.30	\$	3.33	98	\$	325
Flood Light	HPS (250 W)	27,500	16,980	\$ 36 60	1,215	20.33	\$	51,793.46	\$	24,696.90	\$	76,490.36	\$	3.33	1215	\$	4,039
Flood Light	HPS (400 W)	50,000	144	\$ 31.09	10	20,33	\$	373.05	\$	203.27	\$	576.31	\$	3.33	10	\$	33
Flood Light	HPS (1000 W)	130,000	1,056	\$ 72.57	76	20.33	5	6,386.53	\$	1,544.83	\$	7,931.36	\$	3.33	76	\$	252
Flood Light	MH (175 W)	14,400	204	\$ 78.42	15	48.78	\$	1,333.19	\$	731.76	\$	2,064.95	\$	7,98	15	\$	119
Flood Light	MH (250 W)	21,500		\$ 153.44	0	81.31	\$	-	\$	-	\$	-	\$	13.30	-	\$	
Flood Light	MH (400 W)	36,000	600		43	32.52		3,156.82		1,398.47		4,555 29	\$	5 32	43	\$	228
Flood Light	MH (1000 W)	107,000	1,560		112		\$	18,115.65	\$	4,553.17	\$	22,668.82	\$	6.65	112	\$	744
Roadway	HPS (150 W)	16,000	108		8	20.33	\$	119.97		162.61		282.59	\$	3.33	8	\$	26
Guard Light	HPS (100 W)	9,500	84		6	20,33	\$	93,31	\$	121.96	\$	215.27	\$	3.33	6	\$	19
Guard Light	MV (No New)	7,500	0	\$ 13.33	0	20.33	\$		<u>\$_</u>	<del></del>	<u>\$</u>		\$	3.33	<u>0</u>	<u>\$</u>	
Total Customer Own	ed		22,104		1,583		\$	84,470.27	\$	35,404.99	\$	119,875.25			1583	\$	5,791
P Owned:																	
Flood Light	HPS (150 W)	16,000	82,704	\$ 27.18	5,916	20.33	s	187,310,43	S	120,252.56	\$	307,562,99	\$	3.33	5,916	S	19,670
Flood Light	HPS (250 W)	27,500	780	\$ 36,60	56	20.33	Š	2,379.20	\$	1,138.29	\$	3,517.50	S	3.33	56		186
Flood Light	HPS (400 W)	50,000	125,604	\$ 31.09	8,984	20.33	Š	325,388.89	Š	182,614,77		508,003 66	S	3.33		Š	29,87
Flood Light	HPS (1000 W)	130,000	0	\$ 72.57	. 0	20.33	\$	· -	\$	• • •	\$	-	\$	3.33	-	Š	
Flood Light	MH (175 W)	14,400	0	\$ 78.42	0	48.78	\$	-	\$	-	\$		\$	7.98	-	\$	
Flood Light	MH (250 W)	21,500	0	\$ 153,44	0	81.31	\$	-	\$	_	\$	-	5	13.30		S	
Flood Light	MH (400 W)	36,000	0	\$ 63.14	0	32.52	\$	-	\$	-	\$	-	\$	5.32	-	\$	
Flood Light	MH (1000 W)	107,000	0	\$ 139.35	0	40.65	\$	-	\$	-	\$	-	\$	6.65	-	\$	
Roadway	HPS (150 W)	16,000	196,776	\$ 13.33	14,075	20.33	\$	218,592.07	\$	286,097.83	\$	504,689.91	\$	3.33	14,075	\$	46,79
Guard Light	HPS (100 W)	9,500	156	\$ 13.33	11	20 33	\$	173.30	\$	223.59	\$	396.89	\$	3.33	11	\$	. 3
Guard Light	MV (No New)	7,500	0	\$ 13.33	0	20.33	\$		\$		\$		\$	3,33	-	\$	
-		-									_					s	
Total CNP Owned			406,020		29,042		\$	733,843.89	\$_	590,327.05	\$_	1,324,170.94			29,042	\$	96,56
tal Lamps			428,124		30,625			818,314	1	625,732		1,444,046.19			30,625	•	102,35

Total MLS Servcie:

# 2019 RATE CASE CENTERPOINT ENERGY HOUSTON ELECTRIC, LLC POLES & LAMP COUNT TEST YEAR ENDING 12/31/2018 SPONSOR: ML TROXLE

		Lamp 7	ype	Mo				Annu	al (Amt * 12 me	S) Brk Away	Mont	hly Number of P	oles
	Sched	Lumen	Туре		Watt	Service	Pole	# of Lamps	# of Poles	Base	OH Cond	UG Cond	Total
A6000HPS	A	6,000	HPS	29	70	ОН	w	5,772	5,772	_	481		4
B6000HPS	В	6,000	HPS	29	70	ОН	s	192	192		16	1	•
D6000HPS	D	6,000	HPS	29	70	UG	s	60,648	60,548			5,054	5.0
A9500HPS	1 👗	9,500	HPS	38	100	OH	w	160,980	160,968	1	13,414	3,004	
B9500HPS	В	9,500	HPS	38	100	OH	s	276	276	- 1	23		13,4
D9500HPS	l D	9,500	HPS	38	100	UG	s	2,210,016	2,210,016	816		184,168	184,1
E9500HPS	E	9,500	HPS	38	100	ÜĞ	š	25,632	12,816	- 1	1 [	1,068	1,0
A15000HPS	A	15,000	HPS	58	150	OH	W	54,960	54,948	_ ]	4,579	.,550	4,5
B15000HPS	В	15,000	HP\$	58	150	OH	s	168	168	. !	14		4,5
C15000HPS	С	15,000	HPS	58	150	OH	s	96	48	-	4		
D15000HPS	D	15,000	HPS	58	150	UG	S	113,292	113,252	72		9,441	9,4
E15000HPS	E	15,000	HPS	58	150	UG	S	19,344	9,672	- 1	1 -	808	8
A28000HPS		28,000	HPS	106	250	OH	W	\$5,472	65,400	- 1	5,450	-	5,4
B28000HPS	В	28,000	HPS	106	250	OH	S	1,728	1,728	- 1	144	- 1	<b></b>
C28000HPS	C	28,000	HPS	106	250	OH	s	216	108	- 1	9	- 1	
D28000HPS	D		HPS	106	250	UG	s	104,472	104,472	156	-	8,706	8,7
E28000HPS	E		HPS	106	250	UG	s	23,616	11,808	24	-	984	9
A50000HPS	^		HPS	160	400	OH	W	6,288	€,180	-	515	-	5
B50000HPS D50000HPS	В		HPS	160	400	OH	s	48	48	- ]	4	j - {	
50000HPS	( 2		HPS	160	400	UG	s	9,108	9,108	24	-	759	7
42000LED	E		HPS	160	400	UG	s	432	216	- 1	-	18	
02000LED	A D	2,000 2,000	LED	8	20	OH	w	-	-	- [	-	-	-
4800LED		4,800	LED	8 17	20 45	UG OH	s w			-	- ·	-	
34800LED	В̂	4,800	LED	17	45 45	OH	s l	605,160	605,160	-	50,430	-	50,4
04800LED	Ď	4.800	LED	17	45 45	UG	s	1,\$32	1,632	-	136		1
4800LED	E	4.800	LED	17	45	UG	S	1,041,864	1,041,864	-	-	86,822	86,8
7900LED	Ä		LED	32	95	OH	w	3,120	1,560	- 11		130	. 1
7900LED	l ŝ		LED	32	95	OH	S	228,216 300	228,216 300	- []	19,018	-	19,0
7900LED	C		LED	32	95	OH	s	864	432	-	25	-	
7900LED	Ö		LED	32	95	UG	s	64,404	64,404	-	36		
7900LED	Ē		LED	32	95	UG	s	5,624	3,312	- [[	- (	5,367	5,3
10850LED	Ā		LED	38	115	OH	ω̈	283,740	282,996	- 11	23,583	276	27
310850LED	В		LED	38	115	OH	s	2,760	2,760	111	23,383		23,58 2:
10850LED	c	10,850	LED	38	115	OH	š	2,928	1,464	_ [	122	<u> </u>	1:
010850LED	Q (	10,850	LED	38	115	UG	s	240,348	240,348	- 11		20,029	20,0
E10850LED	E	10,850	LED	38	115	UG	s	13,728	6,864	288		572	5
15100LED	A .	15,100	LED	64	180	ОН	W	684	684	- 11	57		
15100LED	В		LED	64	180	OH	s	.	- 1	-		. [	
C15100LED	c		LED	64	180	OH	s	-	- 1	-		- 1	_
015100LED	D		LED	64	180	UG	S	22,272	22,272	- 11	-	1,856	1,8
15100LED	E		LED	64	180	UG	S	600	300	- ]]	-	25	
7900MH	A	7,900	MH	40	100	OH	w	24	24	- ]]	2	- 1	
7900MH	D		MH	40	100	UG	s	28,224	28,224	-	-	2,352	2,3
7900MH	Ε		MH	40	100	UG	s	1,176	588	-	- 1	49	
A*47900MH	D+A*4		MH	40	100	UG	S	480	96	-	-		
12900MH	A		MH	70	175	OH	W	12	12	-	1 ]	-	
12900MH	D		MH	70	175	UG	S	5,880	5,880	-	-	490	4
12900MH	Ε		MH	70	175	UG	S	1,752	876	-	-	73	
19475MH 19476MH	^	19,475	MH	96	250	OH	w	1,776	1,038	- 11	87	- 1	
19475MH 19475MH	Ď	19,475	MH	96	250	UG	s	8,652	8,652	- []	-	721	7
32200MH	E		MH MH	96 159	250 400	OH OH	S	1,152	576	-	-	48	
32200MH	ĥ		MH	159	400	UG	w	1,224	636	-	53	- 1	
32200MH	E		MH	159 159	400	UG	S	2,268	2,268	- [[	- (	189	10
4200MV	, <u>,</u>		MV	159	100	OH	w	2,376	1,188	-		99	
4200MV	â		MV	41	100	OH	s	4,704	4,704	- []	392	-	3:
4200MV	Ď		MV	41	100	UG	S		12	-	1		_
7800MV	Ä		MV	69	175	OH	w	24,060	24,060	- []		2,005	2,00
7800MV	â		MV	69	175	UG	s	504	612	- }}	51	-, - }	•
22600MV	A		MV	150	400	OH	w		504	-		42	
22600MV	В		MV	150	400	OH	s l	1,128	1,128	-	94	-	:
22600MV	1 6		MV	150	400	UG	s	84	24 84	-	2		
22600MV	ΙÉ		MV	150	400	UG	š	48	24	- ] [	-	7	
	<u> </u>				-100		<del>  </del>		- 44	<del></del>	Served OH	Served UG	Total Date
	TOTAL						- 1	5,468,172	£ 413 562	4 200			Total Poles
	10111							3,400,112	5,413,662	1,380	118,973	332,168	451,13

2019 RATE CASE
TERRISTE ENRICH HOT STOR ELECTRUC, LLC
SELENNE RELEVO DEC 2018
135T VERE RODING 1221-2018
CHINNE AL TROATE
COMMENS AL TROATE

Dec 2018 Engling Carmp Count	1   1   1   1   1   1   1   1   1   1	2 2 2 2 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3
2. 51.5 Brit. dum ched Base	**************************************	A wheel of the state of the sta
TAPAT LIGHTING SPRVICE: SLA Service Print Lamps School		
Wate		8 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1
Per Tamel		10 mag / 10
	TO THE COOP OF THE	www.
ESCRIPTION	REMEMBERS OF STREET OF STR	Control of the property of the
٥	CONTRICTORY OF THE CONTRICTORY O	on Discourse and Processing and Proc
	100 100 100 100 100 100 100 100 100 100	(1905) LOAT DATE (1905)
PATE COOK 1UMEN		(1016) (1
	<u>第一章,是不是不是不是不是不是不是不是不是不是不是不是不是不是不是不是不是不是不是不</u>	14648

6904

	8 50 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0	AÉCICIHPS	ABS00+P3	A1S000HPS		A2B000+PS	SOCOTO	AMMOLED	A7900LED		Atolsoled	A7900AH A12900AH	A19475ABH	A32200MH A4200MV	A22670AN	B 15000+#5 B 15000+#5	S-A-000058	64604.ED 679004.ED 8704501.ED	BAZZBOWAV	CZBCOO+PS CZBCOO+PS	CYGGLED CYGGCLED ED EAS DAGGOLED	816 3148,900	62.292 DECOMPS 72 104.39	9,084 D15000HPS	97 020 7,296 D28000+P3	9,044 D50000+PS 3,636	28,980 28,980 28,000	7.404 D4900LED 168	225 084 14.364 D10850.ED	5,376 16 les D15100.ED	5,880 D12900AH 8 652 D19475AH	2.268 D322004H 24,080 D42004V 504 D78004V	7,776 2,776 5,740 FESTIONES	9 672 E15000HPS	1,536 E28000+#5 216 E90000+#5	3,312 E7900.ED	# 720 E1980AED	\$76 E1947504H 576 E1947504H 576 E1947504H	24 EZSODAY SE D+A'47900AH
	Annual Peter (Dec 12)	577.2 160.091	2 2 2 2 2 2 3	<b>7.</b> 0	21. 2160 216	£ 02.2	864.384 See 384	317,7 317,7 318	<b>1</b>	25,25 2,44 2,44	2 <u>2</u> 8	3 Z C	8 7 8	* £	2 E E	27.2 87.7.7.1	± ë	8 95 5 55	1 <sup>22</sup> %	<b>7</b> 5		~					-												
TEST YEAR EXHING 12010018 SPONYOR, N. TRONLK	Atenial Lanes = (Dec No - 12) Bresh dweny OH 1 UG	5,772 160,369	7 7 80	***	12 65,100 218	144 5,072	, 520 B	3,036	19 K	274,276 1,512 2.448	<b>3</b> 2 1	7 2 2	900 91.47 1.47 1.47 1.47 1.47 1.47 1.47 1.47	4 §	2 12 <u>24</u>	1	4 225	3 9 ½	2 2 2	# 55 51		816 816 2 146 908	20 21 21 21 21 21 21 21 21 21 21 21 21 21	251 251		2 2 2 2 2 2 2 2 2 2 2 2 2 2 2 2 2 2 2 2	1.001,208 28,960 336	7404	125.25 146.252	96.91	5 BBG 5 B 652	24 040 24 040 304	15 S62	24	3077	2120	2	118 1182 1287,1	087
	Lumen Type	[	24H 0066	15,000 15,000	Z8000 H#-2 Z8000 H#-2 Z8000 H#-2	28,000	4,000 LED 4,000 LED 4,000 LED	4,000 4,000 1,000 1,000 1,000	7900	10,850 (ED 10850 (ED 10850 (ED	15100 15100 15100	7,900 NH 12,900 NH	19 475 MH 19475 MH	32,200 + 200 + 200 + 400	77 600 17 600 147	2000 E			,		7,900 LED 10,850 LED	8600 HPS	15,000 15,000	15 000 HPS		50,000 50,000 4,800 1ED		7,000				32,200 Met 4,200 MV 7,800 MV			28 000 28 000 20 000 20 000 20 000	7,900 LED 16,150 LED 1	10,850 15 100 15 100 1,500	1900 MH 12,900 MH 19 475 MH	7 800 NH
		AROCINES ABSONES	ABSON-PS ABSON-PS	A15000HPS	A28000HPS A28000HPS A28000HPS	AZBODOHPS ABDODOHPS	ASOCOPPE AMBORLED AMBORLED	A4800LED A4800LED A7800LED	A7900LED A7900LED	A10850LED A10850LED A10850LED	A 15100LED	A 15 (QB, ED A 75 (QB, ED A 125 (QB, ED	A18475481 A18475481	AZZZODAH	A7800MV A22600MV RE000HPS	815000+FS 815000+FS	E-50000+P-5	64800LED 67800LED	B4200AV BZZGOAV	C15000HPS C28000HPS	CHONSOLED	S-8-00580 D8000463	D 18000HPS	D15000HPS D28000HPS	S-8+0008ZCI	D-90000HP/S D-90000HP/S D-90000HP/S	D4400LED	D4800LED D7800LED	DYNOULED DYNOSOLED DYNOSOLED	D15100LED	07300AFH D12300AFH D19475A8H	Dazzogami Dazogami Dazogami	DZZ800AV E9500HPS	E15000HPS E28000HPS	E210004PS E500004PS	E/MOOLED .	E15100LED E15100LED	E12900AH E12476AH	EZZECDAN D+A*47900AH

| 1,500 | 1,611,564 | 1,620,717 | 1,621,727 | 1,686,735 | 1,735 | 1,735 | 1,735 | 1,735 | 1,735 | 1,735 | 1,735 | 1,735 | 1,735 | 1,735 | 1,735 | 1,735 | 1,735 | 1,735 | 1,735 | 1,735 | 1,735 | 1,735 | 1,735 | 1,735 | 1,735 | 1,735 | 1,735 | 1,735 | 1,735 | 1,735 | 1,735 | 1,735 | 1,735 | 1,735 | 1,735 | 1,735 | 1,735 | 1,735 | 1,735 | 1,735 | 1,735 | 1,735 | 1,735 | 1,735 | 1,735 | 1,735 | 1,735 | 1,735 | 1,735 | 1,735 | 1,735 | 1,735 | 1,735 | 1,735 | 1,735 | 1,735 | 1,735 | 1,735 | 1,735 | 1,735 | 1,735 | 1,735 | 1,735 | 1,735 | 1,735 | 1,735 | 1,735 | 1,735 | 1,735 | 1,735 | 1,735 | 1,735 | 1,735 | 1,735 | 1,735 | 1,735 | 1,735 | 1,735 | 1,735 | 1,735 | 1,735 | 1,735 | 1,735 | 1,735 | 1,735 | 1,735 | 1,735 | 1,735 | 1,735 | 1,735 | 1,735 | 1,735 | 1,735 | 1,735 | 1,735 | 1,735 | 1,735 | 1,735 | 1,735 | 1,735 | 1,735 | 1,735 | 1,735 | 1,735 | 1,735 | 1,735 | 1,735 | 1,735 | 1,735 | 1,735 | 1,735 | 1,735 | 1,735 | 1,735 | 1,735 | 1,735 | 1,735 | 1,735 | 1,735 | 1,735 | 1,735 | 1,735 | 1,735 | 1,735 | 1,735 | 1,735 | 1,735 | 1,735 | 1,735 | 1,735 | 1,735 | 1,735 | 1,735 | 1,735 | 1,735 | 1,735 | 1,735 | 1,735 | 1,735 | 1,735 | 1,735 | 1,735 | 1,735 | 1,735 | 1,735 | 1,735 | 1,735 | 1,735 | 1,735 | 1,735 | 1,735 | 1,735 | 1,735 | 1,735 | 1,735 | 1,735 | 1,735 | 1,735 | 1,735 | 1,735 | 1,735 | 1,735 | 1,735 | 1,735 | 1,735 | 1,735 | 1,735 | 1,735 | 1,735 | 1,735 | 1,735 | 1,735 | 1,735 | 1,735 | 1,735 | 1,735 | 1,735 | 1,735 | 1,735 | 1,735 | 1,735 | 1,735 | 1,735 | 1,735 | 1,735 | 1,735 | 1,735 | 1,735 | 1,735 | 1,735 | 1,735 | 1,735 | 1,735 | 1,735 | 1,735 | 1,735 | 1,735 | 1,735 | 1,735 | 1,735 | 1,735 | 1,735 | 1,735 | 1,735 | 1,735 | 1,735 | 1,735 | 1,735 | 1,735 | 1,735 | 1,735 | 1,735 | 1,735 | 1,735 | 1,735 | 1,735 | 1,735 | 1,735 | 1,735 | 1,735 | 1,735 | 1,735 | 1,735 | 1,735 | 1,735 | 1,735 | 1,735 | 1,735 | 1,735 | 1,735 | 1,735 | 1,735 | 1,735 | 1,735 | 1,735 | 1,735 | 1,735 | 1,735 | 1,735 | 1,735 | 1,735 | 1,735 | 1,735 | 1,735 | 1,735 | 1,735 | 1,735 | 1,735 | 1,735 | 1,735 | 1,735 | 1,735 | 1,73

TOTAL PERCENT OF TOTAL

AND RATECUE
CLATEBRORT SPANCE HAVE RESORTED HAS THE LAST TO SEE HAS THE STATE HAVE BENOTING HAVE BEN

	Britshury Base Wall	٥	۰		•	•	•		•		•	o * & o o * o o o	******	<b>.</b>	ž	r	2	**	•	۰	•	000000 <b>0</b>	• •	, · · ·	ĭ	<b></b>
ſ	5		•	<	<	<	<	•	~	< < <	4	<<<<		000	۵	۵	۵	۵	٥	۵	۵	0000000	m m	www		
2	Annual 4 of Poles	1,772	18,341	3	007'98	6,110	995,160	215,852	382,996	<b>3</b> 2 2 2		2004 2004 2004 2004 2004 2004 2004 2004	2 2 2 2 2 2 2 2 2 2 2 2 2 2 2 2 2 2 2	라 <u>구</u> 등	2,218,916	113,282	104,472	aor 4	1,841,864	101/10	240,348	272.22 29.224 29.000 6.000 21.200 20.220 20.200 200	12,818	11,000 216 1,560 3 3 3 1 2	34.5°	200
CITY ADVINES SMITHS TO THE STATE TO	Arnual Fol Lamps	1111	160,380	3	5,472	<b>8</b>	081,808	314,822	283,740	<b>អ្</b> ឌដ	1,776	422 470 470 471 471 471 471 471	1,632 300 2,760 12 24 26 21 21 26	1 2 7	2,210,016	113,282	104,472	8).10g	1,041,864	101,10	\$10,045	22,272 25,224 25,000 5,000 20,000 24,000 804 804	26,632	23,816 432 3,128 6,624	13,728	1,178 1,178 1,182 1,182 1,182 1,182 1,183 1,184 1,184 1,184
STRE	96	*	*	3	3	3	3	*	3	3 3 3	3	33330000	(A M (A	נט נט נט	u)	va	•	u	u	s)	ø		en en	4000	Ø	D 44 D 63 63 63 63
	Service	₹	₹	¥	£	ŧ	£	ŧ	ŧ	888	₹	****	8888888	888	97	3	3	8	ρņ	9	3	99999999	90	8888	9	9 9 9 9 9 9
	T.	£	ř	ŧ	S T	ž	9	G .	8	911	Ī	# # # # # # # # # # # # # # # # # # #	9293¥¥¥	89₹	Ŷ.	H-S	S	ž.	150	Q.	OS)	91111333	i i	£ 5 9 9	9	911111
	Lump Type	000	9,500	15,000	24 000	000'05	- F00	7,900	10,850	15,100 7,900 12,900	19 475	11,200 4,200 7,800 22,600 6,000 6,000 15,000 20,000 50,000	4 800 7 900 10 850 4 200 22 800 15 000 28 000	7,900 10,850 8,000	005 4	15 000	28 900	000 Ds	4 800	7,900	10,850	15 100 7,900 12,900 18,475 32,700 4,200 7 800 22,600	005,8 000 21	28 006 50 000 4 800 7,900	10 450	15 100 7,900 12,900 19,475 32,200 22,800 7,900

9069

8

5,413,662

5,468,172

# 2019 RATE CASE CENTERPOINT ENERGY HOUSTON ELECTRIC, LLC TARIFF COMP TEST YEAR ENDING 12/31/2018 SPONSOR: M. TROXLE

## ANNUAL NUMBER OF LAMPS

1							1 Sched. D	
<u>Lamp</u> Type	Lumen	Sched. A	Sched, B 1	Sched.C	Sched. D	Sched. E	Sched A's	Total
MV	22,600	1,128	24		84	48	0	
MV	7,800	612	0	0	504	0	0	
MV	4,200	4,704	12	0	24,060	0	0	
Total MV		6,444	36		24,648	48	0	31,176
HP\$	50,000	6,288	48		9,108	432	0	
HPS	28,000	65,472	1,728	216	104,472	23,616	0	
HPS	15,000	54,960	168	96	113,292	19,344	0	
HPS	9,500	160,980	276		2,210,016	25,632	0	
HPS	6,000	5,772	192		60,648	0	0	
Total HPS:		293,472	2,412	312	2,497,536	69,024	0	2,862,756
мн	32,200	1,224			2,268	2,376	0	
MH	19,475	1,776			8,652	1,152	0	
MH	12,900	12			5,880	1,752	0	
MH	7,900	24			28,224	1,176	480	
Total MH:		3,036	0	0	45,024	6,456	480	54,996
LED	15,100	684	0		22,272	600	0	
LED	10,850	283,740	2,760	2928	240,348	13,728	0	
LED	7,900	228,216	300	864	64,404	6,624	0	
LED	4,800	605,160	1,632		1,041,864	3,120	0	
LED	2,000	0	0		0	0	0	
Total	LED:	1,117,800	4,692	3,792	1,368,888	24,072	0	2,519,244
Total		1,420,752	7,140	4,104	3,936,096	99,600	480	5,468,172

Supplemental /Other Charges or Credits:

Break-away Base

1,380

<sup>1.</sup> If no rate schedule for lamp type use schedule A for same lumen

# 2019 RATE CASE CENTERPOINT ENERGY HOUSTON ELECTRIC, LLC TARIFF COMP TEST YEAR ENDING 12/31/2018 SPONSOR: M. TROXLE

## CURRENT PRICES - SLS

Lamp Type MV MV MV	<u>Lumen</u> 22,600 7,800 4,200	Sched, A \$5.150000 \$3.640000 \$3.540000	Sched. B <sup>1</sup> \$17.750000 N/A \$16.910000	Sched.C \$11.500000 N/A N/A	Sched. D \$19.750000 \$15.890000 \$13.700000	Sched. È \$13.140000 \$10.400000 N/A	1 Sched. D & 4 Sched A's N/A N/A N/A
HPS	50,000	\$7.930000	\$20.650000	\$14.010000	\$23.280000	\$15.500000	N/A
HPS	28,000	\$5.150000	\$17 750000	\$11 660000	\$19.750000	\$13.150000	N/A
HPS	15,000	\$3,640000	\$16.200000	\$10.770000	\$15 890000	\$10.400000	N/A
HPS	9,500	\$3.640000	\$16.200000	N/A	\$12.920000	\$8.880000	N/A
HPS	6,000	\$3 580000	\$16.130000	N/A	\$12.460000	N/A	N/A
				1			
MH	32,200	\$9.490000	N/A	N/A	\$23.940000	\$18.560000	N/A
MH	19,475	\$10.340000	N/A	N/A	\$26.430000	\$18 350000	N/A
MH	12,900	\$11.010000	N/A	N/A	\$23.520000	\$17.090000	N/A
МН	7,900	\$11.690000	N/A	N/A	\$23.290000	\$19.680000	\$14.010000
LED	15,100	\$7.930000	\$20,560000	\$14.010000	\$23.280000	\$15.500000	N/A
LED	10,850	\$5.150000 \$5.150000	\$17.750000	\$11.660000	\$19,750000	\$13 150000	N/A
LED	7,900	\$3.640000	\$16.200000	\$10,770000	\$15.890000	\$10,400000	N/A
LED	4.800	\$3.640000	\$16.200000	N/A	\$12 920000	\$8 880000	N/A
LED	2,000	\$0.000000	N/A	N/A	\$0.000000	N/A	N/A
	2,000	<b>\$5.55000</b>	14/3		40.00000	11//1	11/7

Supplemental Charges: Break-away Base

per lamp

\$1.09

# 2019 RATE CASE CENTERPOINT ENERGY HOUSOTN ELECTRIC, LLC TARIFF COMP TEST YEAR ENDING 12/31/2018 SPONSOR: M. TROXLE

## CURRENT REVENUE - SLS

Lamp <u>Type</u>	Lumen		Sched. A	,	Sched, B		Sched.C		Sched. D		Sched. E	1 Sched. D & 4 Sched A's	Total
MV	22,600	\$	5,809.20	\$	426.00		******	s	1,659.00	\$	630.72	N/A	10101
MV	7,800	s	2,227.68	•	N/A	,	N/A	Š	8,008.56	s	-	N/A	
MV	4,200	\$	16,652,16	\$	202,92		N/A	\$	329,622 00	•	N/A	N/A	
Total MV:	.,	\$	24,689.04		628.92	\$	- 1000	\$	339,289.56	\$	630 72	\$ -	\$ 365,238.24
HPS	50,000	\$	49,863.84	\$	991.20	\$	-	\$	212,034.24	\$	6,696.00	N/A	
HPS	28,000	\$	337,180.80	\$	30,672.00	\$	2,518.56	\$	2,063,322.00	\$	310,550.40	N/A	
HPS	15,000	\$	200,054.40	\$	2,721.60	\$	1,033.92	\$	1,800,209.88	\$	201,177.60	N/A	
HPS	9,500	\$	585,967.20	\$	4,471.20		N/A	\$	28,553,406.72	\$	227,612.16	N/A	
HPS	6,000	\$	20,663.76	\$	3,096.96		N/A	\$	755,674.08		N/A	N/A	
Total HPS:		\$	1,193,730.00	\$	41,952 96	\$	3,552.48	\$	33,384,646.92	\$	746,036.16	\$ -	\$ 35,369,918.52
мн	32,200	\$	11,615.76		N/A		N/A	\$	54,295.92	\$	44,098.56	N/A	
мн	19,475	\$	18,363.84		N/A		N/A	\$	228,672.36	\$	21,139.20	N/A	
MH	12,900	\$	132.12		N/A		N/A	\$	138,297 60	\$	29,941.68	N/A	
MH	7,900	\$	280.56		N/A		N/A	\$	657,336.96	\$	23,143.68	\$6,724 80	 
Total MH <sup>-</sup>		\$	30,392.28	\$	-	\$	-	\$	1,078,602.84	\$	118,323.12	\$ 6,724.80	\$ 1,234,043.04
LED	15,100	\$	5,424.12	\$	-	\$	-	\$	518,492.16	\$	9,300.00	N/A	
LED	10,850	\$	1,461,261.00	\$	48,990.00	\$	34,140.48	\$	4,746,873 00	\$	180,523.20	N/A	
LEÐ	7,900	\$	830,706.24	\$	4,860.00	\$	9,305 28	\$	1,023,379.56	\$	68,889.60	N/A	
LED	4,800	\$	2,202,782.40	\$	26,438.40		N/A	\$	13,460,882.88	\$	27,705 60	N/A	
LED	2,000	\$	<u>-</u>		N/A		N/A	\$			N/A	N/A	
Total LED		\$	4,500,173.76	\$	80,288.40	\$	43,445 76	\$	19,749,627.60	\$	286,418.40	\$ -	\$ -
Total		\$	5,748,985 08	\$	122,870 28	\$	46,998.24	\$	54,552,166.92	\$	1,151,408 40	\$ 6,724.80	\$ 61,629,153.72

Supplemental Charges:

Break-away Base Revenue

\$ 1,504.20

Total Current Revenue - SLS

\$ 61,630,657.92

# 2019 RATE CASE CENTERPOINT ENERGY HOUSTON ELECTRIC, LLC TARIFF COMP TEST YEAR ENDING 12/3/1/2018 SPONSOR: M. TROXLE

## PROPOSED PRICES - SLS

Lamp Type MV MV MV	<u>Lumen</u> 22,600 7,800 <b>4</b> ,200	<u>\$0</u> \$ \$	hed, A 4.43 3 88 3.90	<u>\$</u> \$	thed. B 18 93 N/A 18.45	Sc	hed.C N/A N/A N/A	\$ \$ \$ \$	thed. D 13.20 12.64 12.67	<u>Sc</u> \$	thed. <u>E</u> 11.78 N/A N/A	ŧ	hed. D & 4 ed A's N/A N/A N/A
HPS HPS	50,000 28,000	\$ \$	4.40 4.27	\$ \$	18,90 18,77	s	N/A 10 33	\$ \$	13.17 13.04	\$ \$	11.75 11.62		N/A N/A
HPS	15,000	\$	4.15	\$	18.64	\$	10.20	\$	12.92	\$	11.50		N/A
HPS	9,500	\$	4.13	\$	18.59		N/A	\$	12.90	\$	11.48		N/A
HPS	6,000	\$	4 09	\$	18.59		N/A	\$	12.86		N/A		N/A
мн	32,200	\$	5.41		N/A		N/A	\$	19.43	\$	16.00		N/A
MH	19,475	\$	10.00		N/A		N/A	\$	18.62	\$	15.17		N/A
MH	12,900	\$	8.00		N/A		N/A	\$	16.70	\$	14.33		N/A
мн	7,900	\$	7.30		N/A		N/A	\$	16.00	\$	13 63	\$	9.04
LED	15,100	\$	5.22		N/A		N/A	\$	7.01	\$	25.73		N/A
LED	10,850	\$	4.79	\$	19.24	\$	22.27	\$	13.58	\$	12.44		N/A
LED	7,900	\$	4.39	\$	18.84	\$	10.73	\$	13.18	\$	12 03		N/A
LED	4,800	\$	3.94	\$	18.39		N/A	\$	12 73	\$	11 59		N/A
LED	2,000	\$	-		N/A		N/A	\$	-		N/A		N/A

Supplemental Charges: Break-away Base

per lamp \$1.03

# 2019 RATE CASE CENTERPOINT ENERGY HOUSOTN ELECTRIC, LLC TARIFF COMP TEST YEAR ENDING 12/31/2018 SPONSOR: M. TROXLE

## PROPOSED REVENUE - SLS

Lamp Type	Lumen	Sched, A	Sched. B	Sched.C	Sched. D	Sched, E	Sched. D & Sched A's	<u>Total</u>
MV	22,600	\$ 4,999	\$ 454	N/A	\$ 1,109	\$ 566	N/A	
MV	7,800	\$ 2,372	N/A	N/A	\$ 6,373	N/A	N/A	
MV	4,200	\$ 18,355	\$ 221	N/A	\$ 304,874	N/A	N/A	
Total MV:		\$ 25,725	\$ 676	\$ -	\$ 312,356	\$ 566		\$ 339,323
HPS	50,000	\$ 27,680	\$ 907	N/A	\$ 119,967	\$ 5,078	N/A	
HPS	28,000	\$ 279,689	\$ 32,433	\$ 2,230	\$ 1,362,460	\$ 274,522	N/A	
HPS	15,000	\$ 227,872	\$ 3,132	\$ 979	\$ 1,463,239	\$ 222,431	N/A	
HPS	9,500	\$ 664,424	\$ 5,132	N/A	\$ 28,502,272	\$ 294,253	N/A	
HPS	6,000	\$ 23,615	\$ 3,569	N/A	\$ 779,978	N/A	N/A	
Total HPS:		\$ 1,223,281	\$ 45,172	\$ 3,210	\$ 32,227,915	\$ 796,284		\$ 34,295,862
мн	32,200	\$ 6,617	N/A	N/A	\$ 44,072	\$ 38,010	N/A	
MH	19,475	\$ 17,764	N/A	N/A	\$ 161,115	\$ 17,476	N/A	
MH	12,900	\$ 96	N/A	N/A	\$ 98,183	\$ 25,108	N/A	
МН	7,900	\$ 175	 N/A	 N/A	\$ 451,479	\$ 16,028	\$ 4,339	
Total MH:		\$ 24,652	\$ •	\$ •	\$ 754,849	\$ 96,622	\$ 4,339	\$ 880,463
LED	15,100	\$ 3,571	N/A	N/A	\$ 156,026	\$ 15,438	N/A	
LED	10,850	\$ 1,359,603	\$ 53,106	\$ 65,221	\$ 3,264,218	\$ 170,716	N/A	
LED	7,900	\$ 1,001,435	\$ 5,651	\$ 9,274	\$ 848,690	\$ 79,700	N/A	
LED	4,800	\$ 2,385,039	\$ 30,013	N/A	\$ 13,263,619	\$ 36,145	N/A	
LED	2,000	\$ 	 N/A	 N/A	\$ -	 N/A	 N/A	
Total LED:		\$ 4,749,649	\$ 88,770	\$ 74,495	\$ 17,532,553	\$ 301,999	\$ -	\$ 22,747,466
Total		\$ 6,023,307	\$ 134,618	\$ 77,705	\$ 50,827,674	\$ 1,195,471	\$ 4,339	\$ 58,263,114

Supplemental Charges:

Break-away Base Revenue \$ 1,421.40

Total Proposed Revenue - SLS \$ 58,264,535.61

# 2019 RATE CASE CENTERPOINT ENERGY HOUSTON ELECTRIC, LLC TARIFF COMP TEST YEAR ENDING 12/31/2018 SPONSOR: M. TROXLE

## PROPOSED CHANGE IN UNIT CHARGES - SLS (Weighted Average taken for current prices)

Lamp Type	<u>Lumen</u>	<u>s</u>	Sched. A	<u> </u>	Sched. B	Sched.C	Sched. D	Sched. E	Sched, D & 4 Sched A's
MV	22,600	\$	(0.72)	\$	1.18	N/A	\$ (6.55)	\$ (1 36)	
MV	7,800	\$	0 24		N/A	N/A	\$ (3.25)	N/A	
MV	4,200	\$	0.36	\$	1 54	N/A	\$ (1.03)	N/A	
HPS	50,000	\$	(3 53)	\$	(1.75)	N/A	\$ (10.11)	\$ (3.75)	
HPS	28,000	\$	(0 88)	\$	1.02	\$ (1.33)	\$ (6.71)	\$ (1.53)	
HPS	15,000	\$	0,51	\$	2,44	\$ (0.57)	\$ (2.97)	\$ 1.10	
HPS	9,500	\$	0 49	\$	2 39	N/A	\$ (0.02)	\$ 2.60	
HPS	6,000	\$	0 51	\$	2 46	N/A	\$ 0 40	N/A	
мн	32,200	\$	(4 08)		N/A	N/A	\$ (4.51)	\$ (2.56)	
MH	19,475	\$	(0.34)		N/A	N/A	\$ (7.81)	\$ (3.18)	
MH	12,900	\$	(3.01)		N/A	N/A	\$ (6.82)	\$ (2.76)	
МН	7,900	\$	(4.39)		N/A	N/A	\$ (7.29)	\$ (6.05)	\$ (4.97)
LED	15,100	\$	(2.71)		N/A	N/A	\$ (16 27)	\$ 10.23	
LED	10,850	\$	(0.36)	\$	1.49	\$ 10.61	\$ (6.17)	\$ (0.71)	
LED	7,900	\$	0.75	\$	2.64	\$ (0.04)	\$ (2.71)	\$ 1.63	
LED	4,800	\$	0.30	\$	2.19	N/A	\$ (0.19)	\$ 2 71	
LED	2,000	\$	-		N/A	N/A	\$ -	N/A	

Supplemental Charges: Break-away Base

\$ (0.06)

Total - SLS

# 2019 RATE CASE CENTERPOINT ENERGY HOUSTON ELECTRIC, LLC TARIFF COMP TEST YEAR ENDING 12/31/2018 SPONSOR: M. TROXLE

## PERCENT INCREASE/DECREASE IN REVENUE - SLS

Lamp Type	Lumen	Sched. A	Sched. B	Sched.C	Sched, D	Sched. E	1 Sched. D & 4 Sched A's	Total
MV	22,600	-13.95%	6.64%	N/A	-33.16%	-10.32%	7 001100 A 0	100
MV	7,800	6 46%	N/A	N/A	-20.42%	N/A		
MV	4,200	10.22%	New	N/A	-7.51%	N/A		
Total MV:					,,,,,,			-7.10
HPS	50,000	-44.49%	-8.48%	N/A	-43.42%	-24.16%		
HPS	28,000	-17.05%	5.74%	-11.44%	-33.97%	-11.60%		
HPS	15,000	13 91%	15 08%	-5.29%	-18.72%	10 56%		
HPS	9,500	13.39%	New	N/A	-0.18%	29.28%		
HPS	6,000	14.28%	New	N/A	3 22%	N/A		
Total HPS	:							-3.049
мн	32,200	-43.03%	N/A	N/A	-18.83%	-13.81%		
MH	19,475	-3.27%	N/A	N/A	-29.54%	-17.33%		
MH	12,900	-27.35%	N/A	N/A	-29.01%	-16.14%		
MH	7,900	-37.58%	N/A	N/A	-31.32%	-30 74%	-35.47%	
Total MH:	:							-28.65
LED	15,100	-34.16%	N/A	N/A	-69.91%	66.00%		
LED	10,850	-6.96%	8.40%	91 04%	-31.23%	-5.43%		
LED	7,900	20.55%	16.28%	-0 34%	-17.07%	15 69%		
LED	4,800	8.27%	13.52%	N/A	-1.47%	30.46%		
LED	2,000	N/A	N/A	N/A	N/A	N/A		
Total								-5.46
Suppleme	ental Charges:							
	away Base							-5.50
							_	
Total - SL	<b>.</b> S							-5.46

# 2019 NATE CASE CENTERPOINT ENERGY HOUSION ELECTRIC, LI C. PROOF OF REVENTE TEST YEAR ENDING 12/31/2018 SPONSOR: M. TROXLE

				ļ.	Cı	arret	nt	ऻ—	Pi	000	sed	<b>└</b>	lne	rease or Decrease	·
Schedule	Lamp Type	Lumen'	Watt	Annual No of Lamps	Price <sup>2</sup>	Ţ	Revenue	L	Price	Ļ	Revenue		r Lamp (0.72)	Revenue	<u> </u>
Â	MV MV	22,600 7,800	400 175	1128 612				5	4 43 3.88	\$	4 999 2,372	5 \$	0 24	-\$810 \$144	-145 6%
Â	MV	4,200	100	4704				š	3.90	š	18,355	ŝ	0.36	\$1,703	109
8	MV	22,600	400	24				š	18 93	š	454	š	1 18	\$28	7%
В	MV	4,200	100	12				Š	18 45	Š	221	Š	1 54	\$18	9%
D	MV	22,600	400		\$ 19,750000		1 659	\$	13 20	5	1,109	s	(6 55)	-\$550	-339
D	MV	7,800	175		\$ 15 890000			5	12.64	\$	6,373	\$	(3 25)	-\$1,636	-20
D	MV	4,200	100	24060				5	12 67	s	304,874	\$	(1 03)	-\$24,748	-87
E	MV	22,600	400	48			631	\$	11.78	\$	568	\$	(1 36)	-\$65	-109
A.	HPS HPS	50 000	400 250	5,288			49,864	5	4 40 4 27	S	27,680 279,689	S	(3 53) (0 88)	-\$22,183 -\$57,491	-449 -179
A	HPS	28,000 15,000	150	65,472 54,960			337,181 200,054	Š	4 15	Š	227,872	š	0 51	\$27, <b>81</b> 8	149
Â	HPS	9,500	100	160 980			585 987	š	4 13	š	664,424	š	0.49	\$78,456	139
Â	HPS	6,000	70	5,772				5	4 09	š		Š	0.51	\$2,951	149
B	HPS	50,000	400	48			991	š	18 90	š	907	š	(175)	-584	-8%
В	HPS	28,000	250	1,728				s	18.77	Š	32,433	Š	1 02	\$1 761	6%
8	HPS	15,000	150	168	\$ 16 200000	\$	2,722	s	18 64	\$	3 132	\$	2.44	\$410	15%
В	HPS	9,500	100	276			4,471	5	18 59	\$	5,132	\$	2 39	\$661	15%
В	HPS	6,000	70	192			3,097	s	18 59	5	3,569	\$	2 46	\$472	15%
C	HPS	28,000	250	216			2,519	S	10 33	S	2,230	\$	(1 33)	-\$288	-119
С	HPS	15,000	150	96			1,034	ş	10.20	5	979	ş	(0 57)	-\$55	-5%
D D	HPS HPS	50,000 28,000	400 250	9,108 : 104,472 :			212 034 2.063,322	S	13 17 13 04	S	119,957 1,352,460	5	(10 11) (6 71)	-\$92,067 -\$700,862	-439 -349
D	HPS HPS	28,000 15,000	250 150	104,4/2			1,800,210	2	12 92	Š	1,362,460	š	(2.97)	-\$700,862 -\$336,971	-347
D	HPS	9,500	100	2,210,016			28 553,407	š	12 90	š	28,502,272	š	(0.02)	-\$51,135	0%
Ď	HPS	6,000	70	60,648		Š	755 674	š	12.86	š	779,978	š	0.40	\$24,304	3%
Ē	HPS	50,000	400	432			6.696	š	11 75	Š	5,078	Š	(3 75)	-\$1,618	-249
E	HPS	28,000	250	23,616			310 550	s	11 62	3	274 522	Š	(1 53)	-\$36,028	-129
Ē	HPS	15,000	150	19,344			201,178	s	11 50	5	222,431	\$	1 10	\$21,253	11%
E	HPS	9,500	100	25,632	8 880000	\$	227,612	5	11 48	\$	294 253	\$	2 60	\$66,641	29%
A	мн	32,200	400	1,224	9 490000		11,616	5	5 41	3	6,617	\$	(4 08)	-\$4,999	-439
Α	мн	19 475	250	1 776			18 364	\$	10 00	\$	17,764	\$	(0.34)	-\$600	-3%
Ą	мн	12,900	175	12			132	\$	B 00	\$	96	\$	(3 01)	-\$36	-279
<u>^</u>	MH	7,900	100	24 3			281	5	7 30	ş	175	\$	(4 39)	-\$105	-389
D D	MH	32,200 19,475	400 250	2,268 3 8,652 3			54,296 228,672	S	19 43 18 62	S	44,072 161,115	\$ \$	(4 51) (7 81)	-\$10,224 -\$67.557	-199 -309
0	MH MH	12,900	175	5,8 <b>8</b> 0 1			138,298	š	16.70	Š	98,183	Š	(6 82)	-367 357 -340,115	-307
6	MH	7,900	100	28 224				ŝ	16.70	\$	451,479	š	(7 29)	-\$205,858	-31%
Ē	мн	32,200	490	2.376			44.099	š	15 00	š	38.010	š	(2.56)	-\$6,088	-14%
Ē	MH	19,475	250	1,152		5	21,139	\$	15 17	3	17,476	Š	(3 18)	-\$3,664	~17%
E	MH	12,900	175	1,752	17 090000	\$	29,942	5	14 33	\$	25,108	\$	(2 76)	-\$4,834	-16%
E	MH	7,900	100	1,176			23,144	s	13 63	\$	16 028	\$	(6 05)	-\$7 115	-31%
A	LED	15,100	180	684 3			5,424	5	5 22	s	3 571	2	(271)	-\$1,853	-34%
Ą	LED	10,850	115	283 740			1 461,261	2	4 79	\$	1,359,603	\$	(0 36)	-\$101,658	-7%
A	LED	7,900	95	228,216			\$30,706	ş	4 39	\$	1,001,435	\$	0.75	\$170,729	21%
<u>^</u>	LED	4,800	45 20	605,160		\$	2,202,782	\$	3,94 3,94	S	2,385,039	•	0 30 3 94	\$182,257 \$0	8%
A B	LED	2,000 10.850	115	0 S 2.760 S			48 990	š	19 24	Š	53 106	\$	149	\$4 116	8%
В	LED	7.900	95	300 3			4.860	š	18 84	ŝ	5.651	š	2 64	\$791	16%
В	LED	4,800	45	1,632			26,438	ś	18 39	š	30,013	š	2.19	\$3.575	14%
č	LED	10,850	115	2,928			34 140	š	22 27	Š	65 221	š	10.61	\$31,080	91%
С	LED	7,900	95	864 \$	10 770000	s	9,305	s	10.73	\$	9 274	\$	(0.04)	-\$31	0%
Ð	LED	15 100	180	22,272	23 280000		518 492	5	7 01	\$	156,026	\$	(16 27)	-\$362,466	-70%
D	LED	10,850	115	240,348			4 746,873	\$	13 58	S	3 264 218	\$	(6.17)	-\$1,482 655	-31%
D	LED	7,900	95	64,404			1,023,380	s	13 16	\$	848,690	\$	(271)	-\$174,690	-179
D	LED	4,800	45	1,041,864			13,460,683	5	12.73	\$	13,263,619	s	(0 19)	-\$197,263	-1%
D E	LED	2,000 15,100	20 180	0 S		S	9,300	S	12 73 25 73	S	15 438	2	12 73 10 23	\$0 \$6,138	66%
Ē	LED	15,100	180	13.728			180.523	5	12 44	š	170 716	š	(0.71)	-\$9,807	-5%
E	LED	7,900	95	6 624			68,890	š	12.03	š	79,700	Š	1 63	\$10,810	16%
Ē	LED	4,800	45	3.120				š	11 59	į	36,145	š	271	\$8,440	30%
D & 4A'S	мн	7,900	100	480 \$	14 010000	\$	6 725	\$	9 04	\$	4 336	\$	(4 97)	-\$2,387	-35%
Total Lamps			-	5,468,172		_	\$61,629,154			\$	58,263,113		-	-\$3,366 041	-5%
Break-away E	Base			1,380 \$	1 09		\$1,504		1 03	\$	1 421	s	(0 06)	-\$83	-6%
l Revenue							\$61,630,658			5	58,264,534		-	-\$3,368,124	-5%

<sup>&</sup>lt;sup>1</sup> Amount stated is the most recent manufacturers specifications for initial lumen

 $<sup>^2</sup>$  There is also one unique lamp type under MH 7 900, that is charged for 1 Schedule D and 4 Schedule A's

## 2010 RATE CASF CENTERPOINT ENRGY HOUSTON ELECTRIC, LLC ORM ALLOCATIONS DATA TEST YEAR ENDING 1231/2016 SPONSOR: M. TROXLE

						Des	is for Allocation o	FERC Account 373				
. –												
Sched	Lamp Type	Lumen	Watt	Annual No. of Lamps	Lamps Per Pole	Lamp Related O&M	Pole Related O&M	Annual O&M Fixture Related	Annual O&M Pole Related	Trans. Portion of Pole Related	Number of Poles	Annual Trans. Related O&M
Â	MV MV	22,500 7,800	400 175	1,128 612	1	\$ 2.24 \$ 1.82	\$ 10.76 \$ 10.76	\$ 210.83 \$ 92.86	\$ 1,011 13 \$ 548 59	\$ 166 \$ 166	94 51	\$ 156.28 \$ 84.79
Â	MV	4,200	100	4 704	i	\$ 2.05	\$ 10.76	\$ 804,64	\$ 4,216 61	\$ 166	392	\$ 651.70
В	MV MV	22 600 4 200	400 100	24 12	1		\$ 10 39 \$ 10 76	\$ 449 \$ 205	\$ 20.78 \$ 10.76	\$ 1.66 \$ 1.66	2	\$ 333 \$ 168
B	MV	4 200 22.600	100 400	12 84	1	\$ 2.05 \$ 2.24	\$ 10.76 \$ 10.39	\$ 205 \$ 1570	\$ 10.76 \$ 72.71	\$ 1.66 \$ 1.66	7	\$ 11.64
D	MV	7,800	175	504	i	\$ 1.82	\$ 1039	\$ 76.48	\$ 436.28	\$ 166	42	\$ 69.83
D E	MV MV	4 200 22,600	100 400	24,060 48	1 2	\$ 2.05 \$ 4.49	\$ 10 39 \$ 10 76	\$ 4,115.59 \$ 17,94	\$ 20,826 94 \$ 21.51	\$ 166 \$ 166	2,005 2	\$ 333331 \$ 333
Ā	HPS	50,000	400	6,288	1		\$ 10.76	\$ 975.93	\$ 5,636 49	\$ 166	524	\$ 871 15
A	HPS	28,000	250	65,472	1		\$ 10.76	\$ 10,475 04	\$ 58 688 37	\$ 166	5,455	\$ 9 070 60
A A	HPS HPS	15,000 9,500	150 100	54,960 160,980	1	\$ 193 \$ 180	\$ 10.76 \$ 10.76	\$ 8,829.49 \$ 24,214.00	\$ 49,265 53 \$ 144,300 68	\$ 166 \$ 156	4,580 13,415	\$ 7,614.25 \$ 22,302.44
Â	HPS	6 000	70	5,772	i	\$ 187	\$ 10.76	\$ 899 65	\$ 5,173.96	\$ 156	481	\$ 799 66
В	HPS	50,000	400	48	1	\$ 186	\$ 10.39	\$ 745	\$ 41.55	\$ 166	1	\$ 665
B B	HPS HPS	28,000 15 000	250 150	1,728 168	1	\$ 192 \$ 193	\$ 10 39 \$ 10 39	\$ 276 47 \$ 26 99	\$ 1,495.80 \$ 145.43	\$ 166 \$ 166	144 14	\$ 239 40 \$ 23 28
В	HPS	9 500	100	276	i	\$ 152	S 10.39	\$ 34,92	\$ 238 91	\$ 166	23	\$ 38 24
В	HPS HPS	5,000 28,000	70 250	192 216	1 2	\$ 187 \$ 384	\$ 10 39 \$ 10 76	\$ 29 93 \$ 69 12	\$ 166.20 \$ 96.81	\$ 166 \$ 166	16 9	\$ 26 60 \$ 14 96
c c	HPS	15,000	150	216			\$ 10.76	\$ 69 12 \$ 30 85	\$ 43.03	\$ 168	4	\$ 665
D	HPS	50,000	400	9,108	1	\$ 1.86	\$ 10.39	\$ 1,413 60	\$ 7,884 11	\$ 166	759	\$ 1,261.84
D D	HPS HPS	28,000 15,000	250 150	104,472 113 292	1		\$ 10 39 \$ 10 39	\$ 16,714.75 \$ 18,200.71	\$ 90,433 58 \$ 98,068 39	\$ 166 \$ 166	8,706 9,441	\$ 14 473 73 \$ 15 695 66
0	HPS	9,500	100	2 210,018	1	5 180	\$ 10.39	3 332 422.26	\$ 1,913,045 10	\$ 166	184,168	\$ 306,179 30
D	HPS	6,000	70	50,648	1		5 10 39	\$ 9,452,89	\$ 52 498 43	\$ 166	5,054	\$ 8 402.28
E E	HPS HPS	50,000 28,000	400 250	432 23,616			\$ 10.76 \$ 10.76	\$ 134 10 \$ 7,556 77	\$ 193.62 \$ 10,584.56	\$ 166 \$ 166	18 984	\$ 29 93 \$ 1 635 90
E	HPS	15,000	150	19 344			\$ 10.76	\$ 6,215 35	\$ 8 669 87	\$ 156	806	\$ 1,339.98
E	HPS	9 500	100	25,632			\$ 10.76	\$ 7,710 94	\$ 11,488,12	\$ 166 \$ 665	1,058 51	\$ 1 775 55
A A	MH	32 200 19,475	400 250	1 224 1,776			\$ 43.03 \$ 43.03	\$ 1,687.10 \$ 1,538.91	\$ 2,194.36 \$ 6,367.95	\$ 665 \$ 665	148	\$ 339 15 \$ 984 20
A	MH	12,900	175	12	1	\$ 930	\$ 25.82	\$ 930	\$ 25 82	\$ 3.99	1	\$ 399
A D	MH MH	7,900 32,200	100 400	24 2.268			\$ 25.82 \$ 41.55	\$ 20 88 \$ 3,126 09	\$ 51 63 \$ 7,852 95	5 3 99 \$ 6 65	2 1 <b>8</b> 9	\$ 7.98 \$ 1,256.85
D	MH	19,475	250	8 652			\$ 41.55	\$ 7,496.98	\$ 29,957,55	\$ 665	721	\$ 4,794 65
D	MH	12,900		5 880			\$ 24 93	\$ 4,557 57	\$ 12,215.70	\$ 399	490	\$ 1 955 10
D E	MH MH	7,900 32,200	100 400	28,224 2,376			\$ 24.93 \$ 43.03	\$ 24,560 57 \$ 6,549 91	\$ 58,635 36 \$ 4,259 64	\$ 3.99 \$ 6.65	2,352 99	\$ 9 384 48 \$ 658 35
Ē	MH	19,475	250	1,152	2	\$ 20 80	\$ 43.03	\$ 1,996 42	\$ 2,065 28	\$ 665	48	\$ 319 20
E	MH MH	12,900		1,752			\$ 25 \$2	\$ 2,715 94	\$ 1,884 57	\$ 3.99 \$ 3.99	73 49	\$ 291 27 \$ 195 51
E A	MH LED	7,900 15,100	100 180	1,176 584			\$ 25.82 \$ 6.45	\$ 2,046 71 \$ 124 14	\$ 1,264 98 \$ 367 88	\$ 3.99 \$ 1.00	49 57	\$ 195.51 \$ 56.86
A	LED	10,850	115	283,740	1	\$ 218	\$ 645	\$ 51,496 01	\$ 152 604.83	\$ 100	23,645	\$ 23,585.89
A	LED LED	7,900 4,800	95 45	228,216 605,160			\$ 6.45 \$ 6.45	\$ 41,416.95 \$ 109,830.57	\$ 122,742.17 \$ 325,475.22	\$ 1 DO \$ 0 50	19,018 50,430	\$ 18,970 48 \$ 25,151 96
A A	LED	2,000	20	005,180			\$ 645	\$ 103,830 07	\$ 3234/322	\$ 0.50	30,430	\$ 25,151.90
В	LED	10,850	115	2,760	1	\$ 218	\$ 573	\$ 500.91	\$ 1,318.76	\$ 0.50	230	\$ 114.71
B B	LED LED	7,900 4,800	95 45	300 1,632			\$ 6.73 \$ 5.73	\$ 54 45 \$ 296 19	\$ 143 34 \$ 779 79	\$ 100 \$ 100	25 136	\$ 24 94 \$ 135 66
C	LED	10,850	115	2 928			\$ 545	\$ 1,062.81	\$ 1,574.78	\$ 100	244	\$ 243 39
С	LED	7,900	95	864			\$ 6.45	\$ 313.61	\$ 232 34	\$ 100	36	\$ 35 91
D D	LED	15,100 10,850	180 115	22,272 240,348			\$ 623 \$ 623	\$ 4,042 15 \$ 43,620 79	\$ 5,783.76 \$ 124,830.74	\$ 100 \$ 100	92 <b>8</b> 20,029	\$ 925 68 \$ 19,978 93
D	LED	7,900	95	64,404	1	\$ 2.18	5 623	\$ 11 688 69	\$ 33 449 83	\$ 100	5,367	\$ 5,353.58
P	LED LED	4,800	45	1,041,864			\$ 623 \$ 623	\$ 189 088 04 \$ -	\$ 541,118.12	\$ 100 \$ 100	86,822	\$ 86,604.95 \$
D E	LED	2,000 15,100	20 180	600			\$ 623 \$ 645	5 217 79	\$ 322.70	\$ 1.00 \$ 1.00	50	\$ 49.85
E	LED	10,850	115	13,728	2	\$ 436	\$ 645	\$ 4,952.99	\$ 3 691 69	\$ 10.64	572	\$ 6 086 08
<u> </u>	LED LED	7,900 4,800	95 45	6 624 3,120			\$ 645 \$ 645	\$ 2,404 38 \$ 1,132.50	\$ 1,781 30 \$ 839 02		276 130	\$ - \$ -
D & 4A'S		7,900	100	480			\$ 128 19	\$ 2,088 48	\$ 1 025 55		8	•
	Total SLS	Lamps	_	5,457,948				\$ 968,076.28	\$ 3,926,535.57		450,082	\$ 603,633.47
	Overhead			1,430,868				\$ 255,127.71		-	119,139	
	Undergrou	and		4,027,080				\$ 710,948 56	\$ 3,042,567 20		330,943	\$ 492,223.03

## 2019 RATE CASE

## CENTERPOINT ENERGY HOUSTON ELECTRIC, LLC OVERALL O&M LIGHTING ALLOCATORS

## TEST YEAR ENDING 12/31/2018 SPONSOR: M. TROXLE

(Based on Lighting Cost Study December 31, 2018 Test Year)

1	-	nnual Fixture ment Cost
SLS-OH	\$	255,127.71
SLS-UG	\$	710,948.56
SLS Total	\$	966,076.28
MLS	\$	818,314.15
Total	\$	1,784,390.43

Fixture Replacer Fact	
SLS-OH SLS-UG SLS Total	<b>14.30%</b> <u>39.84%</u> 54.14%
MLS	<u>45.86</u> %
	100.00%

Trans	portation O&M
\$	111,410.44
\$	492,223.03
<b>\$</b> \$	603,633.47
\$	102,356.14
\$	705,989.60
	15.78%
	<u>69.72%</u>
	85.50%
	14.50%
	100.00%

TOTERM HAT EAR HOUSTON PLECTRIC, LLG SLAATE DESILA FAST VEAR EABNO STATIONS FAST VEAR EABNO STATIONS

School					¥	[8]		ũ		Q	9			1
March   Marc	LAMP TYPE	DATA - TE	ST YR ENDING	200	MBER 31, 2018				5 -	CURRENT COST ANALYSIS	ALYSIS.			
MAY   2000 400   11.31   1.20000   5		mp Type	Previous	West	Arrusal No. of Billed Lamps	Lamps Per	Previous Lumen	Indial inve	***	Lamp Related OAM Per Yr	Pole Related O&M Per Yr	7 5	Total	Total O&M
WA         7,800         175         612         7,000         5           WA         2,200         40         1,20         1,20         1,20           WA         2,200         40         1,4         1,000         5           WA         2,200         40         1,4         1,000         5           WA         2,200         40         1,2         1,000         5           WA         2,200         40         1,2         2,000         5           HP3         2,000         40         4,00         1,00         1,00         1,00           HP3         2,000         40         6,00         1,00         1,00         1,00         1,00           HP3         3,000         10         1,00	•	¥	22 600	ş	t t	]-	Z2800v	\$	*		2	10.76	_	98
WAY   2,200, 400   1,12   2,000   1,14   2,000	۷٠	≩ :	7,800	5 5	612		70007	*		는 6	۰.	1078		12
MAY	٠.	2 3	22.800	3 8	\$ 75		V0005	2 2 678	2 12	22.5		9		126
MAY         72,000         40         1,000         1,0		3	4200	8	12	-	4200V	\$ 2508.0		90.		10 76		12
MAY         7,200         175         2,400         1         700         700	Q	≩	22.600	ş	3	-	22600V	\$ 1790	2	224		10 39	s	1263
My	٥	≩	7 800	175	Š	-	78007	\$ 1711	•	182	٠,	10 39		2
My   2000   Add	۵	3	4,200	8	24 060	-	4200V	\$ 1,711	9	205	•	10 39	"	124
He	u)	λ	22,800	9	4	2	228007	\$ 3351	2	4		10 76		1524
He	<	SH	50,000	흦	6 288	-	20000	\$ 425	-	-		10 76	,	12.62
High	<	HPS	28,000	8	65,472	-	28000V	*	2	26	8	10 76	•	12.68
He   Second	<	E PS	15,000	Š	54,960	-	15000V	3	9	28.		10.76	,	12.68
He	. <	E S	0096	8	160,980	-	V0056	383		8	,	10 74		12.5
He	: <	¥	9	٤	22.5	-	4000v	37.6		TH.		10.78	и	12.6
He		2 2		9	4		200007	2,670	2 =			10.3		5
He			2 2	ş	ŗ		) words		· •					
He		2 9	96,95	Ş	97	- •	150000V	2,000,1		2 6		2 5		2 2
He		2 6	3 8	3 5	9 20	- •	10000		, ,	2 5	, .	2	٠.	
He		2 5	8	3 F	7	- •	Agge		3 9	2 5	٠.	2 6	٠.	
History	٠,	2 5	800	2 6	2 6		00000	207	7 ·	5	٠.	2	٠.	
He	, (	2 2	2000	3	9 8	7 (	70000	20167	· ·			0 1	٠.	
He	، د	2 2	19,000	2 8	8 8	٠,	Topoor,	7 707	, ,	8 :	٠.		٠.	
He	ء د	2 5	00000	į	9 6		30000	176/1	- •	8 5		2		9 5
He	ه د	£ i	20,000	1	7/4 40	- ,	Zencov	50//		3 1	٠,	3 5	, ,	5 2
He		Salt	15,000	8 8	113,292		150000	2 1 75	3 1	8 1		60.00		12.32
His	0 1	S	005'6	8	2,210,016	-	2005	\$ 1,730.5		2		90		12.19
High   19,000 and a 42, 2   20,000   14, 4	0 (	S I	000	9	90,04	-	A0000		•			2		12.26
	<b>.</b>	S I	8000	8	3	7	20000	33262		372	,	2/01		1
Hi	الس	S :	28 800	8	19,61	7	20000	5 3,312	<b>*</b>			92.01		3
History   State   Control   History   Histor	ш	2	15 000	8	1	2	150005	\$ 3,273.7	er Er	<b>9</b>		10 78		¥
Main   15.270   450   1,724   2 22.021   4	<b>.</b>		9,500	2	Q.	7	A0065	3,2/20	•	36		9 1		7
Min	۷.	¥ :	32,200	8	2	7	32200H	ğ	er 1	200	· ·	8		200
Mith   7,500   173   1,200   184   1,200   184   1,200   184   1,200   184   1,200   184   1,200   184   1,200   184   1,200   184   1,200   184   1,200   184   1,200   184   1,200   184   1,200   184   1,200   1	< ⋅	1	19.475	R	1,775	-	194750	\$ 445°	6	9		8		3
Mid   7,000 100 24   7,000   7,00   1,00	<	r Ž	12,900	2	12	-	73007	m m	•	R	n	2		2
Min	<	Ξ	7,900	ĕ	*	<b>-</b>	79000	\$ 4133		10 14	<b>,</b>	83	•	8
Mith   11,000   15,000   1   194,000   1	0	Ī	32,200	\$	226	-	32200H	1,8613		\$		8	•	8
Mith   7,200   175   5800   15200	۵	Ŧ	19,475	8	8 652	-	184757	1.63	m m	0+01		£,58	•	5
Mith   7,200 100 23/124   7,800 M   4   1,800 M   4   1,	Ω	₹	12,900	5	5 880	-	12300V	\$ 1.908,2	*	930		22		37 23
Mail   3200 at 0   2378   2   22000   4   4   4   4   4   4   4   4   4	a	¥	7,900	ŝ	34.22	-	79007	\$ 1,7803		10		24 83		35.37
Mail   1940   250   1452   2 1450   4     Mail   17200   1752   1752   2 1450   4     Mail   17200   1752   1752   2 12000   5     LED   1750   195   175   1 15000   5     LED   1750   195   175   1 15000   5     LED   1750   195   195   1 195   1 15000   5     LED   1750   195   195   195   195   195     LED   1750   195   195   195   195   195   195   195     LED   1750   195   195   195   195   195   195   195     LED   1750   195   195   195   195   195   195   195   195     LED   1750   195	ш	¥	32200	ş	2,376	2	32200H	\$ 3499.2		33.08	•	43 03		76 11
Miles   1700   175   1700   175   1200   175   1200   175   1700   175   1700   175   1700   175   1700	w	Ī	19475	8	1 152	2	18475V	\$ 34483		20.00	٠,	20 63	.,	53.82
He	ш	₹	12900	5	1,752	2	12900V	\$ 3,587.5	2	18 80		28 82		4
EE	ш	₹	7900	8	1,176	2	7900V	\$ 33316	9	<b>1</b> 02		25 82	,,	46.70
EE	<	말	15,100	Š	3	-	15100	\$ 6371		2 18		6 45	•	
EE	<	ᅋ	10.850	ž	283,740	-	10850	\$ 5705	9	2 18		6.45	u	9
ED	<	e e	7,900	g	228,216	-	7900	\$ 504.0	•	218	•	\$		2
ED   2000 2	<	9	4 800	ŧ	BO5,160	-	9	5	. 63	2 18		9		3
ED   10809 118   2780   1   10809   5   2   2   2   2   2   2   2   2   2	<	9	2,000	8		-	2000	2 4387		2.15		9	u	2
E	•	9	10 850	15	2 760	-	10450	\$ 2,525.2		2 18	_	573	.,	7.91
EB	•	eg	7 900	8	300	-	7900	\$ 27626		2.18	u	573	"	7.91
E		E	4	4	2	-	94	\$ 2,6933		5		10		7
E	. 0	63	10.850	115	2.828		OSTO	\$ 32436		15		9	,	10.81
1,500   1,50	, ,	9 5	200	8	1		200	2010		75		4		
(ED 10,000 115 2-40,341 1 10000 1 1 10000 1 1 10000 1 1 10000 1 1 10000 1 1 1 10000 1 1 1 10000 1 1 1 10000 1 1 1 10000 1 1 1 10000 1 1 1 10000 1 1 1 10000 1 1 1 10000 1 1 1 10000 1 1 1 10000 1 1 1 10000 1 1 1 10000 1 1 1 10000 1 1 1 10000 1 1 1 10000 1 1 10000 1 1 1 10000 1 1 1 10000 1 1 1 10000 1 1 1 10000 1 1 1 10000 1 1 1 10000 1 1 1 10000 1 1 1 10000 1 1 1 10000 1		9 5	95,50		24.6	, ,	m's	2,004	, ,					7
LED		9 5	000.01	i i	240.348		0	2 1 037 6				1		
EB		9 5	2 000	8	7			4740		100				
ED   2000 20   1   2000 3   1   2000 3   1   2000 3   2   2   2   2   2   2   2   2   2		9 9	3 8	1			3 5		, .	17.0		3 5	٠.	
CED		9 5	999	? (	1	- •	88	000	•	7 10		3 8	, ,	:
(S) 484 7,200 100 400 5 7200 5 1 1000 5	י נ	9 9	900	3	. §		9007			# C 7	٠.	3 4	٠.	
LED   1,046   15   17/28   2   10850   3	ן ע	<u> </u>	35.0	3	3 !	- 1	2010	30110		B 5	• •	2		9
150 7300 55 464 2 7500 5 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1	ш	9	10,850	2	13 728	2	10650	36460	<b></b>	8	υ,	645	ν, .	9
13 MH 7,800 to 3170 2 4000 5 3 3 4000 5 3 3 4000 5 3 3 4000 5 3 3 400 10 5 400 17 5 4000 5 3 3 400 17 5 400 17	ш.	9	006'	2		7	8	3,5203		B !		2	•	0
13 NAH 7,200 100 400 5 7200V 5 1 5,482,17 5,482,17	w	9	008'+	ą	212g	7	4800	\$ 33023	•	88	'n	5		9
pur	£ 44.8	Ŧ	7,900	8	ğ	\n	79007	\$ 34337	*	52.21	-	21 22	_	5
pur														
g vuq														
a Amd														
, war	rhead				0									
	herground				5,458 172									
	sduu				5,468 172									
Break Away Base	wav Base				1380									

Undergrand 5-488 177
Telet Lamps 5-488 177
Barak Away Base 1380
Telet SLS
1 For Schedule A where the number of lamps per poin varies, the a the weighted

6917

THE ALTECASE CENTERORY EXCENT. ILC STATE SHOWN EXCENT. INC. TEST YALLE VINDE CENTERS SPORME IN THINKLE.

				ĸ	(8)	IGI = ICMBI	H	8	5	JK.	H	(W	N	0	E	ğ
- LAME	LAMP TYPE DATA - TEST YR ENDING DECEMBER 31, 2018	ST YR ENDING	200	EMBER 31, 2018		CHARG	CHARGE FACTOR	PLANT ALLOCATION FACTO	TION FACTOR		Firture Related	ANNUAL	AM ALLOCA	ANNUAL ORM ALECCATION PACTORS	Pole Related	
Sched,	Lamp Type	Previous	Watt	Avnuel No. of Billed Lamps	Lamps Per	Irilial Invest. per Lamp	Relative L Lamp Type Cest Factors	£	Plant Alloc. Factor	Per Lamp	Par Year	O&M Fixture Factor	Per Pole	Na. of Poles	Per Year	OEM Labor Factor
< 4	AM AM	22,600	<b>8</b> £	1,128		1 344 77	0.271600	39.797 \$	900000	\$ 22.	\$ 210,83	0 0002	\$ 1076	ងភ	5 1,01113	0.00026
₹	S.	4,200	8	4	-	¥ 14.		\$ 135,024	0 00021	\$ 205	304 54	60000	\$ 10.78	8	\$ 4,216.61	101000
<b>6</b> 0 i	<b>3</b>	2,600	\$	*	-	\$ 267805		\$ 5356	0 00001	\$ 224	\$ 449	00000	\$ 10.30	71	\$ 2078	0 00001
e Δ	<b>3</b> 3	22,500	3 \$	¥ <b>4</b>		2 175031		\$ 12,532	0 00000	3 5	s 570 t	0000	4 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5	- ~	\$ 5 E	0 00002
۵	≩	7,800	ĩ	Š	-	\$ 1,711.16	-	\$ 71,889	0 0001	\$ 182	5 764	0 0001	\$ 1039	2	\$ 436.28	0 00011
<u>.</u>	¥ 3	7,200	<u>8</u> 8	24,080	- 0	S 171 3	1 067877	\$ 3431,333	0.00625	2 202	411559	0000	\$ 1039	2,005	2082894	0 00530
. ∢	Sd±	20,00	\$ \$	6,204	• -	\$ 25.17	٠.	222,780	0 00034	2	\$ 975.93	0000	\$ 10.75	7 75	5,636.49	0.00143
۲	S	28 000	8	65 472	-	\$ 40.02	-	\$ 2204,356	0 00337	5 1 92	10,475.04	0.0111	\$ 10.76	5,456	5 58 688.37	0.01483
٠ .	S S	80.50 80.50 80.50	8 8	2 2 3 3 3 3 3		3 38440	0.246599	1,760,561	0.00269		8,629,8	00000	57 07 s	4,580	4 4 2 1 5 5 5	0.01254
< ≺	e st	200	3 8	5.772		37686		5 1 1 2 1 2 3 4 3 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5	0.00028	197	54,2,4 US	0.000	5 07 6	1 T	5 17396	0 00132
€0	H	50,000	ŝ	#	-	\$ 2,679.81	-	\$ 10,719	0 00002	3 - 36	\$ 7.45	00000	\$ 1039	•	\$ <del>14</del> \$8	0 00001
<b>4</b> 0 e	SAH H	28,000	8 5	17.		5 265867 5 263004	1,705568	302.848	0,00058	<b>3</b> 5	4 9.2 5 5.2 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5	0000	5 03	<u> </u>	1,485 80	000000
o <b>so</b>	E E	905	8	2/2		263828	-	62900	0 0000		Z 25	0000	10.30	<u> </u>	236.95	0.0000
**	S I	000'9	8	192	-	\$ 263150	-	\$ 42,104	90000 0	281 \$	\$ 29.93	00000	\$ 10.39	16	\$ 166.20	0 00004
υ (	E S	28,000	8	38	8 6	5 1,455 28		26,195	0 00004	192	88	00000	\$ 10.76	o,	18 96	0 00002
ے د	e e	0000	3 8	8 5	7 -	8 5 7 7		21369212	0.0000	2 2	141347	9000	9 9	* 9	7 458	0000
۵	¥.	000'92	8	104 472	-	5 1,770 \$6		\$ 15 418,006	252200	5	\$ 16,714.75	7100	\$ 10.38	8708	\$ 90.433.58	0.02301
α :	HPS	15,000	2	113,292	-	\$ 1,751 34		\$ 16,534,40	0.02528	1.93	18,200 71	00193	\$ 1039	144	\$ 86 068 39	0 02485
0 0	HPS BB	000	8 8	2210016		3,736,50		\$322,385,465	0.49285	8 :	332,422,26	03517	\$ 1036	<b>2</b>	1,913,04510	9/96/0
<b>3</b> w	r s	00005	5 \$	8 52 53	- 2	5 167.63		200.305	0.0000	) S	20 23	0000	4 N 10 26	g =	5 5249643	0.00005
ı w	S H	20,000	8	23 616	1 61	4 1658.40		\$ 3,259,965	0.00498	. 2	3,718.38	0000	\$ 10.76	<b>3</b>	10,584.56	0 00269
w	HPS	15,000	8	19.3		\$ 1,638.86	1 050069	\$ 2,635,624	0 00403	193	\$ 3,107.67	0 0033	\$ 10.76	908	ZE 669 12	0.00221
tur «	S T	000	8 8	25,632	2 6	\$ 1,636.02		3,494.538	0.00534	2 5	3,855.47	1000	10 76	<b>10</b>	11,408.12	0.00282
< <	Ī	19 475	3 %	<u> </u>	۰ ۲	5 47219		198 69 5		900	15369	91000	8 8	<u>. 4</u>	10 PE 20 PE	0.00162
٠ <	¥	12.900	175	12	-	SE 25		¥		930	9.6	00000	\$ 25.82	-	25.62	0 00001
< 0	¥	7 900	8	*		\$ 41337		\$ 827		40	200	00000	25.12	7	5163	0 00001
	Į 1	25.20	3 8	200		75 100 1 7		1 206 013		2 5	3,120 0	2000	8 4	2 1	04708')	0.00200
מנ	¥	12,900	Ē	5,880	-	\$ 1308.24		\$ 336.036		930	\$ 4,567.57	0000	2 2 2	8	1221570	0 00311
۰	Ī	7,900	õ	28,224		\$ 1,780 30		3 4 147,274		\$ 10 4	\$ 24 560 57	0 0.20	24.93	2,352	\$ 58,635.34	0.01492
w u	1	8228	8 8	2,376	7 7	5 1,749 61		346,424		3 5 5	327495	00035	8 8	3 1	2 2 2 2	0.0010
עענ	Ī	12900	3 15	. t	7 2	5 1.793.76		261889		8 8	78.725,1	41000	3 23	P	1,84457	0 0004
ш	¥	7900	Š	1,176	7	\$ 1865 63		\$ 163,251		10.44	\$ 1,023 34	11000	22 22	₽	1,264.98	0 00032
< →	9 9	15 100	8 ;	4 654		\$ 637.16	0.406748	38318		2,18	12414	10000	\$ .	25	367.85	000000
< <	9 9	7 900	9	228.216		20800		5 9.061,235		2 19	21,418.95	900	9 9	190181	122.742.17	0.03123
<	ED	4 800	Ą	605,160	-	5 43673		\$ 22,125,374		\$ 2.18	\$ 109,830 \$7	0.1162	\$ 645	S 430	325 475 22	D 08281
< :	G	2 000	R		-	5 438.73				2 2 2	•	00000	5 6 65	٥		0,0000
n ac	9 5	2000	ē ¥	2,780		2 2 2 2 2 2 2 2 2 2 2 2 2 2 2 2 2 2 2 2		767,67	80000		2003	00000	575	8 ×	1,318.76	0.00034
	9	000	4	3 3	-	\$ 2,693.38		306.299	99000	2 2 13	200.00	8000	57.5	3 18	2 6	0,000,0
υ	C#1	10,850	115	2,928	-	\$ 3,243.64	.,	\$ 781,448	0.00121	436	1,062 81	11000	5 6 45	7,	1,574.78	0 00040
o	9 5	2,000	8 8	¥ 8	7 6	\$ 1,559.26		112.267	0 00017	278	15681	0 0000	9 6	8 1	232.34	0 00000
۵ ۵	9 6	10 850	3 5	26.34	٠.	2 1 237 50	1 242932	S 35 ROS 206	0 0500	3 5	2,02120	0.0461	2 20	200	12483074	92,150
۵	ED	7 900	8	P. 40	-	\$ 1,874.94		\$ 10.062,825	0.01538	2 18	11 680 68	0.0124	523	5,367	33,449 83	0 00051
Q I	9 !	0087	¥	1,041,864	-	\$ 1805.57	1158362	\$156,772,169	0 23087	218	109 000 04	0.300	223	229 62	541,11812	0 13768
שוב	9 9	2,000	R	. 9		3.779.75		. 185.963	00000	98 98	217.78	00000	6.23	- 5	322.70	00000
w	160	10,650	115	13,728	7	\$ 1,823 02		\$ 2,005 539	0 00319	218	2 491 50	0 0028	9.45	57.5	3 691 69	0 000
ш	LED	7,900	ß	6,624	7	\$ 1,760.47	-	\$ 971.778	0 00149	2.18	1 202 19	0 0013	979	276	1,781.30	0 00045
ш .	ED	90	ŧ	3,120	7	\$ 1691.20	1 084924	\$ 439,711	73000 G	218	\$2 996	0000 D		8	839 02	0 00021
10.	<u>.</u>	88.	8	₹	n		•	27,410	<b>10000</b> 0	2	£ /£	7000	S IZE19		8	0.00026
Downham				c		AVG										
Underground				5 468,172												
Total Lamps				5 468 172		3 1,558 BZ	1 000000	1 000000 \$864,123,846	1 00000		122,227	1 0000		460,496	1,830,181	1 00000
Bresh Away Base				1 380												
Total SLS														= +=	otal Schedule B	
t di bada	and the second of british which we have a six a set of the second of the		4	the state of the s	1									FF	Total Schedule C	
SI IA C BURNING IA I			ĺ	THE WORLD										=		

POUR BACTE CASA CENTERADITT ENERGY HOUSTON ELECTRIC, LLC NAS BACTE PERMONEN TESTYLER ENDERGO LEGIOUR SPANNOR: PAT TROXI.c.

1   20   1   20   20   20   20   20	1275 5 1 1 2 2 2 2 2 2 2 2 2 2 2 2 2 2 2 2	20		RECURRENANT CHECK  4 699 07  2 371 08 07  2 10 08 11
March   Marc	Peter Related   Peter Relate	### ### ### ### ### ### ### ### ### ##		### 1420   10   10   10   10   10   10   10
MV         22,000         400         1133         15         30,00         1           MV         4,000         100         1130         15         15,00         4         4         15,00 <th></th> <th>2</th> <th></th> <th>44990 (449)</th>		2		44990 (449)
M.V.         7,000         100         7,12         1,200         1,2		2 4 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5		18,23718 18,
MV         2,000         4704         15         10,445           MV         2,000         400         4704         15         10,445           MV         2,000         400         12         15         10,445           MV         2,000         400         400         15         15         10,445           MV         2,000         400         400         12         15         10,100           MV         2,000         400         400         15         10,100         10,100           MV         2,000         400         400         12         10,100         10,100           MV         2,000         400         400         400         10,100         10,100         10,100           MV         2,000         400         400         400         10,100         10,100         10,100           MV         2		5 4 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5		1,100
WY         CATON         TO				2017.2. 2018.2
M.M.         7,2,500         1,500 <t< td=""><td>oi </td><td>1 1 1 2 8 8 8 8 8 8 8 8 8 9 9 9 9 9 9 9 9 9 9</td><td></td><td>1,108 1,</td></t<>	oi 	1 1 1 2 8 8 8 8 8 8 8 8 8 9 9 9 9 9 9 9 9 9 9		1,108 1,
MY         7000         150         2004         15         5,504         15         5,504         15         5,504         15         2,504         15         2,504         15         2,504         15         2,504         15         2,504         15         2,504         15         2,504         15         2,504         15         2,504         15         15,504         2,504         15         17,504	oi 	2		304 87.72 304 87.72 5 27 80.60 5 27 80.60 5 27 80.60 5 27 80.60 5 28 80.42 5 3 80.60 5 3 80.60 5 4 80.72 5 77.82 6 77.
MAY         2,000         40,000         13         200,000         13         200,000         14         15         200,000         14         15         10,000         15         10,000         10         10         10,000         10         10,000         10		2 2 2 2 2 2 2 2 2 2 2 2 2 2 2 2 2 2 2		304 PARA 204 PARA 277 PA
He	ri 	2		27 27 27 27 27 27 27 27 27 27 27 27 27 2
He	ri 	2 2 2 2 2 2 2 2 2 2 2 2 2 2 2 2 2 2 2		2. 2. 2. 2. 2. 2. 2. 2. 2. 2. 2. 2. 2. 2
Here	<sup>07</sup>	2 2 2 2 3 4 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5		27/77.2 27/77.2 28/4.72 28/
Here		2 4 7 5 5 7 7 5 7 5 7 7 5 7 7 7 7 7 7 7 7		2
High   Second 20   ST72   High   Hi	· * * * * * * * * * * * * * * * * * * *	7 2 2 3 4 4 4 4 4 4 4 4 4 4 4 4 4 4 4 4 4		20,000 10 10 10 10 10 10 10 10 10 10 10 10
Head	· ~ ~ ~ ~ ~ ~ ~ ~ ~ ~ ~ ~ ~ ~ ~ ~ ~ ~ ~	5 77 25 5 5 77 25 5 5 77 25 5 5 77 25 5 5 77 25 5 5 77 25 5 77 25		93 9077 9 1320 9 1320 9 1320 9 1320 9 1320 9 1320 9 1320 9 1320 9 1780 9 1780 9 1780 9 1780 9 1780 9 1780 9 1780
HPS         2000         1772         15         2860         28           HPS         2000         100         100         15         2860         18         2860         18         2860         18         2860         18         2860         18         2860         18         28		7 17 15 18 18 18 18 18 18 18 18 18 18 18 18 18	****	20,4622 5 1,122 5 1
Head		7 1 2 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3		13.130 13.130
HYS         9,900         170         770         1 5         5,600         5,600         1,600         770         1,100         2,000         1,100         7,100         1,100         2,000         1,100 <td>**************************************</td> <td>20 1 1 2 2 2 2 2 2 2 2 2 2 2 2 2 2 2 2 2</td> <td>************</td> <td>5 (131) 5 (132) 5 (132) 6 (132) 6 (132) 6 (132) 7 (</td>	**************************************	20 1 1 2 2 2 2 2 2 2 2 2 2 2 2 2 2 2 2 2	************	5 (131) 5 (132) 5 (132) 6 (132) 6 (132) 6 (132) 7 (
He	~ ~ ~ ~ ~ ~ ~ ~ ~ ~ ~ ~ ~ ~ ~ ~ ~ ~ ~	## ## ## ## ## ## ## ## ## ## ## ## ##	****	3 3588 2 3588 2 3588 2 3588 2 3588 2 3588 2 358
He		5 5 9 8 8 5 11.05 5 11		13 (273),
He		2 9 9 9 9 9 9 9 9 9 9 9 9 9 9 9 9 9 9 9		973 118907 1200,200 1
He	****	5 11.56 5 11.40 5 11.4		18 1 18 1 18 1 18 1 18 1 18 1 18 1 18
Hese 15000 150 1104/72 15 1101/72 5 1 1010/10 5 1 1 1010/72 5 1 1010/10 5 1 1 1010/72 5 1 1010/10 5 1 1 1010/72 5 1 1010/10 5 1 1010/72 5 1 1010/10 5 1 1010/72 5 1 1010/10 5 1 1010/72 5	****	\$ 11.43 \$ 11.4	*****	1 100.202.
Hese 9500 100 2101302 15 2000387 5 HPS 9500 100 2101302 15 2400387 5 HPS 9500 100 2101302 15 2400387 5 HPS 9500 100 2101304 15 2400387 5 HPS 9500 100 210140 15 2 2 201308 5 HPS 9500 100 210140 15 2 2 201308 5 HPS 9500 100 210140 15 2 2 201308 5 HPS 9500 100 210140 15 2 2 201308 5 HPS 9500 100 210140 15 2 2 201308 5 HPS 9500 100 210140 15 2 2 201308 5 HPS 9500 100 210140 15 2 2 2 2 2 2 2 2 2 2 2 2 2 2 2 2 2 2	,,,,,,,,,,	\$ 1130 \$ 1123 \$ 1123 \$ 1052 \$ 1068 \$ 1056 \$	~ ~ ~ ~ ~ ~ ~ ~ ~ ~ ~ ~ ~	1,463,226, 2,326,2271 5,726,2271 5,726,227 5,726,23
Head	, , , , , , , , , , , , , , , , , , ,	5 11.25 5 5 11.25 5 5 11.25 5 5 11.25 5 5 11.25 5 5 11.25 5 11		2007.7.2.2.60.7.2.2.2.2.2.2.2.2.2.2.2.2.2.2.2.2.2.2.
He		2 1 1 2 2 2 2 2 2 2 2 2 2 2 2 2 2 2 2 2		5 274522 5 2724522 5 2724526 5 274526 5 66177 5 66177
He		5 10 56 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5		274,527 5 274,527 5 284,252 6 617.
He		5 1056 5 5 1056 5 5 1056 5 5 5 1056 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5		222,430 5 284,252 5 6617.
Head	,	5 1056 5 5 1056 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5		\$ 294,252 \$ 6617.
		\$ 160 \$ \$ 305 \$ \$ 348 \$		5 6617.
He		\$ 305 \$ \$ 348 \$ \$ 267 \$		\$ 17.743
Miles		5 348 S 5 267 S	٠.	
MH         7500         400         24         15         7504         5           MH         19475         7500         400         2502         15         7504         5           MH         19475         7500         100         20024         15         7504         5           MH         7700         100         20024         15         204,106         7           MH         7700         100         20024         1         204,106         7           LED         1700         200		5 267 5	4. 2	2
MH         19,72,00         2,729         1         27,234         3           MH         19,475         25,00         25,00         1         5,234         5           MH         12,000         175         25,000         1         25,000         1         25,000         2         25,000         1         25,000         2         2         25,000         2         2         25,000         2         2         25,000         2	•		•	\$ 17512
MH 1280 175 548 1 1 102465 5 1 1 102465 5 1 1 1 102465 5 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1	•	\$ 12.01 \$	•	170.11
MH 7200 100 20260 15 72345 5 7544 1	•	83 \$ 1187 \$ 676		161,115
MH 7200 400 23224 15 234,185 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1	<b>,</b>	\$ 12.31	., ·	5 183 10 5 183 10
MH   19475 200   2,375   2 3 43,871     MH   19475 200   1,375   2 3 1,3481	, ,	•	B 2 4 16	101000
MH 13000 173 1732 2, 3 20,276 5, 3 12,40 5, 4 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1	٠.	3 5	٠.	17.476
Miles   Marco   1722   2, 2, 2, 2, 2, 2, 2, 2, 2, 2, 2, 2, 2,		• •		, T. S.
150   150			1363	2 16 00 2
ED   10,550   115   203740   15   10,4522   1   1   1   1   1   1   1   1   1		•	11 \$ 5.22	\$ 357146
ED   7,000 SG   229,2716   13   7,44,001   5   12   12   12   12   12   12   12	,	*	11 \$ 479	\$ 1,359,603
ED   4,000 45 605,100   15   1,713,005 5   1,213,005 5	•	"	11 \$ 439	\$ 1,001,435 44
LED	<b>5</b>	121 \$ 243 \$ 11	11 5 394	\$ 2,385 038
LED		5 283 5	•	•
120	, م	1823		351085
15	•	7 20 7		CA F10.05
120		8 8 8		\$ 55220 86
120   15,100   10   22,272   2   14,1944   1   1   1   1   1   1   1   1   1		790 \$ 1000 \$ 067	. 4	\$ 92740
LED	. "	\$ 647 5		\$ 156 025 68
EED   7,000 86 64,604   1 5 779 (04 5 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1		\$ 12.50 \$	•	\$ 3.284.217
LED	15 228 \$ 54.3	\$ 1210 \$	•	28 699 874
LED 15,000 100 - 1 5 LED 15,000 100 100 100 100 11 5 LED 10,000 114 17794 2 4		\$ 1165 \$	08 \$ 12.73	\$ 13,263,819
LED 15,100 180 600 1 S	•	\$ 1165 \$	08 \$ 1273	
2 2 22 24 24 25 25	284 \$ 524	5 2438 5	35 \$ 2573	1543837
0 C C C C C C C C C C C C C C C C C C C		70 4 50 11 4 50	2 2 2 2 2 2 2 2 2 2 2 2 2 2 2 2 2 2 2 2	786007
2 2 4200 50 000 1 CS1	• •	20 20 10 10 20 20 20 20 20 20 20 20 20 20 20 20 20		38.145
2 000 C		5 443 5 46	106 5 19	\$ 4,337.60
301 207 7 3 0		52		
Underground S.488 172 \$ .46,178,677 \$ 9		2		
5,468,172 \$ 50,644,874 \$ 1	1231,412 \$ 6,386,827	121		\$ 58,263,112.67
				•
	208 027	ž	103	1,42140
	<u>.</u>	<b>.</b>		\$ 61,264,534
\$ 72,887 \$	1,654 \$ 3,164	<b>I</b>		\$ 58,264,534 01
-		8	Check	•

## 2019 RATE CASE CENTERPOINT ENERGY HOUSTON ELECTRIC, LLC SCHEDULE A TEST YEAR ENDING 12/31/2018 SPONSOR: M. TROXLE

## 2018 WEIGHTED AVERAGE STREET LIGHT COSTS

						HEDULE A 12											
	7	MERCURY VAPOR				ESSURE SOL				METAL	HALIDE				LED		
BASIC DATA	100W	175W	400W	70W	100W	150W	250W	400W	100 <b>W</b>	175W	250W	400W	20W	45W	95W	115W	180W
LAMP RATED INITIAL LUMENS (read comment)	4200V	7800V	22600V	6000V	9500V	15000V	28000V	50000√	7900∨	12900V	19475V	32200H	2000	4800	7900	10850	15100
LAMP RATED MEAN LUMENS	3300∨	6 <b>600</b> V	14400V	5500V	8000V	13800V	26100V	45000V	5800√	8400V	12500V	23000H					
LAMP LIFE HOURS	24000	24000	24000	24000	24000	24000	24000	24000	10000	10000	6000	6000	80000	80000	80000	80000	50000
WATTAGE INCLUDING BALLAST																	
AVERAGE HOURS OF OPERATION	4000	4000	4000	. 4000	4000	4000	4000	4000	4000	4000	4000	4000	4000	4000	4000	4000	4000
ESTIMATED ANNUAL KWH	492	828	1800	348	456	596	1272	1920	480	840	1152	1908	96	204	384	456	768
MOUNTING ARM LENGTH (FEET)		8	8	8			8			8	8						8
MOUNTING HEIGHT(FEET)	25	25	25	25	25	25	25	25	25	25	25	25	25	25	25	25	25
INITIAL INVESTMENT																	
LUMINAIRE	\$ 53.00	\$ 54.00	\$ 110.00	\$ 77.72 S	82.97	82 97	\$ 97.42	\$ 113.24	\$ 92,01	\$ 188 36	\$ 144.05	\$ 152 63	5 114 28 \$	114 28 \$	165 15	\$ 211.09 \$	260.00
LAMP	6 97	5,8	7,93	l	5,72	6 34	6 30	6 01	l .	16 17	9 73	17 48	B	0	0	0	0
PHOTOVOLTAIC ELECTRIC RELAY (PER)	3,39	3 39	3 39	3.39	3 39	3 39	3 39	3.39	3 39	3 39	3 39	3,39	18.32	18.32	18.32	18 32	18.32
MOUNTING BRACKET (8)	46 34	46.34	46,34	46,34	46 34	46 34	46 34	46.34	46.34	46 34	46 34	46 34	46 34	46 34	46 34	46 34	46.34
100' SPAN - #4-2C TWIST @ \$ 20/FT	20.00	20 00	20 00	20.00	20.00	20.00	20 00	20 00	20 00	20 00	20 00	20.00	20 00	20.00	20.00	20.00	20.00
ARM WIRING /SPLICES/MISC COMPONENTS	7.53	7.53	7 53	7 53	7,53	7 53	7 53	7.53	7 53	7.53	7 53	7.53	7,53	7.53	7.53	7.53	7.53
INITIAL MATERIAL COST (SUB-TOTAL)	\$ 137 23	\$ 137.06	\$ 195 19	\$ 161 03	165 95	166.57	\$ 180.98	\$ 196,51	\$ 187.84	\$ 281 79	\$ 231.04	\$ 247 37	\$ 206,47 \$	206 47 \$	257 34	\$ 303 28 \$	352.19
INSTALLATION COST (LABOR)	\$ 134.35	\$ 134.35	\$ 134 35	\$ 134 35 \$	134 35	134.35	\$ 134 35	\$ 134.35	\$ 134.35	\$ 134.35	\$ 134 35	\$ 134 35	\$ 134,35 \$	134,35 \$	134 35	\$ 134.35 \$	134.35
OVERHEAD (STORES & ENGR.)	\$ 72.47	\$ 72.81	\$ 93 83	\$ 81.48	83 26	\$ 83.48	\$ 88.69	\$ 94.31	\$ 91.18	\$ 125 16	\$ 106.80	\$ 11271	\$ 97.91 \$	97 91	116 31	\$ 132.93 \$	150.62
TOTAL INVESTMENT COST	\$ 344 45	\$ 344.22	\$ 423.37	\$ 376.86	383,58	\$ 384 40	\$ 404.02	\$ 425 17	\$ 413.37	\$ 541.30	\$ 472.19	\$ 494.43	\$ 438.73 \$	438 73 \$	508 00	\$ 570 56 \$	637 16
OPERATING EXPENSES													1				
FIXTURE REPLACEMENT COST	\$ 10,36	\$ 9.19	\$ 11 32	\$ 9.44	: 10 <b>%.11</b> :	\$ 9.73 ,	\$ 9.69	\$ .9.40	\$ 21.96	'\$` 19.56	\$ 13.12	\$ 20,87	\$ 36,64 \$	36 64 3	36 64	\$ 36 64 \$	36.64
TRANSPORTATION COST	\$ 9.98	\$ 9.98	\$ : 9.98	\$ 9.98	9 98	\$, 9,98	\$ 998	\$ 998	\$ 9.98	\$ 998	\$ 9.98	\$ 9,98	\$ 19 95 \$	19.95 \$	19.95	\$ 19.95 \$	19 95
Labor Co≉VHr	\$ 94.89	\$ 94.89	\$ 94 59	\$ 94,89 5	94 89	\$ 94.88	\$ 94.89	\$ 94.89	\$ 94 89	\$ 94 89	\$ 94 89	\$ 94.89	\$ 94.89 \$	94 69 \$	94 89	\$ 94 89 \$	94 89
Man Hours	,0 50	\$ 0.50	\$ 0.50	\$ 0.50	0.50	\$ 0.50	\$ 0.50	\$ 0.50	\$ 0.50	\$ 0.50	\$ 0.50	\$ . 050	\$ 0,50,\$	0.50	, 0.50	\$ (0.50 \$	0.50
COORDINATION COST	\$ 7.12	\$ 7.12	\$1 7.12	\$ 712	7 12	\$ 712	\$ 7.12	\$   712	\$ 7,12	\$ 7.12	\$' 17 12	\$ 7.12	\$ 7.12 \$	7,12	7.12	\$ 7.12 \$	7.12
REPLACEMENT COST (LABOR)	\$ 64 57	\$ 54.57	\$ 54 57	\$ 54.57	54 57	\$ 54 57	\$ , 54,57	\$ 54.57	\$ 54.57	\$ 54.57	\$ 54 57	\$ 54.57	\$ 109,13 \$	109.13	109,13	\$ 109.13 \$	109 13
OVERHEAD (STORES )	\$ 196	\$ 174	\$ 2.14	\$ ,1.78 :	1 72	\$ 184	\$ , 1.83	\$ 1.77	\$ 4 15	\$ 3 89	\$ 248	\$ 3,94	\$ 6.92 \$	6.92	6 92	\$ 6.92 \$	6,92
TOTAL COST TO REPLACE FIXTURE	\$ 76.86	\$ 75.47	\$ 78.00	\$ 75.76	75,37	\$ 76.11	\$ 76.06	\$ 75 71	\$ 90.65	\$ 87.79	\$ 80,14	\$ 69,35	\$ 172 64 \$	172.64	172 64	\$ 172.641 \$	172 64
Lamp Life (years)	- 6,00	6.00	6.00	" 6.00	6,00	5 00	; 6.00	6.00	2.50	2.50	1,50	1.50	20.00	20 00	20.00	20 00	20.00
ANNUAL OPERATING & MAINTENANCE COST	\$ 12.81	\$ 12.56	\$ 13 00	\$ 12,63	12,56	\$ 12.58	\$ 12.68	\$ 12.62	\$ 36 26	\$ 35.12	\$ 53 42	\$ , 59.57	\$ 8.63 \$	8.63	8.63	\$' , 8'63 \$	4.63
Lamp Related O&M	\$ 205	' \$ 1.82	3 2 24	\$ 1,87	1,80	\$ 1,93	\$ 192	\$ '1.85	\$ 10.44	\$ 9.30	\$ 1,10.40	\$, 16.54	\$ '2.18 \$	2,18	2.18		2,18
Pole Related O&M	\$ 10.76			\$ 10.76		1 1					\$ 43.03	1.			6,45	The state of the state of	٠.
Transportation Portion of Pole Related O&M		\$ 1.66		\$ 1.66									\$ 1.00 \$				

## 2019 RATE CASE CENTERPOINT ENERGY HOUSTON ELECTRIC, LLC SCHEDULE A TEST YEAR ENDING 12/31/2018 SPONSOR: AL TROXLE

## 2018 WEIGHTED AVERAGE STREET LIGHT COSTS

	SCHEDULE A 120 VOL1
ASSUMPTIONS:	
Overhead (Stores & Engr.) (need to be updated)	Eactor Application
Engineering/Construction Overhead Rate = Stores Overhead Rate = Rates are based on estimated 2018 expenditure levels.	17 29% Apply to Sum of Matenal and Labor Cost 18 88% Apply only to Matenal Cost
Transportation Costs (Truck w/ Single Bucket)	\$ 19.95
Coordination Support Man Hours: Man Hours: Man Hours: Man Hours for Fixture Replacement	0.5

## 2019 RATE CASE CENTERPOINT ENROY HOUSTON ELECTRIC, LLC SCHEDULE TEST YEAR ENDING 12/31/2018 SPONSOR: M. TROXLE

## 2018 WEIGHTED AVERAGE STREET LIGHT COSTS

SCHEDULE 8 - 120 VOLT 30' BASE PLATE TYPE FOUNDATION MOUNTED STANDARD with 8'ARM

	POR											LED										
BASIC DATA		100W		400W		70W		10 <b>0W</b>		150W		250W		400W		45W		95W		115W		180W
LAMP RATED INITIAL LUMENS	T	4200V		22600∨	_	6000V		9500V		15000V		28000V		50000V		4800		7900		10850		15100
LAMP RATED MEAN LUMENS		3300V		14400V		5500∨		8000V		13800V		26100V		45000V								
LAMP LIFE HOURS	Ì	24000		24000		24000		24000		24000		24000		24000		80000		80000		80000		80000
WATTAGE INCLUDING BALLAST		123																				
AVERAGE HOURS OF OPERATION		4000		4000		4000		4000		4000		4000		4000		4000		4000		4000		4000
ESTIMATED ANNUAL KWH		492		1800		348		456		696		1272		1920		204		384		456		768
MOUNTING ARM LENGTH (FEET)		8		8	l	8		8		8		8				8		8		8		8
MOUNTING HEIGHT(FEET)		30		30		30		30		30		30		30		30		30		30	_	30
INITIAL INVESTMENT							-			· · · · · · · ·											пред	
LUMINAIRE	\$	53.00	s	110 00	\$	77 72	\$	82 97	\$	82 97	\$	97 42	\$	113.24	\$	114 28	\$	165,15	\$	211 09	\$	260 00
LAMP	1	6.97		7.93		6.05		5,72		6,34		6 30		6 01		0		0		0		0
PHOTOVOLTAIC ELECTRIC RELAY (PER)-TWO		3.39		3 39		3.39		3 39		3,39		3 39		3.39		18 32		18 32		18.32		18.32
MOUNTING BRACKET /ARM (8' ARM)		75 00		75.00		75,00		75,00		75,00		75.00		75 00		75 00		75 00		75 00		75.00
30' BASE PLATE TYPE POLE	1	674		674		674		674		674		674		674		674		674		674		674.00
FOUNDATION REBAR ANCHOR BOLT KIT (SAP 243140)	ı	298 18		298,18		298 18		298,18		298 18		298 18		298 18		298 18		298.18		296.18		298 18
POLE WIRE / SPLICES/ MISC COMPONENTS	ı	10 39		10.39	Į	10,39		10 39		10 39		10 39		10 39		10.39		10.39		10.39		10 39
OH WIRE @150' -SOURCE TO POLE @ 20/FT		33 00		33 00		33.00		33 00		33.00		33.00		33 00		33 00		33,00		33,00		33 00
INITIAL MATERIAL COST (SUB-TOTAL)	\$	1,153-93	\$	1,211.89	\$	1,177.73	\$	1,182 65	5	1,183,27	\$	1,197.68	\$	1,213.21	\$	1,223.17	\$ '	1,274,04	\$	1,319 98	\$	1,368 89
INSTALLATION COST (LABOR)	\$	876.25	\$	876.25	\$	876 25	\$	876.25	\$	876,25	\$	876 25	\$	876 25	5	876.25	\$	876.25	\$	876.25	\$	876 25
OVERHEAD (STORES & ENGR.)	\$	568,91	<b>\$</b> ,	589.88	:\$	577.52	\$	579 30	\$	579.52	\$	584,74	, \$	590.35	5	593.96	\$	512.36	\$	628.97	\$	646 66
TOTAL INVESTMENT COST	\$	2,599.09	*	2,678.02	ş	2,631.50	\$	2,638 20	\$	2,639.04	\$	2,658 67	. \$	2,679 81	\$	2,693.38	\$	2,762.65	\$	2,825 20	, \$	2,891.80
OPERATING EXPENSES	T																					
FIXTURE COST	5	10,36	\$ '	11 32	\$	9 44	\$	9.11	\$ ,	9.73	\$ 1	9 69	`\$	9 40	\$	36 64	\$	36 64	\$	. 36.64	\$	36,64
TRANSPORTATION COST	\$	9 98	\$	9.98	١	9 98	\$	9.98	\$	9.98	\$	9.98		9.98	\$	9.98	\$	9,98	\$	9 98	\$	\$9,9
Labor Cost/Hr	\$	94 89	\$	90 46	s	90 46	\$	90 46	\$	90.46	\$	90,46	\$	90.46	s	90,46	\$	90,46	\$	90 46	\$	90.46
Man Hours		0.50	•	0 50	•	0.50		0 50		0.50		0.50		0 50	l	0.50		0.50	:	0 50		0,50
COORDINATION COST	s	7.12	\$	7 12	\$	7.12	\$	7.12	\$	7.12	\$	7.12	\$	7.12	s	7.12	\$	7.12	\$	7.12	\$ '	7.12
REPLACEMENT COST (LABOR)	\$	54,57	\$ 1	52.35	\$	52.35	\$	52.35	\$	52.35	\$	52.35	\$	52.35	ş	104 70	\$	104.70	\$	104 70	\$	104,70
OVERHEAD (STORES)	5	1 96	\$	2.14	\$	1.78	\$	-	\$	1.84	\$	1.63	:\$	1.77	\$	6.92	\$	6:92	\$	6 82	\$	6 92
TOTAL COST TO REPLACE FIXTURE	\$	76 86	<b>`\$</b>	75.78	s	73.55	ş	71 44	\$	73.89	\$	73.84	\$	73 50	ş	158,23	\$	150 23	\$	158 23	\$	158.23
Lamp Life (years)	ľ	.6.00	,	6 00		6 00		6.00		6 00	4	6.00		6,00		20.00	r	20.00		20 00	11	20.00
ANNUAL OPERATING & MAINTENANCE COST	s	12.81	\$	12.63	5	12.26	\$	11.91	<b>\$</b>	12,32	,\$	12.31	5	12 25	5	7.91	\$	7,91	\$	7.91	<b>,</b>	7 91
Lamp Related O&M Pole Related O&M Transportation Portion of Pole Related O&M	\$ 5 \$	2 05 10,76 1,66	\$	2.24 10 39 1 66	\$ \$ \$	1.87 10 39 1 66	\$ \$ \$	1.52 10 39 1.66	\$	1 93 10 39 1.66	\$	1.92 10 39 1.66	\$ \$ \$	1 56 10.39 1.56	\$ \$ \$	2.18 5 73 0 50	\$	2.18 5 73 0 50	\$	2,18 5,73 0 50	\$	2.18 5,73 0,50

## 2019 RATE CASE CENTERPOINT ENRGY HOUSTON ELECTRIC, LLC

## SCHEDULE B

## TEST YEAR ENDING 12/31/2018 SPONSOR: ML TROXLE

## 2016 WEIGHTED AVERAGE STREET LIGHT COSTS

## SCHEDULE 8 - 120 VOLT 30' BASE PLATE TYPE FOUNDATION MOUNTED STANDARD With 8'ARM

ASSUMPTIONS.	
Overhead (Stores & Engr.)	Factor
Construction Overhead Rate =	0 1729
Stores Overhead Rate =	0.1888
Rates are based on estimated 2006 expenditure levels	
Transportation Costs (Truck w/ Single Bucket)	\$ 19 95
Coordination Support	\$ 7.12
Man Hours:	
Fixture Replacement	0.5

## 2019 RATE CASE CENTERPOINT ENERGY HOUSTON ELECTRIC, LLC SCHEDULE C TEST YEAR ENDING 12/31/2018

SPONSOR: M. TROXLE

## 2018 Weighted Average Street Light Costs

Schedule C - 120 Volt 30' Base Plate Type Foundation Mounted

	I uses see		ard with Twin : Ii		
PASIC DATA	High Press	sure Sodium 250W	95W	LED	180W
BASIC DATA  LAMP RATED INITIAL LUMENS	15000V	28000V	<del> </del>	115W 10850	15100
LAMP RATED MEAN LUMENS	13800V	26100V	i	10830	15100
				20000	00000
LAMP LIFE HOURS	24000	24000	80000	80000	80000
WATTAGE INCLUDING BALLAST					
AVERAGE HOURS OF OPERATION	4000	4000	4000	4000	4000
ESTIMATED ANNUAL KWH	696	1272	384	456	768
MOUNTING ARM LENGTH (FEET)	8	8	8	8	8
MOUNTING HEIGHT(FEET)	30	30	30	30	30
INITIAL INVESTMENT					
LUMINAIRE (2)	<b>\$</b> 165 94	\$ 194.84	\$ 330.30	\$ 422 18	\$ 520 00
LAMP (2)	12 68	12.60	0	σ	o
PHOTOVOLTAIC ELECTRIC RELAY (PER)-(2)	6.78	6.78	36.64	36 64	36,64
MOUNTING BRACKET /ARM (8'Arm) (2)	150 96	150.96	150.96	150.96	150.96
30' BASE PLATE TYPE POLE	674 00	674.00	674.00	674 00	674 00
FOUNDATION REBAR.ANCHOR BOLT KIT (SAP 243140)	298.18	298.18	298.18	298.18	298.18
POLE WIRE / SPLICES/ MISC.COMPONENTS	12.31	12 31	12 31	12 31	12.31
OH WIRE @150' -SOURCE TO POLE @.20/FT	33.00	33.00	33.00	33.00	33.00
INITIAL MATERIAL COST (SUB-TOTAL)	\$ 1,353.85	\$ 1,382.67	\$1,535.39	\$ 1,627.27	\$_1,725.09
INSTALLATION COST (LABOR)	\$ 876.25	\$ 876.25	\$ 876.25	\$ 876 25	\$ 876.25
OVERHEAD (STORES & ENGR )	\$ 641.22	\$ 651,65.	\$ . 706.89	\$ 740.12	\$ 775.51
TOTAL INVESTMENT COST	\$ 2,871.32	\$ 2,910.57	<b>\$</b> 3,118 53	\$ 3,243.64	\$ 3,376.85
OPERATING EXPENSES		_			
FIXTURE COST	\$ 19.46	\$ - 19.38	\$ 73.28	\$ 73.28	\$ 73,28
TRANSPORTATION COST	\$ 9.98	\$9.98	\$ 19,95	\$, 19.95	\$ 19.95
Labor Cost/Hr	\$ 94.89	\$ 94.89	\$ 94.89	\$ 94.89	\$ 94.89
Man Hours	0.50	0.50	0.50	0.50	0,50
COORDINATION COST	\$ 7.12	\$. 7.12	\$ 7.12	\$ 7.12	\$ 7.12
REPLACEMENT COST (LABOR)	\$ 54.57	\$ 54.57	\$ 109.13	\$ .109.13	\$ 109,13
OVERHEAD (STORES)	\$ 3.67	\$ 3.66	\$ 13.84	\$ 13.84	\$ 13.84
TOTAL COST TO REPLACE FIXTURE	\$ 87.67	\$ 87.58	\$ 216.20	\$ 216.20	\$ 216.20
Lamp Life (years)	6.00	6.00	20.00	20.00	20.00
ANNUAL OPERATING & MAINTENANCE COST	\$ 14 61	\$ 14.60	\$ 10.81	\$ 10.81	\$ 10.81
Lamp Related O&M	\$ 386	\$ 3.84	\$ 4.36	\$ 4.36	\$ 4.36
Pole Related O&M	\$ 10.76	\$ 10.76			\$ 6.45
Transportation Portion of Pole Related O&M		\$ 1.66			\$ 1.00

# 2019 RATE CASE CENTERPOINT ENERGY HOUSTON ELECTRIC, LLC SCHEDULE C TEST YEAR ENDING 12/31/2018 SPONSOR: M. TROXLE

2018 Weighted Average Street Light Costs Schedule C - 120 Volt 30' Base Plate Type Foundation Mounted

	Standard with Twin 8' Arms
ASSUMPTIONS:	
Overhead (Stores & Engr )	Factor Application
Construction Overhead Rate =	0.1729 Applied to Sum of Material and Labor Cost
Stores Overhead Rate =	18.88% Applied only to Material Cost
Rates are based on estimated 2018 expenditure levels.	
Transportation Costs: (Truck w/ Single Bucket)	19.95
Coordination Support	\$ 7.120
	المستشما
Man Hours:	
Fixture Replacement	0.5
	1 777 1

## 2019 RATE CASE CENTERPOINT ENERGY HOUSTON ELECTRIC, LLC SCHEDULE D TEST YEAR RADING 1J/3/J/2018 SPONSOR: M TROXLE

## 2018 WEIGHTED AVG STREET LIGHT COST

•					2018	WEIGHTED	AVG STREET	LIGHT COS	*								
}					Schedule D - 1	20 Volt 30' D	rect Embedde	d Standard v	vith 4' Arm								
1	1	Mercury Vapo	or		High	Pressure Sod	ıum		i	Metal H	lalide				LED		1
BASIC DATA	100W	175W	400W	70W	100W	150W	250W	400W	100W	175W	250W	400W	20\/	45W	95W	115W	18úW
LAMP RATED INITIAL LUMENS	4200V	7800V	22600V	6000V	9500V	15000V	28000V	50000√	7900V	12900V	19475V	32200H	2000	4800	7900	10850	15100
LAMP RATED MEAN LUMENS	3300V	6800V	14400V	5500V	8000V	13800V	26100V	45000V	5 <b>8</b> 00V	8400V	12500V	23000H					
LAMP LIFE HOURS	24000	24000	24000	24000	24000	24000	24000	24000	10000	10000	6000	6000	60000	80000	80000	80000	80000
WATTAGE INCLUDING BALLAST									ľ								
AVERAGE HOURS OF OPERATION	4000	4000	4000	4000	4000	4000	4000	4000	4000	4000	4000	4000	4000	4000	4000	4000	4000
ESTIMATED ANNUAL KWH	492	828	1800	348	456	596	1272	1920	480	54D	1152	1908	96	204	384	456	768
MOUNTING ARM LENGTH (FEET)	4	1 4	4	4	4	4	4	4	4	4	4	4	4	4	4	4	4
MOUNTING HEIGHT(FEET)	25	25	25	25	25	25	25	25	25	25	25	25	25	25	2€	25	25
INITIAL INVESTMENT		· · · · · · · · · · · · · · · · · · ·															
LUMINAIRE	\$ 53 00	\$ 54 00	\$ 110 00	\$ 77.72	\$ 82.97	\$ 82.97	\$ 97.42	\$ 113.24	\$ 92 01	\$ 188 36	\$ 144 05	\$ 152.63	\$ 114.28	\$ 114,28	\$ 165.15 \$	211 09	\$ 260 00
LAMP	6 97	5 8	7 93	6 05	5 72	6,34	6 30	6 01	18 57	16 17	9,73	17 48	٥	0	0	0	Q
PHOTOVOLTAIC ELECTRIC RELAY (PER)	3 39	3 39	3 39	3 39	3 39	3 39	3 39	3 39	3 39	3,39	3.39	3 39	18 32	18 32	18 32	18 32	18 32
MOUNTING BRACKET /ARM (2')	51	51	51 00	51	51	51	51	51	51	51	51	51	51	51	51	51	51
30' DIRECT EMBEDDED POLE	371	371	371 00	371 00	371 00	371 00	371 00	371 00	371	371	371	371	371	371	371	371	371
POLE WIRE / SPLICES/ MISC COMPONENTS	29 71	29 71	29.71	29 71	29.71	29 71	29 71	29.71	29 71	29 71	29 71	29 71	29,71	29 71	29 71	29 71	29 71
UG WIRE @150' -SOURCE TO POLE@ 42/FT	63	63	63	63	63	63	63	63	63	63	63	63	63	63	63	63	63
INITIAL MATERIAL COST (SUB-TOTAL)	\$ 578.07	\$ 577 90	\$ 636.03	\$ 601.87	\$ 606,79	\$ 507.41	\$ 621.82	\$ 637 35	\$ 628,68	\$ 722 63	\$ .671.88	\$ 688.21	\$ 647.31	\$ , 647 31	\$ 698 18 \$	744,12	\$ 793.03
INSTALLATION COST (LABOR)	\$ 787 97	\$ 767 97	\$ 787 97	\$ 787 97	\$ 787 97	\$ 787 97	\$ 787 97	\$ 787 97	\$ 787 97	\$ 787 97	\$ 757,97	\$ 767 97	\$ 787.97	\$ 787 97	\$ 787 97 \$	787 97	\$ 787.97
OVERHEAD (STORES & ENGR )	\$ 345 35	\$ 345.29	\$ 366.31	\$ 353.96	\$ 355 74.	\$ 355.96	\$ 361.17	\$ 366 79	\$ 363 66	\$ 397.64	\$ 379.25	\$ 385 19	\$ 370 39	\$ 370 39	\$ 388.79 \$	406 41	\$ 423 10
TOTAL INVESTMENT COST	\$1,711,39	\$ 1,711 16	\$ -1,790,31	\$ 1,743,80	\$ 1,750 50	\$ 1,751.34	·\$ 1,770.96	\$1,792 11	\$ 1,780 30	\$ 1,908.24	\$ 1,639,13	\$ 1.861 37	\$ 1,405.67	\$ 1,805.67	\$ 1,874 94 \$	1,937.60	\$ 2,004 10
OPERATING EXPENSES	i			1.													
FIXTURE COST	\$ 10.36	\$ 9 19	\$ 11 32	\$ , 9.44'	\$ 9,11	\$ 973	\$ \$60	\$ 9.40	\$ . 2196	\$ 19 56	\$ 13 12	\$ 20,87	\$ /35,64	\$ i 36,64 ·	\$ 36 64 \$	36 64	\$ 35.64
TRANSPORTATION COST	\$ 998	\$ 9.98	\$ 9.98	\$ 9.98	\$ 9.08	\$ 9.04	\$ 0.88	\$ 9.95	\$ 998	\$ 998	\$ , 9,98	\$ 998	\$ 19.95	\$ 19.95	\$ 19.95 \$	19.95	\$ 19.96
Labor Cost/Hr	\$ 90.46	\$ 90 48	\$ 90 46	\$ 90.46	\$ 90.46	\$ 90.46	\$ 90 46	\$ 90.46	\$ 90 46	\$ 90 46	\$ 90 46	\$ 90 46	\$ 90 46	\$ 90.46	\$ 90 46 \$	\$ 90.45	\$ 90.46
Man Hours	0 50	0 50	0.50	0,50	0.50	0 50	0 50	0.50	Q 60,	0.50	0 50	0.50	0.60	0 60	0 50	0 50	0.50
COORDINATION COST	\$ 7,12	\$ , 7 12	\$ 712	\$ 7.12	\$ 712	\$ 712	\$ 7,12	\$ 712	\$ 712	\$ 712	\$ 7.12	\$ , : 7 12	\$ , 712	<b>3</b> 7.12	\$, 712 \$	7,12	\$ 712
REPLACEMENT COST (LABOR)	\$ 52.35	\$ 52 35	\$ 52.35	\$ 5235	\$ 52 36	\$ 62 35	\$ 52,35	\$ 52.35	\$ 52 35	\$ , 62 36	\$ 52.35	\$ 52.35	\$ 10470	\$ 104.70	\$ 104.70 \$	\$ , 10470	\$ 104.70
OVERHEAD (STORES )	\$ 195	\$ 1,74	\$ 214	\$ 1.78	\$ 172	\$ ,1.84	\$ 1,83	\$ 177	\$ 415	\$ 3.60	\$ 245	\$ 3,94	\$ 6.92	\$ 6.92	s, 6,92 : s	6.92	\$ 692
TOTAL COST TO REPLACE FIXTURE	\$ 74 64	\$ 73.25	\$ 75.78	\$ 73.55	\$ 73 15	\$ 73.89	\$ 73.84	\$ 73 50	\$ 88 43	\$ 85.58	\$ 77.92	\$ 87 14	\$ 166.21	\$ 168 21	\$ 168.21 \$	\$ 168.21	\$ 168.21
Lamp Life (years)	6 00	6 00	. 6:00	<b>5</b> 00	6 00	6 00	6.00	6 00	2.50	2 50	1 50	1 60	20 00	20.00	20 00	20 00	20.00
ANNUAL OPERATING & MAINTENANCE COST	5 12 44	\$ 12,21	\$ 12.63	\$ 12.26		\$ 12 32	\$ 12 31	\$ 12.25	\$ 35.37	\$ 34.23	\$ 51.95	\$ 58.09	s, 841 j	\$ 8.41	S 841 S	S 841	5 841
Lamp Related O&M	<b>S</b> 205	\$ 182	\$ 224	S 187	S 180	\$ 193	\$ 192	\$ 186	\$ 10.44	\$ 930	\$ 10.40	\$ 16.54	\$ 218	\$ 2.18	S 218 S		
Pole Related O&M	\$ 10.39	\$ 1039	\$ 1039		\$ 10.39	\$ 10.39						\$ 41.55					
Transportation Portion of Pole Related O&M	\$ 166					\$ 166						\$ 4155 \$ 565					

, 1

## 2019 RATE CASE C'ENTERPOINT ENERGY HOUSTON ELECTRIC, LLC SCHEDULE D TEST YEAR RADING 1J/31/2018 SPONSOR: ML TROXLE

**A**rm

			2018 WEIGHTED AVG STREET LIGHT COST
			Schedule D - 120 Volt 30' Direct Embedded Standard with 4' Ar
ASSUMPTIONS.			
Overhead (Stores & Engr )			
	Factor	Application	
Construction Overhead Rate =	<del></del>	•	
Stores Overhead Rate =	0 1729148	Apply to Sum of Material and Labor Cost	t .
Rates are based on estimated 2018 expenditure levels.	18 88%	Apply only to Material Cost	
Transportation Costs (Truck w/ Single Buoket)		\$ 1995	
Coordination Support		\$ 712	
Man Hours		_	
Focture Replacement	0.5		

Y TO A A TO A A With two mount observed to an absolute or an absolute of the second

## 2019 RATE CASE CENTERPOINT ENERGY HOUSTON ELECTRIC, LLC SCHEDULE E TEST YEAR ENDING 12/31/2018 SPONSOR: M. TROXLE

## 2018 WEIGHTED AVERAGE STREET LIGHT COST

SCHEDULE E - 120 VOLT 30' BASE PLATE TYPE FOUNDATION MOUNTED

•		1	:	MATE	NDARD with	TWIN 8'	ARMS	,	0										
	Mercury Vapor			ı	High Pressi	ıre Sodiut	n				Metal I	lalide				LE	D		
BASIC DATA	400W	10	ow	15	w	250	w	400W	100W	1	175W	250W	400W	45W	95	w	115W	1500	v
LAMP RATED INITIAL LUMENS	22600V	9	00V	15	000V	2800	ον	50000V		7900V	12900V	19475\	32200H	480	0	7900	1085	)	15100
LAMP RATED MEAN LUMENS	14400V	80	W00V	13	₩00V	2610	V	45000V		5800V	8400V	12500\	23000H	l					- 1
LAMP LIFE HOURS	24000	24	000	24	000	240	00	24000		10000	10000	6000	6000	8000	0	80000	8000	0	80000
WATTAGE INCLUDING BALLAST		1																	i
AVERAGE HOURS OF OPERATION	4000	40	00	40	100	40	00	4000	l	4000	4000	4000	4000	400	10	4000	400	0	4000
ESTIMATED ANNUAL KWH	1800	4	6	69	96	12	72	1920		480	840	1152	1908	20	14	384	45	5	768
MOUNTING ARM LENGTH (FEET)	8	8		8			8	8	İ	8	8				٠	8			
MOUNTING HEIGHT (FEET)	30	3	1	30	)		30	30		30	30	30	30		30	30	3	0	30
INITIAL INVESTMENT		T																	
LUMINAIRE (2)	\$ 220	.00 \$	165 9	4 \$	165 94	\$ 194 8	4 \$	226 48	s	184.02	\$ 376.72	\$ 288 10	\$ 309 26	\$ 228.5	6 \$	330.30	\$ 422.18	\$ 5	520 00
LAMP (2)	<b>\$</b> 15	.86 \$	11.4	4 \$	12 68	\$ 126	io \$	12 02	s	37 14	\$ 32 34	\$ 1946	\$ 34 96	s -	\$	-	\$ -	\$	- 1
PHOTOVOLTAIC ELECTRIC RELAY (PER)- (2)	\$ 6	.78 \$	6 7	8 \$	5.78	\$ 6.7	8 \$	6 78	\$	6.78	\$ 678	\$ 678	\$ 678	\$ 36.6	4 \$	36 64	\$ 36 64	s	36 64
MOUNTING BRACKET /ARM (8') - (2)	\$ 150	.96 \$	150 9	5 \$	150 96	\$ 150 9	6 \$	150.96	s ·	150 96	\$ 150.96	\$ 150 96	\$ 150 96	\$ 150.9	6 \$	150 96	\$ 150 96	\$ 1	150.96
30' BASE PLATE TYPE POLE	\$ 674	.00 \$	674 0	5 0	674 00	\$ 674.0	0 \$	674 00	s (	674 00	\$ 674 00	\$ 674.00	\$ 674,00	\$ 674.0	a \$	674 00	\$ 674 00	\$ 6	574.00
FOUNDATION REBAR ANCHOR BOLT KIT (SAP 243162)	\$ 373	.D8 \$	373 0	5 \$	373.08	\$ 373.0	8 \$	373 08	\$	373,08	\$ 373.08	\$ 373 08	\$ 373.08	\$ 3730	ı \$	373 08	\$ 373 08	\$ 3	373 08
POLE WIRE / SPLICES/ MISC COMPONENTS	\$ 37	.87	37 8	7 \$	37.87	\$ 37.8	7 \$	37 87	3	37 87	\$ 37.87	\$ 37.87	\$ 37.87	\$ 37 8	7 \$	37 87	\$ 37.87	, è	37 87
UG WIRE @150' -SOURCE TO POLE@.42/FT	\$ 63	.00 \$	63.0	0 \$	63 00	\$ 63 (	00 \$	53 DO	\$	63 00	\$ 63.00	\$ 63.00	\$ 63.00	\$ 63.0	0 \$	<b>6</b> 3 00	\$ 63.00	\$	63.00
INITIAL MATERIAL COST (SUB-TOTAL)	\$ 1,541	55 \$	1,483.0	7 \$	1,484.31	\$1,513.	3 \$	1,544.19	\$ 1,5	526.85	\$ 1,714.75	\$ 1,813.25	\$1,649.91	\$1,564:1	1 5	1,665 65	\$1,757 73	\$1,8	855,55
INSTALLATION COST (LABOR)	\$ 1,067	.87	1,067.8	7 \$	1,067.87	\$1,067.	37 \$	1,067.87	\$ 1,	067.87	\$ 1,067.87	\$ 1,067 87	\$1,067.87	\$1,067.8	7 \$	1,067 87	\$1,067.8	\$1,0	067 87
OVERHEAD (STORES & ENGR)	\$ 742	25 4	721.1	0 \$	721,55	\$ 731	7 5	743 21	\$ ·	735.93	\$ 804.90	\$ 768.19	\$ 781.45	\$ 750,4	1 \$	787.21	\$ 820.45	i '\$ 4	856.83
TOTAL INVESTMENT COST	\$ 3,351	,67	3,272 0	4 \$	3,273 73	\$3,312	7 5	3,355.27	\$ 3,	331,65	\$ 3,587,52	\$ 3,449.31	\$3,499.23	\$3,382.3	9 \$	3,520 93	\$3,646 0	\$3,7	179.25
OPERATING EXPENSES		T																	
FIXTURE COST	\$ 22	64   1	18.2	2 \$	19,46	\$, 19	. 3	18,80	s	43 92 '	\$ 39 12	\$ 26 24	\$ 1 41.74	\$ 73.2	8 5	73.28	\$ 73.20	<b>(\$</b>	73,28
TRANSPORTATION COST	\$ 6	98 4	9.9	8 \$	9.98	\$ - 9	96 \$	9,98	ļ <b>\$</b>	9,98	\$ '9.98	\$ 9.98	\$ 9.94	\$ 19.9	5 \$	19.95	\$ 19.9	\$ \$	19.95
Labor Cost/Hr	\$ 94	.89 1	94.8	9 \$	94.89	\$ 94	9 \$	94 89	s	94 89	\$ 94 89	\$ 94 89	\$ 94.89	\$ 94.8	9 5	94.89	\$ 94 6		54 89
Man Hours	( / · ·	0.50	0.5	60	0.50	. '0	50	0 50	ĺ	0.50	0 50	0.50	Ď.50	0.1	10	0.50	0,5	0 ,	0.50
COORDINATION COST	\$ 7	112	7.1	2 \$	7.12	\$ 7.	12 .	7.12	\$	· 7.12	\$ 7.12	\$ 7.12	\$ 7.12	\$ 71	2 \$	7,12	\$ 7.13	2 \$	7.12
REPLACEMENT COST (LABOR)	\$ 54	57 \$	54.5	7 \$	54.57	\$ 54	57 \$	54 57	s '	54.57	\$ 54.57	\$ 54.57	\$ 54.57	\$ 109.1	3 \$	109,13	\$ 109,1	\$ 1	109.13
OVERHEAD (STORES)	\$ 4	.27	34	4 \$	3.67	\$ 31	i6 <sup>''</sup> \$	3 55	5	8 29	\$ 7,39	\$ .495	· \$ 17,88	\$ 13.4	4 5	13,84	<b>5</b> 13.8	, s	13.84
TOTAL COST TO REPLACE FIXTURE	\$ 91	.45	86.2	0 \$	87.67	\$ 87,	58 \$	86 89	, s	116 75	\$ 111 05	\$ 95.73	\$ 114.15	\$ 216.2	o <b>\$</b>	216,20	\$ 218,2	\$ 2	216,20
Lamp Life (years)		6,00	8.0	00	6.00	6.	00 .,	6.00		2.60	2 50	1 5	1 50	20.0	00	20 00	20,0	0	20.00
ANNUAL OPERATING & MAINTENANCE COST	\$ 15	5.24	14.3	7 \$	14.61	\$ 141	5Ò \$	14 48	s	46 70	\$ 44.42	\$ 63.82	\$ 76.11	\$ 10.5	1 \$	10 81	\$ 10.8	i <b>,\$</b>	10.81
Lamp Related O&M	\$ 4	149 5	3.6	1 \$	3.86	\$ 3	34 \$	3.72	ş	20.88	\$ 18 60	\$ 20 80	\$ 33.08	\$ 43	6 5	4 36	5 4.3	5 \$	4 36
Pole Related O&M		76		6 \$					\$		\$ 25 82			\$ 64			\$ 6,4		6.45
Transportation Portion of Pole Related O&M	\$ 1	1.66	16	6 \$	1 66	\$ 14	56 <b>\$</b>	1,66	\$	3 99	\$ 3 99	\$ 565	\$ 565	<b>\$</b> 1.0	0 \$	1,00	\$ 10	\$	1 00

## 2019 RATE CASE CENTERPOINT ENERGY HOUSTON ELECTRIC, LLC SCHEDULE TEST YEAR ENDING 12/31/2018 SPONSOR: M. TROXLE

2018 WEIGHTED AVERAGE STREET LIGHT COST
SCHEDULE E • 120 VOLT 30 BASE PLATE TYPE FOUNDATION MOUNTED
STANDARD WITH TWIN 8" ARMS

ASSUMPTIONS.			
Overhead (Stores & Engr )	Factor	Application	Factor
Construction Overhead Rate ≃	0 1729	Applied to Sum of	Material and Labor Cost
Stores Overhead Rale =	18.88%	Applied only to Ma	terial Cost
Rates are based on estimated 2018 expenditure levels			
Transportation Costs (Truck w/ Single Bucket)		\$	19 95
Coordination Support		2	7 12
Man Hours		_	
		1	

Fixture Reptacement

### CENTERPOINT ENERGY HOUSTON ELECTRIC, LLC SCHEDULE IV-J-2-A - PROOF OF REVENUE FOR THE YEAR ENDING DECEMBER 31, 2018

## STANDARD DISCRETIONARY SERVICES (RATE DCS) AND ADDITIONAL DISCRETIONARY CHARGES (RATE DC)

Sponsor: M. Troxie

				DE.	SCRIPTION		-pomor:	CURRENT				PROPOSED		
ITEM	NO.			06	CRIP ION			QUARANT				1,0,0		
Current	Prepused	Tariff	Chg. Ne./Item				Price					Billing Units		
DCS.1 1	DC\$ [ 1	<b>6</b> 1.21	1	Standard Meter Move-In	Existing Standard Moler Promise with remeta/disconnect connect capability		No Charge	882,563			No Charge	852,663		
		_ 6131 _		Nen-Standard Mater Move-in	Non-Standard Meter (Includes premises with an IDR Meter, but excluding premises with an AMS-IM Meter) and premises with unmalared services. Includes Opt Outs Requires dispatch of parsonnel to premises									
DCS 12	DCS 1.2	_ <b>6</b> ,1,31 _	1		Self Contained Mater (new)	\$	103,00	42	\$	4,326	\$ 192.00	42	\$	8,064
DCS 1.3	DCS 1 3	6131	1		Self Contained Meter (existing)	\$	16 00	358	\$	\$,728	\$ 144 00	350	\$	51 552
DCS 1.4	DCS 1 4	6131	1		Current Transformer (CTVOther Meter (new)	\$	343 00	20	\$	6,860	\$ 465,00	20	\$	9,300
DGS 1 5	DCS 15	61(31)	1		CT/Other Meter (existing)	5	144 00	128	\$	18,432	\$ 216.00	120	\$	27 648
		_ _ 6 <u>14</u> 1_		AMS-M Meter Move-in	AMS-M Meter. Permits some discretienary services without dispatching personnel but lacks remote connect/disconnect capabilities.									
DCS 1 6	DCS 1 6	,6141	1		Self Contained Meter (new)	\$	103 00	45 985	\$	4,736,455	\$ 192 00	45 985	3	8 829,120
DCS 1 7	DCS 17	. #1 <u>41</u> "	1		Self Contained Meter (existing)	•	16 00	10,177	\$	162,832	\$ 144.00	10 177	\$	1,465 488
DCS 1 8	DCS 1 6	6,1 4 1	1		CT/Other Meter (new)		343 00	961	\$	329,623	\$ 465.00	961	\$	446 865
DCS 1 9	DC\$ 1 9	6.1 4 1	1		CT/Other Mater (existing)	,	144 00	2,990	\$	430,560	\$ 216 00	2,980	\$	645,840
DC\$ 2.1	DCS.21		2	Standard Meter Move-In	New Standard Meter Premise with remote/disconnect connect capability		No Charge	152,135			No Charge	152 135		
		<b>6</b> 131 _		Non-Standard Meter Priority Move-in	Non-Standard Meter (includes premises with an IDR Meter, but excluding premises with an AMS-M Meter) and premises with unmetered services includes Opt Outs, Requires dispatch of personnel to premises.									
DC\$.22	DC9 2 2	6131	2	1	Self Contained Meter (existing)	•	36 00	2	\$	72	\$ 150,00	2	5	300
DC\$ 23	DC5 2 3		. 2		CT/Other Mater (existing)	\$	296 00	41	\$	12,136	\$ 224 00	41	5	9,184
				AMS-M: Meter Priority Mové-in	AMS-M Meter Permits some discretionary services without dispetching personnel but tacks remote connect/disconnect capabilities						4			
DCS 2 4	DCS 2 4	6141	2		Self Contained Meter (existing)		36 00	5,904	\$	212 544	\$ 150.00	5,904	\$	885,600
DCS 2.5	DCS 2 5	6,1,41	2		CT/Other Mater (existing)	\$	296 00	1,721		509,415	\$ 224 00	1,721	\$	385,504
DCS 31	DCS 31	6121	3	Disconnection Charles (Meva, eutr) Standard Meler Move-aut	Existing Standard Meter Premise with remote/disconnect connect capability	Charg move-l	the included in the in charge	20 <b>9,5</b> 24			Charge included in the move-in charge		133143	
		, 6131	3	Non-Standard Mater Move-Out	Non-Standard Meter (Includes premises with an IOR Meter, but excluding premises with an AMS-II Meter) and premises with unmetered services. Regulass dispatch of personnel to premises.		e included in the	0			Charge included in the move-in charge	. 0		
		<b>61.41</b>	3	AMS-M Meter Move-out	AMS-M Meter Permits some discretionary services without dispatching personnel but lacks remote connect/disconnect capabilities	Charg move-l	e included in the In charge	0			Charge included in the move-in charge			
DCS 41	DCS.4.1	61,21 61,31 61,41	. 4	Customer Requested Clearance	De-energizes/re-energizes Company electrical facilities on Relail Gualciner's Premises before/after Retail Custemer or Customer's contractor angages in activity near Company's services lectifies and the Company's services in activity near Company's services and services (activities). With 3 business days notice (Non-Residential) With less than 3 business days notice.		As Calculated As Calculated As Calculated	C	\$ \$ \$	: :	As Calculated As Calculated As Calculated	d O	\$ \$ \$	:

GENTER-PONT ENERGY MOUSTON ELECTRIC, LLC SANDALLE, M-JAZ, ANDOO OF REVENUE FON THE YEAR BUING DECEMBER 31, 313 STANDARD DISCRETIONARY SERVICES (RATE DCS) AND ADDITIONAL DISCRETIONARY CHANGES (RATE DC)

Spenser: M. Trexle

454,860 13**8** 29,007 , 68 128 6.13 80 · 10 032 240 8 7,541 No Charge No Charge 120 00 No Charge 81.00 No Charge 94.00 128 00 170.00 148 00 8 6 17.073 177,016 380 091 3,965 4270 223 5,488 685 1,053 132 0 53,177 No Charge 61.00 23.35 No Charge No Charge 49.00 Ne Charge Ne Charge 49 DO No Charge No Charge 82 00 No Charge No Charge 49 00 No Charge No Charge 82 00 **8**2 00 No Charge No Charge 61.00 187.00 246.00 82 00 12,00 Specific Al Mater (DNP) with remote connectifications of applications or applications of Burdard Recorded - Sense Day or Weekend Standar Recorded - Head of Burdard Recorded - Head of Persistant Location (DNP) Standard Recorded - English Persistant Recorded - Sense Day or Weekend Fertilann Recorded - Sense Day or Weekend At Mater - Premise with remote/disconnect connect sepability Premium Location (DNP) Standard Reconnect Premium Reconnect - Same Day or Weekend Premium Reconnect - Holiday At Meter (DNP)' Dispatch personnel Standard Reconnect - Same Day or Weakend Standard Reconnect - Heldery Premium Location (DNP) Standard Reconnect Premium Reconnect - Same Day or Weekend Premium Reconnect - Holiday At Mater (DNP) Premise with remole/dac capability
Premium Location (DNP) At Meter (DNP) Dispatch persennel Premium Location (DNP) First test in tast four years Found outside of accuracy alandards All other First test in last feur years Found outside of accuracy standards All ether At Meter (DNP) lacks remote connuceabilities First test in lest four years Found outside of accuracy sta All other First test in last four years Found outside of accuracy st All other First test in last four years Found outside of accuracy st All other Premium Location (DNP) Non-Standard Meter MS-M Meter Self Contained/Co Owned idard Self Contehed/Co. Owned After DNP AUS-M Meter MS-IM Meter CT/Other/Co Owned landard Mater Competitive Mete -Standard Competitive Meter MS-M Meter Competitive Mater tandard Svälch, Standard Meter Non-Standard Meter Standard Maler Cs. Owned After DNP 6121 6.131 1.31 1.31 6121 6131 6131 6131 6121 141 8141 6.12.1 005.65 005.66 005.67 005.68 005.69 DC\$.5.5 DC\$ 5.6 008711 DCS 7.12 DCS 5 1 DC5 7.4 DCS 8 1 DCS 8 6 DCS 8 7 DCS 8 8 DCS 6 8 DCS 6 9 DCS.7.1 DCS.7.2 DCS.7.3 DCS.7 8 DCS.7 9 DCS.7 10 DCS 7.4 DCS.7.5 DCS 7.5 DCS 7.7 DCS 7 11

### CENTERPOINT ENERGY HOUSTON ELECTRIC, LLC SCHEDULE IV-J-2-A - PROOF OF REVENUE FOR THE YEAR ENDING DECEMBER 31, 2018

## STANDARD DISCRETIONARY SERVICES (RATE DCS) AND ADDITIONAL DISCRETIONARY CHARGES (RATE DC)

Spensor: M. Troxle

							Spensor:			<del> ·</del>				
ITEN	NO.	т т		DE	SCRIPTION			CURRENT			<del></del>	PROPOS	ED.	
Current	Prepased	Tariff	Chg, Ne /Rem	General	Specific		Price	Billing Units		Revenue	Price	Billing Units		Revenue
DCS 8.2	DC8 8 2	1 1 2 111	222011830201	Re-Read Non-Standard Meter	Inaccurate meter reading		No Charge				Ne Charge			
DCS.4.3	DC6.83	6,1,31			Accurate meter reading Non-IDR	\$	23,35	1		\$ 23	\$ 21 00	1	\$	21
				1							t .			
DCS.8 5	DCS 8 5	<b>#141</b>	•	Standard Switch: AMS-M Meter	Competitive Retailer Switch: Not requested by retail customer		No Charge				No Charge			
			_	Self Selected Switch: Standard Mater	Competitive Retailer Switch on date certain		No Charge				No Charge			
DCS 9.1	DCS 91		,	Sell Selected Switch, Strittgard water	Companies Retailer Switch on one certain	ļ	No Charge				No Charge			
					Competitive Retailer Switch: Not requested by retail	l								
DC3 9 2	DCS 9 2	6.1.31	•	Standard Switch, Non-Standard Meter	customer	1	No Charge				No Charge			
DC5 8 3	DC\$ 9 3	. 6,14)	9	Self Selected Switch AMS-M Mater	Competitive Relation Syntch on date certain	3	23 35	0			No Charge			
DC6 10 1	DCS 10 1	6121	10	1	Purpose of a mass transition	ŀ	No Charge				No Charge			
				1		İ					4			
DCS.102	DCS.102	61,3,1	10	Self Selected Switch, Non-Standard Meter	Competitive Retailer Switch en data certain		23 35	146		\$ 3,409	\$ 21 00	146	5	3,066
				Non-Standard Metaring Service Resurring	Marthan March and a bear a forthwest of the second	1		ه مکشم د	, 14m	Black to 5	Take of the	wholes Crising	that a	المعالم المراجع
DCS 13,3	DCS,103	6131	13	Non-Standard Meter	Opl Out - Service Recurring Fee		32 80	1,436		\$ 47,101	\$ 40.00	1,436		
1	Dounto			l .		WINDSTEIN ON THE		=			Ħ	-		THE SAME SECTION OF THE SAME SECTION OF THE SAME SECTION OF THE SAME SECTION OF THE SAME SECTION OF THE SAME S
				MANUSTRUMATORMENATURATORATORY VENEZARITORI	NECES MAINTENANT DE SENTIEM PARTIE MAINTENANT DE SENTEMBANDE POUR L'ANDIEN MAINTENANT DE L'ANDIEN DE L'ANDIEN	MECHALISM COLUMN	KATO TIMA TANGKA MATAN	A COUNTYIN		111	A CONTRACTOR CONTRACTOR	MANAGEN MEN GARANTAN EKADAN MARKATAN	Mark Hiller	THE PART OF THE PARTY OF THE PA
				Non-Standard Metering Service One Time Fee Standard Meter	Poladina Analos Marios	١.	91.00	0		s .	s 45 00	a		
DCS 11.1 DCS 11.2	DCS 11.1 DCS 11.2	6,1,2,1 6,1,2,1	11 11	Standard Meter	Existing Analog Meter New Analog Meter (V available)	;	171 00	0			\$ 190.00	o o		
DCS 11,3	DC\$.11.3	6.1 2 1	11		Digital Non-Communicating Meter	\$	201 00	0	1	\$ .	\$ 200.00	c		
DCS 11 4	DCS.11.4	6.1 21	11		Advanced Mater with Communication disabled	\$	174 00	ō	1	s -	\$ 180 00	σ	1	
		-									ļ.			
DC8 11.5	DCS.11.5	, _ 6 1 3 <u>.1</u> ,	11	Nen-Standard Switch	Unable to Access Meter due to denial by retail customer	\$	5 90	148		\$ 740	\$ 2100	148	1	3,108
				Non-Standard Metering Service One Time Fee				_		_	11	_		
DCS 11 6 DCS.11 7	DCS.11.6 DCS.11.7	.51.41. 51.41	11 11	AMS-M Meter	Existing Analog Meter New Analog Meter (if available)	1	91 00 171,00	0		\$	\$ 8500 19000	0	,	
DCS 11 #	DCS.11.8	614,1	11		Digital Nen-Communicating Meter		201 00	0			\$ 200 00	0		
DCS 11.9	DC\$ 11.9	614,1	11		Advanced Meter with Communication disables	\$	174 00	0	)	\$ -	\$ 180,00	c		
						NAMES DE LA COMP			377		A PROPERTY OF THE PARTY OF THE	and and statement of the statement of th	PER PER PER PER PER PER PER PER PER PER	I MENTERAL PROPERTY
1		€12Î1	12			1					ġ.			
		6.1 3 1	14								1			
DC3,121	DCS.12.1	<b>6</b> 141 .	12	Service Call Charge	Business Days and All Other Times	s	50,00	15,484		\$ 774,200	2	15 484		
1				<b>计器器的设置的现在数据设置的数据的数据</b>	(株)、1. 1. 1. 1. 1. 1. 1. 1. 1. 1. 1. 1. 1. 1		NAME OF THE PROPERTY OF THE PR			机保料器机构机构			REAL PROPERTY.	
		6.1 2 1	13			1					ì			
DCS 13 1	DGS 13 1	6131 6141	18 14	Tampering		İ	As Calculates	340	,	\$ 114,031	As Calculated	340		114,031
	200.0.	6121							-	*				
		6.1 3.1	14 19											
DCS 13 2	DC5 13 Z	6141	15	Broken Meter Seal		,	31 00	B 228		\$ 255,068	\$ 40.00			329,120
1						AND PARTY OF	CONTRACTOR DATE OF THE		<b>MAR</b>	A THE PARTY OF THE			RV HATA	<b>PERSONAL PROPERTY OF THE PERSON OF THE PERS</b>
DCS 14 1	DCS 14 1	6.1 3 1	15	Security Light Repair		Ì	As Calculated	c	•	s .	As Calculate			
DCS,15 1	DGS 15 1	<b>6</b> 131	15	Security Light Removal		1	As Colculated	128	3	\$ 35,295	As Calculate	i 12i		\$ 35,298
		6131	17								1			
DC8 16 1	DCS.16.1	6141	13	Street Light Removat		-	As Calculated	c	0	• -	As Calculate	1 (	,	
						1								
				AND STATEMENT AN			的研究的	THE PERSON NAMED IN						
1		6121	15											
DCS 17 1	DC0 17 1	6131	20	Inaccessible Mater Charge	Standard Non-Standard, AMS-M		55 00		•		s 55 pc	) (	,	•
DG8 [/ 1	DC8,171	•141	16	HISCORPANIE MAKEL CHAPTE	Antonia italicatelidald Massal	١,	33 00	,	-	•	1	- (	•	•
		6121 6131	15 20											
DCS 17 2	DCS 17 2	6141	16	Denial of Access to Company's Delivery System	Standard Nen-Standard AMS-M	Į.	As Calculated	(	D	•	As Calculate	s (	)	

### GENTERPOINT ENERGY HOUSTON ELECTRIC, LLC SCHEDULE N-J-2-A - PROOF OF REVENUE FOR THE YEAR ENDING DECEMBER 31, 2018

## STANDARD DISCRETIONARY SERVICES (RATE DCS) AND ADDITIONAL DISCRETIONARY CHARGES (RATE DC)

Sponsor: M. Troxle

							\$ponsor:	M. Troxle						
ITES	M NO.			DE	SCRUPTION			CURRENT				PROPOSED		
Current	Proposed	Tariff	Chg. No./Item	General	Specific		Price	Billing Units	1.	- Avanua	Price	Cilling Units	İ	Revenue
<u> </u>	1	61231 61331	U. M. IVOJAKA			THE PARTY	Price		magaziri.	Levenue			W. Printer.	
		61431		exploited outrained admired fill the	<b>的复数形式 医多种性 医多种性 医多种性 医</b>	3.4977	الراب المراك	Miller Broke Broke	in the plants	<b>WANTED</b>	<b>新居住。由中国第</b>	· 教徒 陈 14 (1) 13 4 5	4000	Charles & Factor
1				CKERSOKARA PERATURAN DI TERMININA	AGAMAGAN INTO INTO INTO INTO INTO INTO INTO INT	COMMUNICATION (INC.)	MANAGA MARANAS PROSERVA	ARTHUR SAME TANGET TO SAME	FRENSKER BANDE	CONTRACTOR SENT	TENNY ARIANANA MPANJANANA			DEATERNATION AND DESIGN
ŀ														
DC,1,1	DC 1 1		DC 1	Competitive Meter Communication Diagnostics	Self-contained	,	65 00	0		Į.	\$ 80.00	0		
DC 1.2	DC 12		DC 1		Transformer Rated	;	65 00	ő	\$ \$		\$ 60,00	0	š	:
				PARTICULAR DESCRIPTION OF THE PROPERTY OF THE	HATTA SA KANTANIA MATANIA ATANAG PARAM	NAMES OF STREET	I MURKILOMIN JOVANNA	MARINGARA	WALLES KENNE	COMPANIES DE LA COMPANIE DE LA COMPANIE DE LA COMPANIE DE LA COMPANIE DE LA COMPANIE DE LA COMPANIE DE LA COMP		ON MANAGE	SOCIETA PARA CAMBONO	
				1										
				1			plus incremental			į	\$232, plus incremental			
				Advanced Silling Meter Installation			riween a rd meter and the			į	cost between a standard meter and the			1
							ed meter, plus nel charges for				advanced meter, plus additional charges for			
20.2	22.0		DC 2	1		service	e related to	_	_	į	services related to	_		
1 002	DG.2		002			l	oed capabillies	0	\$		advanced capabilities	С		•
				Advanced him Tilling harden installation		\$204, additio	plus the nai charges for				\$232, plus the additional charges for			
DC 3	DC.3		DC 3	Advanced Non-Billing Maler Installation	:	service	es related to ead capabilities	0			services related to advanced capabilities	0	\$	
	****			Pulse Matering Equipment- Installation			AG CEPTONING	•	•	į	autanesa vapatimitas	v	•	- [
DC 4	DG 4		DC 4	Laise Maratilia Edalbillatife Havesteradi	No current pulse meter exists	s	219 00	0	\$		\$ 290.00	0	\$	
DC 4 DC 4	DG 4 DC 4		DC 4		One Relay Two Relays	3	302,00 458 00	0	\$ \$	:	\$ 392 00 \$ 584 00	0	\$	:
DC.4	DC 4		DC 4		Three Relays	s	596 00	D	\$		\$ 746.00	0	\$	-
DC 5	pc 5		DG 5	Pulse Metering Equipment- Replacement	One Relay	١.	228.00	o		1	\$ 278.00			j
DC,5	DC 5		DC 5		One Pulse Mater	\$	179 00	ă	•	: 1	\$ 224.00	0	š	;
DC 5 DC 5	DC 5 DC 5		DC 5 DC 5		One Relay and One Pulse Meter Additional Relays - Same Trip	\$	341 00 160 00	0	3	. :	\$ 425 00 \$ 199 00	0	\$	:
DC 5 DC 5	DC 5 DC 5		DC 5 DC.5		Fuses Problem with Customer's Equipment	5	52 00 52 00	0	\$	-	\$ 61.00 \$ 61.00	0	•	: [
								•	•			·	•	-
DC 6		_	DC.s	Competitive Meter - Non-Standard Programming										
DC B	DC,61 DC 61		DC.6		Self-contained (field prog.) Self-contained (shop prog.)		73,00 46 00	0	\$		\$ 103.00 \$ 59.00	0	•	:
DC 6	DC 6 1 DC 6 1		DC 6		Transformer rated (field prog.) Transformer rated (shop prog.)	\$	73 00 46 00	0	\$ \$		\$ 103.00 \$ 59.00	0 0	\$	: 1
1						AS A STATE OF THE PARTY OF THE	VOLANIER MARIENA	PODRŽIVATINISO LAKISTIJA	BANTON SERVEN	ar estimate de la companya de la companya de la companya de la companya de la companya de la companya de la co	1	UARTESTANNI A OLEVNANSKO ZVETONI.	SLELDES DE SECRETATION	PERIOR CONTRACTOR DELICATIONS OF THE PERIOR DELICATION OF THE PERIOR DE
00.7	DC 7		DC 7	URD By-Pass Cable Installation Charge		s	261 00	2,117	5	552,537	\$ 476.00	2,117	2	1 007,692
	DC,7.1		DC 7 1	Unmetered Service Attachments		•		2,	•	552,551	As Calculated	0	,	1 007,082
	201111					TANKS MAKENSON S		ent Liebniji (Anna i UK II. Stein net)	NE ASIA BISINAN NORMA N	endersteller i Bernadelse				MULIE EANNAIRE (BVID)
DC &					DESTINATION OF THE ASSESSMENT OF THE BUILDING OF SHARE STATE OF THE CHARLES AND STATE OF THE CHA	1				AND THE PROPERTY OF THE PROPER				THE PARTY OF THE P
	DG 8		DC 8	Returned Check		\$	10 50	o	•		\$ 10,50	0	3	-
DC 9	DC 9		DC 9	Voltage Monitoring	No problem with Company's equipment	•	954 00	0	\$	· [	\$ 1,392 00	0	\$	-
DC 10	DC 10		DC 10	Damage to Company Facilities	Proposed Addition to Other Charges		As Calculated	0	\$	•	As Galculated	D	s	-
DC 11	DC.11		DC 11	Adverse Effects and Improper Power Factor	Proposed Addition to Other Charges		As Calculated	0	\$	-	As Calculated	٥	\$	-
DC.12	DC 12		DC 12	Provision of Retail Customer Data	Proposed Addition to Other Charges	İ	As Calculated	0	\$	- 1	As Calculated	0	\$	- 1
DC 13	DC 13		DC.13	Control Daniel History & Daties Control	Description of the Control of the Co			_	_					
55.10				Customer Required Upgrade to Delivery System	Proposed Addition to Other Charges		As Calculated	a	5	•	As Calculated	0	\$	-
DC 14	DC 14		DG 14	Temporary Service Connection	Within two business days of request date	•	204 00	16,200	\$	3,304,500	\$ 35400	16,200	\$	5,734,600
DC 15	DC,15		DC 15	Disconnect for inaccessibility to Company Metering	Proposed Addition to Other Charges	1								
					At Meter At Premium Location	\$	33 00 61 00	O 4	\$	244	\$ 59.00 \$ 100.00	0	š	:_
				Miscellaneous - Retail Customer Caused	car a resident Prognali	1	₩, 00	•	,	244	- 10000	•	,	400
DC 16	DC 15		DG 16	Charges  Charges	Preposed Addition to Other Charges		As Celculated	c	\$	-	As Calculated	0		
DC 17	DC 17		DC 17	Miscellaneous - Other Charges	Other		As Calculated	1,415		44 043	As Calculated	1,415	s	44,043
				·										

### CENTERPOINT ENERGY HOUSTON ELECTRIC, LLC SCHEDULE IV-J-2-A - PROOF OF REVENUE FOR THE YEAR ENDING DECEMBER 31, 2018

## STANDARD DISCRETIONARY SERVICES (RATE DCS) AND ADDITIONAL DISCRETIONARY CHARGES (RATE DC)

## Sponsor: M. Trexie

ITEN	NO			DE	SCRIPTION			CURRENT				PROPOSED		
Current	Propesed	Tariff C	hg No./Item	General	Specific		Price	Billing Units	Revanue	Price	Billing	Units		Revenue
DC 18	DC 14		DC 18	Distributed Generation Mater Installation Charge			As Calculated	0	<b>.</b>	As Calcul	aled	0	s	
DC 19	DC 19		DC 19	Transmission Scheduling Outage Charges	Scheduling outages of Transmission Elements with ERCOT's Outage Scheduler		As Calculated	0	s -	As Calcul	ated	o	s	-
6 1.2.2 Construction Services Policy	D-0.20		DC 20	Competitive Metering Installation and Removal	Competitive Mater Remove/Install Self-Contained Meter Transformer Rated Meter	\$	76,00 119 00				3 00 3 00			
6 1 2 2 Canstruction Services Policy	DG. 20.1		DC 20	TOTAL REVENUE:	Compatible Mater Physical Access Equipment Install Performed Ouring Initial Meter Install Performed After Initial Install	, , ,	39 00 77 00	2,313,843	\$ 12,411,729	s 7	3 00	2,313,643	-	23,493,676

# CENTERPOINT ENERGY HOUSTON ELECTRIC LLC - DISCRETIONARY CHARGES Cost Category Input for Discretionary Charges FOR THE YEAR ENDED DECEMBER 31, 2018

SPONSOR: M. Troxle

Labor Rates:			<u>Per Hour</u>	Per Event
Field Service Repres	sentati	ive (FSR)	/ Non-Craft	ft:
Strait Time	\$	26.43	×	
Time-and-a-half	\$	39.65	x	
Double Time	\$	52.86	Х	
Burden	\$	10.35	X	39%
T&D Craft Labor:				
Strait Time	\$	82.24	· x	Head Journeyman and 4th 6 months Apprentice: \$45.61 and \$36.63
Time-and-a-half	\$	123.36	×	
Double Time	\$	164.48	X	
Burden	\$	32.20	X	39%
Engineer	\$	50.38		Voltage Monitoring
Metering 1	\$	42.34		
Burden	\$	16.58		39%
Contractor	\$	92.62		x Remove Street light OH / no concrete
Contractor	\$	188.44		x Remove Street light UG / no concrete
Contractor	\$	435.14		x Remove Street light UG / WITH concrete
Dispatching	\$	0.89		x Dispatching expenditures / Total number of billing un
Administrative	\$	-		x
Transportation:	\$	2.51	x	

1 Ton Truck	\$ 4.37	Х
1/2 Ton Truck	\$ 2.49	Х

### **Component Cost of Metering Equipment:**

Type of Meter:	SAP#	Description	Quantity	Unit Cost	Total		Inci Tax
KWH Only		Sta-Kons	11	0.32	3.52		
		Cable	3	0.45	1.35		
		Chase Nipple 1/2"	1	1.56	1.56		
		Locknut 1/2"	1	0.05	0.05		
	109451	Brass Screws	2		0.30		
	109407	Brass Nuts	2		0.14		
	110580	Brass Washers	2	0.13	0.26		
	225622	J-Box	1	83.41	<u>83.41</u>		
				Total Cost	90.59	\$	98.06
LONG CONTRACTOR		Ote Izem	20	2.22	7.04		
KWH & KVARH		Sta-Kons	22		7.04		
		Cable	6		2.70		
		Chase Nipple 1/2"	1	1.56	1.56		
	400454	Locknut 1/2"	1	0.05	0.05		
		Brass Screws	4		0.60		
		Brass Nuts	4		0.28		
		Brass Washers	4		0.52		
	225622	J-Box	1	83.41	<u>83.41</u>	_	
				Total Cost	96.16	\$	104.09
KWH, KVARH & TIME		Sta-Kons	30	0.32	9.60		
		Cable	6		2.70		
		Chase Nipple 1/2"	1	1.56	1.56		
		Locknut 1/2"	1	0.05	0.05		
	109451	Brass Screws	6		0.90		
		Brass Nuts	6		0.42		
		Brass Washers	6		0.78		
	225622		1	83.41	<u>83.41</u>		
			•	Total Cost	99.42	\$	107.62
						•	

Meter Replacement Cost	\$ 11.50
Pulse Relay	\$ 169.64
Time Relay	\$ 143.44
Meter Cost Difference	\$ 54.12
J box plus install	\$ 51.70
CNP provided J box and connectors	\$ 12.00 Competitive

Overhead for Stores:

18.879% Percent of Material Cost

## CENTERPOINT ENERGY HOUSTON ELECTRIC LLC - DISCRETIONARY CHARGES Non-Standard Meter Move-Out - Self Contained Meter (existing) FOR THE YEAR ENDED DECEMBER 31, 2018

SPONSOR: M. Troxle

#### Description:

This service discontinues Delivery at Retail Customer's Point of Delivery. Company shall complete performance of the service on the requested date, provided: (1) the requested date is a Business Day; (2) Company receives the order by 5:00PM CPT on a Business Day; and (3) the order is received at least two Business Days prior to the requested date. If the requested date is not a Business Day, Company shall treat Business Day as the requested date. Company may treat an order received after 5:00PM CPT on a Business Day, or on a day that is not a Business Day, as received by 5:00PM CPT on the next Business Day. If the order is received by Company less than two Business Days prior to the requested date, Company shall complete performance of the service within two Business Days after the order is received.

Line			Co	st		No of	No of	Total	
No.	Type of Cost	Per Hr		Per Event		Events	Hours		Cost
	<u>T&amp;D</u>								
1	Labor	\$	82.24				0.6	\$	49.34
2	Labor Burden	\$	32.20				0.6	\$	19.32
3	Dispatch Cost			\$	0.89	1.0		\$	0.89
4	Administrative Cost			\$	-	1.0		\$	-
5	Transportation expenses	\$	4.37				0.6	\$	2.62
6	Sub-Total							\$	72.17
. 7	Proposed Charge							\$	72.00

## CENTERPOINT ENERGY HOUSTON ELECTRIC LLC - DISCRETIONARY CHARGES Non-Standard Meter Move-Out- CT / Other Meter (existing) FOR THE YEAR ENDED DECEMBER 31, 2018

SPONSOR: M. Troxle

### Description:

This service discontinues Delivery at Retail Customer's Point of Delivery. Company shall complete performance of the service on the requested date, provided: (1) the requested date is a Business Day; (2) Company receives the order by 5:00PM CPT on a Business Day; and (3) the order is received at least two Business Days prior to the requested date. If the requested date is not a Business Day, Company shall treat Business Day as the requested date. Company may treat an order received after 5:00PM CPT on a Business Day, or on a day that is not a Business Day, as received by 5:00PM CPT on the next Business Day. If the order is received by Company less than two Business Days prior to the requested date, Company shall complete performance of the service within two Business Days after the order is received.

Line				ost		No of	No of	Total	
No.	Type of Cost		Per Hr	Per Event		Events	Hours	Cost	
	T&D								
1	Labor	\$	82.24				0.9	\$	74.02
2	Labor Burden	\$	32.20				0.9	\$	28.98
3	Dispatch Cost			\$	0.89	1.0		\$	0.89
4	Administrative Cost			\$	-	1.0		\$	_
5	Transportation expenses	\$	4.37				0.9	\$	3.93
6	Sub-Total							\$	107.82
7	Proposed Charge							\$	108.00

## CENTERPOINT ENERGY HOUSTON ELECTRIC LLC - DISCRETIONARY CHARGES AMS-M Meter Move-Out - Self Contained Meter (existing) FOR THE YEAR ENDED DECEMBER 31, 2018

SPONSOR: M. Troxle

### Description:

This service discontinues Delivery at Retail Customer's Point of Delivery. Company shall complete performance of the service on the requested date, provided: (1) the requested date is a Business Day; (2) Company receives the order by 5:00PM CPT on a Business Day; and (3) the order is received at least two Business Days prior to the requested date. If the requested date is not a Business Day, Company shall treat Business Day as the requested date. Company may treat an order received after 5:00PM CPT on a Business Day, or on a day that is not a Business Day, as received by 5:00PM CPT on the next Business Day. If the order is received by Company less than two Business Days prior to the requested date, Company shall complete performance of the service within two Business Days after the order is received.

Line			Co	st		No of	No of	Total	
No.	Type of Cost	F	Per Hr		Event	Events	Hours	Cost	
	<u>T&amp;D</u>								
1	Labor	\$	82.24				0.6	\$	49.34
2	Labor Burden	\$	32.20				0.6	\$	19.32
3	Dispatch Cost			\$	0.89	1.0		\$	0.89
4	Administrative Cost			\$	-	1.0		\$	-
5	Transportation expenses	\$	4.37				0.6	\$	2.62
6	Sub-Total							\$	72.17
7	Proposed Charge							\$	72.00

# CENTERPOINT ENERGY HOUSTON ELECTRIC LLC - DISCRETIONARY CHARGES AMS-M Meter Move-Out- CT / Other Meter (existing) FOR THE YEAR ENDED DECEMBER 31, 2018

SPONSOR: M. Troxle

### Description:

This service discontinues Delivery at Retail Customer's Point of Delivery. Company shall complete performance of the service on the requested date, provided: (1) the requested date is a Business Day; (2) Company receives the order by 5:00PM CPT on a Business Day; and (3) the order is received at least two Business Days prior to the requested date. If the requested date is not a Business Day, Company shall treat Business Day as the requested date. Company may treat an order received after 5:00PM CPT on a Business Day, or on a day that is not a Business Day, as received by 5:00PM CPT on the next Business Day. If the order is received by Company less than two Business Days prior to the requested date, Company shall complete performance of the service within two Business Days after the order is received.

Line			Cost				No of	Total	
No.	Type of Cost	Per Hr		Per Event		Events	Hours	Cost	
	<u>T&amp;D</u>								
1	Labor	\$	82.24				0.9	\$	74.02
2	Labor Burden	\$	32.20				0.9	\$	28.98
3	Dispatch Cost			\$	0.89	1.0		\$	0.89
4	Administrative Cost			\$	-	1.0		\$	_
5	Transportation expenses	\$	4.37				0.9	\$	3.93
6	Sub-Total							\$	107.82
7	Proposed Charge							\$	108.00

## CENTERPOINT ENERGY HOUSTON ELECTRIC LLC - DISCRETIONARY CHARGES Non-Standard Meter Move-In - Self Contained Meter (New) FOR THE YEAR ENDED DECEMBER 31, 2018

SPONSOR: M. Troxle

### Description:

Line			Cost			No of	No of	Total
No.	Type of Cost	<u>F</u>	er Hr	Per Event		Events	Hours	 Cost
	<u>T&amp;D</u>							
1	Labor	\$	82.24				1.0	\$ 82.24
2	Labor Burden	\$	32.20				1.0	\$ 32.20
3	Dispatch Cost			\$	0.89	1.0		\$ 0.89
4	Administrative Cost			\$	-	1.0		\$ -
5	Transportation expenses	\$	4.37				1.0	\$ 4.37
6	Sub-Total							\$ 119.70
7	Move-out		,				·····	\$ 72.00
8	Total							\$ 191.70
9	Proposed Charge							\$ 192.00

## CENTERPOINT ENERGY HOUSTON ELECTRIC LLC - DISCRETIONARY CHARGES Non-Standard Meter Move-In - Self Contained Meter (existing) FOR THE YEAR ENDED DECEMBER 31, 2018

SPONSOR: M. Troxle

### Description:

Line			Co	st		No of	No of	Total	
No.	Type of Cost	Per Hr			Event	Events	Hours	Cost	
	T&D								
1	Labor	\$	82.24				0.6	\$	49.34
2	Labor Burden	\$	32.20				0.6	\$	19.32
3	Dispatch Cost			\$	0.89	1.0		\$	0.89
4	Administrative Cost			\$	-	1.0		\$	-
5	Transportation expenses	\$	4.37				0.6	\$	2.62
6	Sub-Total							\$	72.17
7	Move-out							\$	72.00
8	Total							\$	144.17
9	Proposed Charge							\$	144.00

# CENTERPOINT ENERGY HOUSTON ELECTRIC LLC - DISCRETIONARY CHARGES Non-Standard Meter Move-In - CT / Other Meter (new) FOR THE YEAR ENDED DECEMBER 31, 2018

SPONSOR: M. Troxle

### Description:

Line		C	ost		No of	No of	Total	
No.	Type of Cost	 Per Hr		Event	Events	Hours	Cost	
	<u>T&amp;D</u>							
1	Labor	\$ 82.24				3.0	\$	246.72
2	Labor Burden	\$ 32.20				3.0	\$	96.59
3	Dispatch Cost		\$	0.89	1.0		\$	0.89
4	Administrative Cost		\$	-	1.0		\$	_
5	Transportation expenses	\$ 4.37				3.0	\$	13.11
6	Sub-Total						\$	357.31
7	Move-out						\$	108.00
8	Total						\$	465.31
9	Proposed Charge						\$	465.00

# CENTERPOINT ENERGY HOUSTON ELECTRIC LLC - DISCRETIONARY CHARGES Non-Standard Meter Move-In - CT / Other Meter (existing) FOR THE YEAR ENDED DECEMBER 31, 2018

SPONSOR: M. Troxle

#### Description:

Line		Co	ost		No of	No of	Total	
No.	Type of Cost	 Per Hr	Per Event		Events	Hours		Cost
	<u>T&amp;D</u>							
1	Labor	\$ 82.24				0.9	\$	74.02
2	Labor Burden	\$ 32.20				0.9	\$	28.98
3	Dispatch Cost		\$	0.89	1.0		\$	0.89
4	Administrative Cost		\$	-	1.0		\$	-
5	Transportation expenses	\$ 4.37				0.9	\$	3.93
6	Sub-Total						\$	107.82
7	Move-out						\$	108.00
8	Total						\$	215.82
9	Proposed Charge						\$	216.00

## CENTERPOINT ENERGY HOUSTON ELECTRIC LLC - DISCRETIONARY CHARGES AMS-M Meter Move-In - Self Contained Meter (New) FOR THE YEAR ENDED DECEMBER 31, 2018

SPONSOR: M. Troxle

#### Description:

Line			Co	st		No of	No of		Total	
No.	Type of Cost	<u>F</u>	er Hr	Per	Event	Events	Hours	Cost		
	<u>T&amp;D</u>									
1	Labor	\$	82.24				1.0	\$	82.24	
2	Labor Burden	\$	32.20				1.0	\$	32.20	
3	Dispatch Cost			\$	0.89	1.0		\$	0.89	
4	Administrative Cost			\$	-	1.0		\$	-	
5	Transportation expenses	\$	4.37				1.0	\$	4.37	
6	Sub-Total							\$	119.70	
7	Move-out							\$	72.00	
8	Total							\$	191.70	
9	Proposed Charge							\$	192.00	

## CENTERPOINT ENERGY HOUSTON ELECTRIC LLC - DISCRETIONARY CHARGES AMS-M Meter Move-In - Self Contained Meter (existing) FOR THE YEAR ENDED DECEMBER 31, 2018

SPONSOR: M. Troxle

### Description:

Line	•		Co	st		No of	No of	Total		
No.	Type of Cost	F	Per Hr			Events	Hours	Cost		
	<u>T&amp;D</u>									
1	Labor	\$	82.24				0.6	\$	49.34	
2	Labor Burden	\$	32.20				0.6	\$	19.32	
3	Dispatch Cost			\$	0.89	1.0		\$	0.89	
4	Administrative Cost			\$	-	1.0		\$	-	
5	Transportation expenses	\$	4.37				0.6	\$	2.62	
6	Sub-Total							\$	72.17	
7	Move-out							\$	72.00	
8	Total							\$	144.17	
9	Proposed Charge							\$	144.00	

# CENTERPOINT ENERGY HOUSTON ELECTRIC LLC - DISCRETIONARY CHARGES AMS-M Meter Move-In - CT / Other Meter (new) FOR THE YEAR ENDED DECEMBER 31, 2018

SPONSOR: M. Troxle

### Description:

Line		C	ost		No of	No of	Total	
No.	Type of Cost	 Per Hr	Pe	r Event	_Events_	Hours		Cost
	<u>T&amp;D</u>							
1	Labor	\$ 82.24				3.0	\$	246.72
2	Labor Burden	32.20				3.0	\$	96.59
3	Dispatch Cost		\$	0.89	1.0		\$	0.89
4	Administrative Cost		\$	-	1.0		\$	-
5	Transportation expenses	\$ 4.37				3.0	\$	13.11
6	Sub-Total						\$	357.31
7	Move-out						\$	108.00
8	Total						\$	465.31
9	Proposed Charge						\$	465.00

## CENTERPOINT ENERGY HOUSTON ELECTRIC LLC - DISCRETIONARY CHARGES AMS-M Meter Move-In - CT / Other Meter (existing) FOR THE YEAR ENDED DECEMBER 31, 2018

#### SPONSOR:

### Description:

Line		C	ost		No of	No of	Total	
No.	Type of Cost	 Per Hr	Per Event		Events	Hours	Cost .	
	T&D							
1	Labor	\$ 82.24				0.9	\$	74.02
2	Labor Burden	\$ 32.20				0.9	\$	28.98
3	Dispatch Cost		\$	0.89	1.0		\$	0.89
4	Administrative Cost		\$	-	1.0		\$	-
5	Transportation expenses	\$ 4.37				0.9	\$	3.93
6	Sub-Total						\$	107.82
7	Move-out						\$	108.00
8	Total						\$	215.82
9	Proposed Charge						\$	216.00

## CENTERPOINT ENERGY HOUSTON ELECTRIC LLC - DISCRETIONARY CHARGES Priority Non-Standard Meter Move-In - Self-Contained Meter (existing) FOR THE YEAR ENDED DECEMBER 31, 2018

SPONSOR: M. Troxle

### Description:

Line		Co	st	No of	No of	Total Cost	
No.	Type of Cost	Per Hr	Per Event	Events	Hours		
	<u>T&amp;D</u>						
1	Labor (Time and a half) <sup>1</sup>	\$ 123.36			0.6	\$	74.02
2	Dispatch Cost		\$ 0.89	1.0		\$	0.89
3	Administrative Cost		\$ -	1.0		\$	-
4	Transportation expenses	\$ 4.37			0.6	\$	2.62
5	Sub-Total					\$	77.53
6	Move-out					\$	72.00
7	Total					\$	149.53
8	Proposed Charge					\$	150.00

WP - Discretionary Services - Current and Proposed Calculations 22 of 115

<sup>1</sup>Note: Priority order takes the service man out-of-route. Impact increases serviceman's work schedule by 1 hour at an overtime rate.

# CENTERPOINT ENERGY HOUSTON ELECTRIC LLC - DISCRETIONARY CHARGES Priority Non-Standard Meter Move-In - CT / Other Meter (existing) FOR THE YEAR ENDED DECEMBER 31, 2018

SPONSOR: M. Troxle

### Description:

Line		Cost				No of	Total	
No.	Type of Cost	 Per Hr	Per	r Event	Events	Hours	Cost	
	<u>T&amp;D</u>							
1	Labor (Time-and-a-half) <sup>1</sup>	\$ 123.36				0.9	\$	111.02
2	Dispatch Cost		\$	0.89	1.0		\$	0.89
3	Administrative Cost		\$	-	1.0		\$	_
4	Transportation expenses	\$ 4.37				0.9	\$	3.93
5	Sub-Total						\$	115.84
6	Move-out						\$	108.00
7	Total						\$	223.84
8	Proposed Charge						\$	224.00

<sup>1</sup>Note: Priority order takes the service men out-of-route. Impact increases serviceman's work schedule by displacing assigned work to an overtime rate.

# CENTERPOINT ENERGY HOUSTON ELECTRIC LLC - DISCRETIONARY CHARGES Priority AMS-M Meter Move-In - Self-Contained Meter (existing) FOR THE YEAR ENDED DECEMBER 31, 2018

SPONSOR: M. Troxle

Description:

Line			Co	st		No of	No of	Total Cost	
No.	Type of Cost		Per Hr_	Per	Event	Events	Hours		
	T&D								
1	Labor (Time and a half) <sup>1</sup>	\$	123.36				0.6	\$	74.02
2	Dispatch Cost	•		\$	0.89	1.0		\$	0.89
3	Administrative Cost			\$	-	1.0		\$	-
4	Transportation expenses	\$	4.37				0.6	\$	2.62
5	Sub-Total							\$	77.53
6	Move-out					• •	•	\$	72.00
7	Total							\$	149.53
8	Proposed Charge							\$	150.00

<sup>1</sup>Note: Priority order takes the service man out out-of-route. Impact increases fieldsman's work schedule by 1 hour at an overtime rate.

## CENTERPOINT ENERGY HOUSTON ELECTRIC LLC - DISCRETIONARY CHARGES Priority AMS-M Meter Move-In - CT / Other Meter (existing) FOR THE YEAR ENDED DECEMBER 31, 2018

SPONSOR: M. Troxle

#### Description:

Line		Cost				No of	Total	
No.	Type of Cost	 Per Hr	Per Event		Events	Hours		Cost
	<u>T&amp;D</u>							
1	Labor (Time-and-a-half) <sup>1</sup>	\$ 123.36				0.9	\$	111.02
2	Dispatch Cost		\$	0.89	1.0		\$	0.89
3	Administrative Cost		\$	-	1.0		\$	-
4	Transportation expenses	\$ 4.37				0.9	\$	3.93
5	Sub-Total						\$	115.84
6	Move-out						\$	108.00
7	Total						\$	223.84
8	Proposed Charge						\$	224.00

<sup>1</sup>Note: Priority order takes the servicemen out-of-route. Impact increases serviceman's work schedule by displacing assigned work to an overtime rate.

# CENTERPOINT ENERGY HOUSTON ELECTRIC LLC - DISCRETIONARY CHARGES Disconnect for Non-Pay (DNP) - At the Meter - Standard - Premium Location FOR THE YEAR ENDED DECEMBER 31, 2018

SPONSOR: M. Troxle

#### Description:

Applicable to requests from Competitive Retailer to de-energize service to Retail Customer due to Retail Customer's failure to pay charges billed by its Competitive Retailer or Company.

If the DNP is requested by the Competitive Retailer, the request shall be completed within three Business Days of the requested date provided Company receives the request at least two Business Days prior to the requested date. Notices received after 5:00 PM CPT, or on a day that is not a Business Day, will be considered received on the next Business Day. Company shall not disconnect a premise before the requested date.

If the DNP is performed by Company due to Retail Customer's non-payment of a charge billed directly by Company to the Retail Customer, or because the Retail Customer has not fulfilled its obligations under a contract entered into between Company and the Retail Customer, these charges shall not be billed to the Competitive Retailer.

Line		Cost				No of	No of	Total	
No.	Type of Cost	<u></u>	Per Hr	Per	Event	Events	Hours		Cost
	T&D (Disconnect at Pole or Transformer)								
1	Labor	\$	82.24				0.75	\$	61.68
2	Labor Burden	\$	32.20				0.75	\$	24.15
3	Dispatch Cost			\$	0.89	1.0		\$	0.89
4	Administrative Cost			\$		1.0		\$	-
5	Transportation expenses	\$	4.37				0.75	\$	3.28
7	Total							\$	90.00

	T&D (Disconnect CT meter)							
8	Labor	\$	82.24				0.6	\$ 49.34
9	Labor Burden	\$	32.20				0.6	\$ 19.32
10	Dispatch Cost			\$	0.89	1.0		\$ 0.89
11	Administrative Cost			\$	-	1.0		\$ -
12	Transportation expenses	\$	4.37				0.6	\$ 2.62
14	Total							\$ 72.17
	T&D (Blended Rate - Using average time)	·					e the Markey	
15	Labor	\$	82.24				0.675	\$ 55.51
16	Labor Burden	\$	32.20	_			0.675	\$ 21.73
17	Dispatch Cost			\$	0.89	1.0		\$ 0.89
18	Administrative Cost	•	4.07	\$	-	1.0	0.075	\$ -
19	Transportation expenses	\$	4.37				0.675	\$ 2.95
21	Total							\$ 81.08
22	Total Blended Rate							\$ 81.08
23	Proposed Charge							\$ 81.00

### CENTERPOINT ENERGY HOUSTON ELECTRIC LLC - DISCRETIONARY CHARGES Disconnect for Non-Pay (DNP) - At the Meter Non-Standard FOR THE YEAR ENDED DECEMBER 31, 2018

SPONSOR: M. Troxle

#### Description:

Applicable to requests from Competitive Retailer to de-energize service to Retail Customer due to Retail Customer's failure to pay charges billed by its Competitive Retailer or Company.

If the DNP is requested by the Competitive Retailer, the request shall be completed within three Business Days of the requested date provided Company receives the request at least two Business Days prior to the requested date. Notices received after 5:00 PM CPT, or on a day that is not a Business Day, will be considered received on the next Business Day. Company shall not disconnect a premise before the requested date.

If the DNP is performed by Company due to Retail Customer's non-payment of a charge billed directly by Company to the Retail Customer, or because the Retail Customer has not fulfilled its obligations under a contract entered into between Company and the Retail Customer, these charges shall not be billed to the Competitive Retailer.

Line			c	Cost		No of	No of	Total	
No.	Type of Cost	<b>F</b>	Per Hr	Per	Event	Events	Hours		Cost
	<u>FSR</u>								
1	Labor	\$	26.43				0.19	\$	5.02
2	Labor Burden	\$	10.35				0.19	\$	1.97
3	Dispatch Cost			\$	0.89	1.0		\$	0.89
4	Administrative Cost			\$	-	1.0		\$	-
5	Transportation expenses	\$	2.51	·			0.19	\$	0.48
7	Sub-Total							\$	8.36

8 9 10 11 12	Labor Labor Burden Dispatch Cost Administrative Cost Transportation expenses	\$ \$	82.24 32.20 2.51	\$ \$	0.89		1.0 1.0	0.5 0.5	\$ \$ \$ \$	41.12 16.10 0.89 - 1.25
14	Sub-Total								\$	59.36
15 16 17	Blended Cost: 2018 FSR DNPs 2018 T&D DNPs Total		2 2 2	*******	50% 50% 100%	\$ \$	8.36 59.36	4.18 29.68 33.86	\$	33.86
18	Proposed Charge								\$	34.00

## CENTERPOINT ENERGY HOUSTON ELECTRIC LLC - DISCRETIONARY CHARGES Disconnect for Non-Pay (DNP) - At the Meter - Non-Standard - Premium Location FOR THE YEAR ENDED DECEMBER 31, 2018

SPONSOR: M. Troxle

### Description:

Applicable to requests from Competitive Retailer to de-energize service to Retail Customer due to Retail Customer's failure to pay charges billed by its Competitive Retailer or Company.

If the DNP is requested by the Competitive Retailer, the request shall be completed within three Business Days of the requested date provided Company receives the request at least two Business Days prior to the requested date. Notices received after 5:00 PM CPT, or on a day that is not a Business Day, will be considered received on the next Business Day. Company shall not disconnect a premise before the requested date.

If the DNP is performed by Company due to Retail Customer's non-payment of a charge billed directly by Company to the Retail Customer, or because the Retail Customer has not fulfilled its obligations under a contract entered into between Company and the Retail Customer, these charges shall not be billed to the Competitive Retailer.

Line		Cost				No of	No of	Total	
No.	Type of Cost	<u>_</u>	Per Hr	Per	Event	Events	Hours		Cost
	T&D (Disconnect at Pole or Transformer)								
1	Labor	\$	82.24				0.75	\$	61.68
2	Labor Burden	\$	32.20				0.75	\$	24.15
3	Dispatch Cost			\$	0.89	1.0		\$	0.89
4	Administrative Cost			\$	-	1.0		\$	-
5	Transportation expenses	\$	4.37				0.75	\$	3.28
7	Total							\$	90.00

	T&D (Disconnect CT meter)					
8	Labor	\$ 82.24			0.9	\$ 74.02
9	Labor Burden	\$ 32.20			0.9	\$ 28.98
10	Dispatch Cost		\$ 0.89	1.0		\$ 0.89
11	Administrative Cost		\$ -	1.0		\$ _
12	Transportation expenses	\$ 4.37			0.9	\$ 3.93
14	Total					\$ 107.82
	T&D (Blended Rate - Using average time)	 ,	 			
15	Labor	\$ 82.24			0.825	\$ 67.85
16	Labor Burden	\$ 32.20			0.825	\$ 26.56
17	Dispatch Cost		\$ 0.89	1.0		\$ 0.89
18	Administrative Cost		\$ -	1.0		\$ -
19	Transportation expenses	\$ 4.37			0.825	\$ 3.61
20	Material					
						\$ 0.09
21	Total					\$ 99.00
22	Total Blended Rate					\$ 99.00
23	Proposed Charge					\$ 99.00

## CENTERPOINT ENERGY HOUSTON ELECTRIC LLC - DISCRETIONARY CHARGES Disconnect for Non-Pay (DNP) - At the Meter AMS-M FOR THE YEAR ENDED DECEMBER 31, 2018

SPONSOR: M. Troxle

### Description:

Applicable to requests from Competitive Retailer to de-energize service to Retail Customer due to Retail Customer's failure to pay charges billed by its Competitive Retailer or Company.

If the DNP is requested by the Competitive Retailer, the request shall be completed within three Business Days of the requested date provided Company receives the request at least two Business Days prior to the requested date. Notices received after 5:00 PM CPT, or on a day that is not a Business Day, will be considered received on the next Business Day. Company shall not disconnect a premise before the requested date.

If the DNP is performed by Company due to Retail Customer's non-payment of a charge billed directly by Company to the Retail Customer, or because the Retail Customer has not fulfilled its obligations under a contract entered into between Company and the Retail Customer, these charges shall not be billed to the Competitive Retailer.

Line			С	ost		No of	No of		Total
No.	Type of Cost	Per Hr		Per Event		Events	Hours	Cost	
	<u>T&amp;D</u>								
1	Labor	\$	82.24				0.5	\$	41.12
2	Labor Burden	\$	32.20				0.5	\$	16.10
3	Dispatch Cost			\$	0.89	1.0		\$	0.89
4	Administrative Cost			\$	-	1.0		\$	-
5	Transportation expenses	\$	4.37				0.5	\$	2.19
6	Sub-Total							\$	60.30
7	Total							\$	60.30

8 Proposed Charge

60.00

# CENTERPOINT ENERGY HOUSTON ELECTRIC LLC - DISCRETIONARY CHARGES Disconnect for Non-Pay (DNP) - At the Meter - AMS-M - Premium Location FOR THE YEAR ENDED DECEMBER 31, 2018

SPONSOR: M. Troxle

### Description:

Applicable to requests from Competitive Retailer to de-energize service to Retail Customer due to Retail Customer's failure to pay charges billed by its Competitive Retailer or Company.

If the DNP is requested by the Competitive Retailer, the request shall be completed within three Business Days of the requested date provided Company receives the request at least two Business Days prior to the requested date. Notices received after 5:00 PM CPT, or on a day that is not a Business Day, will be considered received on the next Business Day. Company shall not disconnect a premise before the requested date.

If the DNP is performed by Company due to Retail Customer's non-payment of a charge billed directly by Company to the Retail Customer, or because the Retail Customer has not fulfilled its obligations under a contract entered into between Company and the Retail Customer, these charges shall not be billed to the Competitive Retailer.

Line			Co	st		No of	No of	Total	
No.	Type of Cost		Per Hr		Event	Events	Hours	Cost	
	T&D (Disconnect at Pole or Transformer)								
1	Labor	\$	82.24				0.75	\$	61.68
2	Labor Burden	\$	32.20				0.75	\$	24.15
3	Dispatch Cost			\$	0.89	1.0		\$	0.89
4	Administrative Cost			\$	-	1.0		\$	-
5	Transportation expenses	\$	4.37				0.75	\$	3.28
7	Total							\$	90.00

	T&D (Disconnect CT meter)						
8	Labor	\$ 82.24			0.9	\$	74.02
9	Labor Burden	\$ 32.20			0.9	\$	28.98
10	Dispatch Cost		\$ 0.89	1.0		\$	0.89
11	Administrative Cost		\$ -	1.0		\$	-
12	Transportation expenses	\$ 4.37			0.9	\$	3.93
14	Total					\$	107.82
	T&D (Blended Rate - Using average time)						
15	Labor	\$ 82.24			0.825	\$	67.85
16	Labor Burden	\$ 32.20			0.825	\$	26.56
17	Dispatch Cost		\$ 0.89	1.0		\$	0.89
18	Administrative Cost		\$ -	1.0		\$	-
19	Transportation expenses	\$ 4.37			0.825	_\$	3.61
21	Total					\$	98.91
22	Total Blended Rate					\$	98.91
23	Proposed Charge					\$	99.00

## CENTERPOINT ENERGY HOUSTON ELECTRIC LLC - DISCRETIONARY CHARGES Reconnect After DNP - At Meter - Standard - Premium Location FOR THE YEAR ENDED DECEMBER 31, 2018

SPONSOR: M. Troxle

### Description:

Applicable to requests to re-energize service to Retail Customer after Retail Customer has been disconnected for non-payment. Company shall complete reconnection no later than 48 hours from the time the request is received. However, if this requirement results in the reconnection being performed on a day that is not a Business Day, an additional charge for non-Business Day connection will also apply.

#### Standard Reconnect

Standard reconnect requests received by Company prior to 2:00 P.M. CPT on a Business Day shall be reconnected that day. Standard reconnect requests received by Company prior to 5:00 PM CPT on a Business Day shall be reconnected that day if possible, but no later than the close of Company's next field operational day. Standard reconnection requests received by Company after 5:00 PM CPT or on a day that is not a Business Day shall be considered received on the next Business Day.

Line			Cost				No of	Total	
No.	Type of Cost	1	Per Hr P		Event	Events	Hours	Cost	
	T&D (Regular Work Day)								
1	Labor	\$	82.24				0.5	\$	41.12
2	Labor Burden	\$	32.20				0.5	\$	16.10
3	Dispatch Cost			\$	0.89	1.0		\$	0.89
4	Administrative Cost			\$	-	1.0		\$	-
5	Transportation expenses	\$	4.37				0.5	\$	2.19
6	Sub-Total							\$	60.30
7	T&D (Saturday)								
8	Labor (Time and a half)	\$	123.36				1.0	\$	123.36
9	Dispatch Cost			\$	0.89	1.0		\$	0.89
10	Administrative Cost			\$	-	1.0		\$	-
11	Transportation expenses	\$	4.37				1.0	\$	4.37
12	Sub-Total							\$	128.62
13	Total Average Cost							\$	94.46
14	Proposed Charge							\$	94.00

# CENTERPOINT ENERGY HOUSTON ELECTRIC LLC - DISCRETIONARY CHARGES Reconnect After DNP At Meter - Standard - Same Day Or Non-Holiday Weekend FOR THE YEAR ENDED DECEMBER 31, 2018

SPONSOR: M. Troxle

### Description:

Applicable to requests to re-energize service to Retail Customer after Retail Customer has been disconnected for non-payment. Company shall complete reconnection no later than 48 hours from the time the request is received. However, if this requirement results in the reconnection being performed on a day that is not a Business Day, an additional charge for non-Business Day connection will also apply.

### Same Day Reconnect:

Same day reconnect requests received by Company prior to 5:00 PM CPT on a Business Day shall be reconnected no later than the close of Company's field operational day.

Line			Cost				No of	Total		
No.	Type of Cost	Per Hr		Per Event		Events	Hours	Cost		
	T&D									
1	Labor (Time and a half)	\$ 1	123.36				1.0	\$	123.36	
2	Dispatch Cost			\$	0.89	1.0		\$	0.89	
3	Administrative Cost			\$	-	1.0		\$	-	
4	Transportation expenses	\$	4.37				1.0	\$	4.37	
5	Sub-Total							\$	128.62	
6	Total					· · · · · · · · · · · · · · · · · · ·		\$	128.62	
7	Proposed Charge							\$	129.00	

# CENTERPOINT ENERGY HOUSTON ELECTRIC LLC - DISCRETIONARY CHARGES Reconnect After DNP At Meter - Standard - Holiday FOR THE YEAR ENDED DECEMBER 31, 2018

SPONSOR: M. Troxle

### Description:

Applicable to requests to re-energize service to Retail Customer after Retail Customer has been disconnected for non-payment. Company shall complete reconnection no later than 48 hours from the time the request is received. However, if this requirement results in the reconnection being performed on a day that is not a Business Day, an additional charge for non-Business Day connection will also apply.

### Same Day Reconnect:

Same day reconnect requests received by Company prior to 5:00 PM CPT on a Business Day shall be reconnected no later than the close of Company's field operational day.

Line		С	ost		No of	No of	Total	
No.	Type of Cost	Per Hr Pe		Per Event Event		Hours		Cost
	<u>T&amp;D</u>							
1	Labor (Double Time)	\$ 164.48				1.0	\$	164.48
2	Dispatch Cost		\$	0.89	1.0		\$	0.89
3	Administrative Cost		\$	-	1.0		\$	_
4	Transportation expenses	\$ 4.37				1.0	\$	4.37
5	Sub-Total	·					\$	169.74
6	Total						\$	169.74
7	Proposed Charge						\$	170.00

### CENTERPOINT ENERGY HOUSTON ELECTRIC LLC - DISCRETIONARY CHARGES Reconnect After DNP - At Meter - Non-Standard FOR THE YEAR ENDED DECEMBER 31, 2018

SPONSOR: M. Troxle

### Description:

Applicable to requests to re-energize service to Retail Customer after Retail Customer has been disconnected for non-payment. Company shall complete reconnection no later than 48 hours from the time the request is received. However, if this requirement results in the reconnection being performed on a day that is not a Business Day, an additional charge for non-Business Day connection will also apply.

#### Standard Reconnect

Standard reconnect requests received by Company prior to 2:00 P.M. CPT on a Business Day shall be reconnected that day. Standard reconnect requests received by Company prior to 5:00 PM CPT on a Business Day shall be reconnected that day if possible, but no later than the close of Company's next field operational day. Standard reconnection requests received by Company after 5:00 PM CPT or on a day that is not a Business Day shall be considered received on the next Business Day.

Line			C	ost		No of	No of		Total	
No.	Type of Cost	<u>_</u>	er Hr	Per Event		Events	Hours	Cost		
	<u>FSR</u>									
1	Labor	\$	26.43				0.19	\$	5.02	
2	Labor Burden	\$	10.35				0.19	\$	1.97	
3	Dispatch Cost			\$	0.89	1.0		\$	0.89	
4	Administrative Cost			\$	-	1.0		\$	-	
5	Transportation expenses	\$	2.51				0.19	\$	0.48	
7	Sub-Total							\$	8.36	
	<u>T&amp;D</u>									
8	Labor	\$	82.24				0.5	\$	41.12	
9	Labor Burden	\$	32.20				0.5	\$	16.10	
10	Dispatch Cost			\$	0.89	1.0		\$	0.89	
11	Administrative Cost			\$	-	1.0		\$	-	

12	Transportation expenses	\$ 2.51					0.5	\$ 1.25
14	Sub-Total							\$ 59.36
15 16 17	Blended Cost: 2018 FSR DNPs 2018 T&D DNPs Total	 1 1 2	50% 50% 100%	\$ \$	8.36 59.36	\$ \$ \$	4.18 29.68 33.86	\$ 33.86
18	Proposed Charge							\$ 34.00

# CENTERPOINT ENERGY HOUSTON ELECTRIC LLC - DISCRETIONARY CHARGES Reconnect After DNP At Meter - Non-Standard - Same Day Or Non-Holiday Weekend FOR THE YEAR ENDED DECEMBER 31, 2018

SPONSOR: M. Troxle

#### Description:

Applicable to requests to re-energize service to Retail Customer after Retail Customer has been disconnected for non-payment. Company shall complete reconnection no later than 48 hours from the time the request is received. However, if this requirement results in the reconnection being performed on a day that is not a Business Day, an additional charge for non-Business Day connection will also apply.

### Same Day Reconnect:

Line			Cost		No of No of		Total		
No.	Type of Cost	Per Hr		Per Event		Events	Hours	Cost	
	<u>FSR</u>								
1	Labor (Time and a half)	\$	39.65				1.0	\$	39.65
3	Dispatch Cost			\$	0.89	1.0		\$	0.89
4	Administrative Cost			\$	-	1.0		\$	-
5	Transportation expenses	\$	2.51				1.0	\$	2.51
7	Sub-Total							\$	43.05
	<u>T&amp;D</u>								
8	Labor (Time and a half)	\$	123.36				1.0	\$	123.36
9	Dispatch Cost			\$	0.89	1.0		\$	0.89
10	Administrative Cost			\$	-	1.0		\$	-

11 13	Transportation expenses Sub-Total	\$ 2.51					1.0	<u>\$</u> \$	2.51 126.76
14 15 16	Blended Cost: 2018 FSR Reconnects 2018 T&D Reconnects Total	 1 1 2	50% 50% 100%	\$ \$	43.05 126.76	\$ \$	21.53 63.38 84.91	\$	84.91
17	Proposed Charge							\$	85.00

# CENTERPOINT ENERGY HOUSTON ELECTRIC LLC - DISCRETIONARY CHARGES Reconnect After DNP At Meter - Non-Standard - Holiday FOR THE YEAR ENDED DECEMBER 31, 2018

SPONSOR: M. Troxle

#### Description:

Applicable to requests to re-energize service to Retail Customer after Retail Customer has been disconnected for non-payment. Company shall complete reconnection no later than 48 hours from the time the request is received. However, if this requirement results in the reconnection being performed on a day that is not a Business Day, an additional charge for non-Business Day connection will also apply.

#### Same Day Reconnect:

Line		С	ost	No of	No of	Total
No.	Type of Cost	Per Hr	Per Event	Events	Hours	 Cost
	<u>T&amp;D</u>					
1	Labor (Double Time)	\$ 164.48			1.0	\$ 164.48
2	Dispatch Cost		\$ 0.89	1.0		\$ 0.89
3	Administrative Cost		\$ -	1.0		\$ -
4	Transportation expenses	\$ 4.37			1.0	\$ 4.37
5	Sub-Total					\$ 169.74
6	Total					\$ 169.74
7	Proposed Charge					\$ 170.00

### CENTERPOINT ENERGY HOUSTON ELECTRIC LLC - DISCRETIONARY CHARGES Reconnect After DNP - At Meter - Non-Standard - Premium Location FOR THE YEAR ENDED DECEMBER 31, 2018

SPONSOR: M. Troxle

#### Description:

Applicable to requests to re-energize service to Retail Customer after Retail Customer has been disconnected for non-payment. Company shall complete reconnection no later than 48 hours from the time the request is received. However, if this requirement results in the reconnection being performed on a day that is not a Business Day, an additional charge for non-Business Day connection will also apply.

#### Standard Reconnect

Standard reconnect requests received by Company prior to 2:00 P.M. CPT on a Business Day shall be reconnected that day. Standard reconnect requests received by Company prior to 5:00 PM CPT on a Business Day shall be reconnected that day if possible, but no later than the close of Company's next field operational day. Standard reconnection requests received by Company after 5:00 PM CPT or on a day that is not a Business Day shall be considered received on the next Business Day.

Line			c	Cost			No of	Total
No.	Type of Cost		Per Hr		Event	Events	Hours	 Cost
	T&D (Regular Work Day)							
1	Labor	\$	82.24				0.75	\$ 61.68
2	Labor Burden	\$	32.20				0.75	\$ 24.15
3	Dispatch Cost			\$	0.89	1.0		\$ 0.89
4	Administrative Cost			\$	-	1.0		\$ -
5	Transportation expenses	\$	4.37				0.75	\$ 3.28
6	Sub-Total							\$ 90.00
7	T&D (Saturday)							
8	Labor (Time and a half)	\$	123.36				1.0	\$ 123.36
9	Dispatch Cost			\$	0.89	1.0		\$ 0.89
10	Administrative Cost			\$	-	1.0		\$ _
11	Transportation expenses	\$	4.37				1.0	\$ 4.37
12	Sub-Total	·						\$ 128.62

13	Total Average Cost	\$ 109.31
14	Proposed Charge	\$ 109.00

# CENTERPOINT ENERGY HOUSTON ELECTRIC LLC - DISCRETIONARY CHARGES Premium Reconnect After DNP At Meter - Non-Standard - Same Day Or Non-Holiday Weekend FOR THE YEAR ENDED DECEMBER 31, 2018

SPONSOR: M. Troxle

#### Description:

Applicable to requests to re-energize service to Retail Customer after Retail Customer has been disconnected for non-payment. Company shall complete reconnection no later than 48 hours from the time the request is received. However, if this requirement results in the reconnection being performed on a day that is not a Business Day, an additional charge for non-Business Day connection will also apply.

### Same Day Reconnect:

Line		Cost			No of	No of	Total
No.	Type of Cost	 Per Hr	Per	Event	Events	Hours	 Cost
	<u>T&amp;D</u>						
1	Labor (Time and a half)	\$ 123.36				1.0	\$ 123.36
2	Dispatch Cost		\$	0.89	1.0		\$ 0.89
3	Administrative Cost		\$	-	1.0		\$ -
4	Transportation expenses	\$ 4.37				1.0	\$ 4.37
5	Sub-Total						\$ 128.62
6	Total						\$ 128.62
7	Proposed Charge						\$ 129.00

# CENTERPOINT ENERGY HOUSTON ELECTRIC LLC - DISCRETIONARY CHARGES Premium Reconnect After DNP At Meter - Non-Standard - Holiday FOR THE YEAR ENDED DECEMBER 31, 2018

SPONSOR: M. Troxle

#### Description:

Applicable to requests to re-energize service to Retail Customer after Retail Customer has been disconnected for non-payment. Company shall complete reconnection no later than 48 hours from the time the request is received. However, if this requirement results in the reconnection being performed on a day that is not a Business Day, an additional charge for non-Business Day connection will also apply.

### Same Day Reconnect:

Line		C	Cost			No of	Total	
No.	Type of Cost	Per Hr	Per	Event	Events	Hours		Cost
	<u>T&amp;D</u>							
1	Labor (Double Time)	\$ 164.48				1.0	\$	164.48
2	Dispatch Cost		\$	0.89	1.0		\$	0.89
3	Administrative Cost		\$	-	1.0		\$	-
4	Transportation expenses	\$ 4.37				1.0	\$	4.37
5	Sub-Total						\$	169.74
6	Total						\$	169.74
7	Proposed Charge						\$	170.00

### CENTERPOINT ENERGY HOUSTON ELECTRIC LLC - DISCRETIONARY CHARGES Reconnect After DNP - At Meter - AMS-M Meter FOR THE YEAR ENDED DECEMBER 31, 2018

SPONSOR: M. Troxle

#### Description:

Applicable to requests to re-energize service to Retail Customer after Retail Customer has been disconnected for non-payment. Company shall complete reconnection no later than 48 hours from the time the request is received. However, if this requirement results in the reconnection being performed on a day that is not a Business Day, an additional charge for non-Business Day connection will also apply.

#### Standard Reconnect

Standard reconnect requests received by Company prior to 2:00 P.M. CPT on a Business Day shall be reconnected that day. Standard reconnect requests received by Company prior to 5:00 PM CPT on a Business Day shall be reconnected that day if possible, but no later than the close of Company's next field operational day. Standard reconnection requests received by Company after 5:00 PM CPT or on a day that is not a Business Day shall be considered received on the next Business Day.

Line			c	Cost			No of	Total	
No.	Type of Cost	Per Hr		Per	Event	Events	Hours	Cost	
	<u>T&amp;D</u>								
1	Labor	\$	82.24				0.5	\$	41.12
2	Labor Burden	\$	32.20				0.5	\$	16.10
3	Dispatch Cost			\$	0.89	1.0		\$	0.89
4	Administrative Cost			\$	-	1.0		\$	-
5	Transportation expenses	\$	4.37				0.5	\$	2.19
6	Sub-Total							\$	60.30
7	Total							\$	60.30
8	Proposed Charge							\$	60.00

# CENTERPOINT ENERGY HOUSTON ELECTRIC LLC - DISCRETIONARY CHARGES Reconnect After DNP At Meter - AMS-M - Same Day Or Non-Holiday Weekend FOR THE YEAR ENDED DECEMBER 31, 2018

SPONSOR: M. Troxle

### Description:

Applicable to requests to re-energize service to Retail Customer after Retail Customer has been disconnected for non-payment. Company shall complete reconnection no later than 48 hours from the time the request is received. However, if this requirement results in the reconnection being performed on a day that is not a Business Day, an additional charge for non-Business Day connection will also apply.

### Same Day Reconnect:

Line			Cost				No of	Total		
No.	Type of Cost		Per Hr		Event	_Events	Hours	Cost		
•	T&D									
1	Labor (Time and a half)	\$	123.36				1.0	\$	123.36	
2	Dispatch Cost			\$	0.89	1.0		\$	0.89	
3	Administrative Cost			\$	-	1.0		\$	-	
4	Transportation expenses	\$	4.37				1.0	\$	4.37	
5	Material							\$	0.09	
6	Sub-Total							\$	128.71	
7	Total	-	-					\$	128.71	
8	Proposed Charge							\$	129.00	

## CENTERPOINT ENERGY HOUSTON ELECTRIC LLC - DISCRETIONARY CHARGES Reconnect After DNP At Meter - AMS-M Meter - Holiday FOR THE YEAR ENDED DECEMBER 31, 2018

SPONSOR: M. Troxle

### Description:

Applicable to requests to re-energize service to Retail Customer after Retail Customer has been disconnected for non-payment. Company shall complete reconnection no later than 48 hours from the time the request is received. However, if this requirement results in the reconnection being performed on a day that is not a Business Day, an additional charge for non-Business Day connection will also apply.

### Same Day Reconnect:

Line		С	Cost			No of	Total
<u>No.</u>	Type of Cost	Per Hr	_Per	Event	Events	Hours	 Cost
	T&D						
1	Labor (Double Time)	\$ 164.48				1.0	\$ 164.48
2	Dispatch Cost		\$	0.89	1.0		\$ 0.89
3	Administrative Cost		\$	-	1.0		\$ -
4	Transportation expenses	\$ 4.37			•	1.0	\$ 4.37
	Material						\$ 0.09
5	Sub-Total						\$ 169.83
6	Total				-		\$ 169.83
7	Proposed Charge						\$ 170.00

### CENTERPOINT ENERGY HOUSTON ELECTRIC LLC - DISCRETIONARY CHARGES Reconnect After DNP - At Meter - AMS-M - Premium Location FOR THE YEAR ENDED DECEMBER 31, 2018

SPONSOR: M. Troxle

#### Description:

Applicable to requests to re-energize service to Retail Customer after Retail Customer has been disconnected for non-payment. Company shall complete reconnection no later than 48 hours from the time the request is received. However, if this requirement results in the reconnection being performed on a day that is not a Business Day, an additional charge for non-Business Day connection will also apply.

#### Standard Reconnect

Standard reconnect requests received by Company prior to 2:00 P.M. CPT on a Business Day shall be reconnected that day. Standard reconnect requests received by Company prior to 5:00 PM CPT on a Business Day shall be reconnected that day if possible, but no later than the close of Company's next field operational day. Standard reconnection requests received by Company after 5:00 PM CPT or on a day that is not a Business Day shall be considered received on the next Business Day.

Line		Cost			No of	No of	Total
No.	Type of Cost	 Per Hr		Event	Events	Hours	 Cost
	T&D (Regular Work Day)						
1	Labor	\$ 82.24				0.75	\$ 61.68
2	Labor Burden	\$ 32.20				0.75	\$ 24.15
3	Dispatch Cost		\$	0.89	1.0		\$ 0.89
4	Administrative Cost		\$	-	1.0		\$ -
5	Transportation expenses	\$ 4.37				0.75	\$ 3.28
6	Sub-Total						\$ 90.00
7	T&D (Saturday)						
8	Labor (Time and a half)	\$ 123.36				1.0	\$ 123.36
9	Dispatch Cost		\$	0.89	1.0		\$ 0.89
10	Administrative Cost		\$	-	1.0		\$ -
11	Transportation expenses	\$ 4.37				1.0	\$ 4.37
12	Sub-Total						\$ 128.62

13	Total Average Cost		\$ 109.31
14	Proposed Charge	•	\$ 109.00

# CENTERPOINT ENERGY HOUSTON ELECTRIC LLC - DISCRETIONARY CHARGES Reconnect After DNP At Meter - AMS-M - Same Day Or Non-Holiday Weekend FOR THE YEAR ENDED DECEMBER 31, 2018

SPONSOR: M. Troxle

#### Description:

Applicable to requests to re-energize service to Retail Customer after Retail Customer has been disconnected for non-payment. Company shall complete reconnection no later than 48 hours from the time the request is received. However, if this requirement results in the reconnection being performed on a day that is not a Business Day, an additional charge for non-Business Day connection will also apply.

### Same Day Reconnect:

Line			Co	st		No of	No of	Total		
No.	Type of Cost		Per Hr	Per	Event	Events	Hours		Cost	
	<u>T&amp;D</u>									
1	Labor (Time and a half)	\$	123.36				2.0	\$	246.72	
2	Dispatch Cost			\$	0.89	1.0		\$	0.89	
3	Administrative Cost			\$	-	1.0		\$	-	
4	Transportation expenses	\$	4.37				2.0	\$	8.74	
5	Sub-Total							\$	256.35	
6	Total							\$	256.35	
7	Proposed Charge							\$	256.00	

## CENTERPOINT ENERGY HOUSTON ELECTRIC LLC - DISCRETIONARY CHARGES Reconnect After DNP At Meter - AMS-M - Holiday FOR THE YEAR ENDED DECEMBER 31, 2018

SPONSOR: M. Troxle

### Description:

Applicable to requests to re-energize service to Retail Customer after Retail Customer has been disconnected for non-payment. Company shall complete reconnection no later than 48 hours from the time the request is received. However, if this requirement results in the reconnection being performed on a day that is not a Business Day, an additional charge for non-Business Day connection will also apply.

### Same Day Reconnect:

Line		С	ost		No of	No of		Total
<u>No.</u>	Type of Cost	Per Hr	Pe	r Event	Events	Hours	Cost	
	T&D							
1	Labor (Double Time)	\$ 164.48				2.0	\$	328.96
2	Dispatch Cost		\$	0.89	1.0		\$	0.89
3	Administrative Cost		\$	-	1.0		\$	-
4	Transportation expenses	\$ 4.37				2.0	\$	8.74
5	Sub-Total						\$	338.59
6	Total						\$	338.59
7	Proposed Charge						\$	339.00

# CENTERPOINT ENERGY HOUSTON ELECTRIC LLC - DISCRETIONARY CHARGES Standard: Meter Test FOR THE YEAR ENDED DECEMBER 31, 2018

SPONSOR: M. Troxle

Description:

Type of Cost	Cost				No of	No of	Total	
	P	er Hr	Per	Event	Events	Hours		Cost
T&D - Company Owned Self Contained Meter								
	\$	42 34				0.75	¢	31.76
							•	12.43
	Ψ	10.50	¢	0.80	1.0	0.75	¢.	0.89
·							Ψ E	-
	æ	1 37	Ψ	-	1.0	0.75	Φ Φ	3.28
rransportation expenses	Ψ	7.57				0.73	Ψ	3.20
Total							\$	48.36
Proposed Charge - Company Owned Self Contained Meter							\$	48.00
T&D - CT or Other Company Owned								
Labor	\$	82.24				1.0	\$	82.24
Labor Burden	\$	32.20					\$	32.20
Dispatch Cost			\$	0.89	1.0		\$	0.89
Administrative Cost			\$	-	1.0		\$	-
Transportation expenses	\$	4.37	•			1.0	\$	4.37
	T&D - Company Owned Self Contained Meter Labor Labor Burden Dispatch Cost Administrative Cost Transportation expenses  Total  Proposed Charge - Company Owned Self Contained Meter  T&D - CT or Other Company Owned Labor Labor Burden Dispatch Cost	T&D - Company Owned Self Contained Meter  Labor	T&D - Company Owned Self Contained Meter  Labor \$ 42.34  Labor Burden \$ 16.58  Dispatch Cost  Administrative Cost  Transportation expenses \$ 4.37  Total  Proposed Charge - Company Owned Self Contained Meter  T&D - CT or Other Company Owned  Labor \$ 82.24  Labor Burden \$ 32.20  Dispatch Cost  Administrative Cost	T&D - Company Owned Self Contained Meter  Labor	T&D - Company Owned Self Contained Meter  Labor	T&D - Company Owned Self Contained Meter         Labor       \$ 42.34         Labor Burden       \$ 16.58         Dispatch Cost       \$ 0.89       1.0         Administrative Cost       \$ -       1.0         Transportation expenses       \$ 4.37       * -       1.0         Total         Proposed Charge - Company Owned Self Contained Meter         Labor       \$ 82.24       * 82.24         Labor Burden       \$ 32.20       * 0.89       1.0         Dispatch Cost       \$ 0.89       1.0         Administrative Cost       \$ -       1.0	T&D - Company Owned Self Contained Meter         Labor Burden       \$ 42.34       0.75         Labor Burden       \$ 16.58       0.75         Dispatch Cost       \$ 0.89       1.0         Administrative Cost       \$ -       1.0         Transportation expenses       \$ 4.37       0.75         Total         Proposed Charge - Company Owned Self Contained Meter         Labor Labor Labor Labor Burden       \$ 82.24       1.0         Labor Burden       \$ 32.20       1.0         Dispatch Cost Administrative Cost       \$ 0.89       1.0         Administrative Cost       \$ -       1.0	T&D - Company Owned Self Contained Meter           Labor         \$ 42.34         0.75         \$           Labor Burden         \$ 16.58         0.75         \$           Dispatch Cost         \$ 0.89         1.0         \$           Administrative Cost         \$ -         1.0         \$           Transportation expenses         \$ 4.37         0.75         \$           Total           Proposed Charge - Company Owned Self Contained Meter         \$           Labor         \$ 82.24         1.0         \$           Labor Burden         \$ 32.20         1.0         \$           Dispatch Cost         \$ 0.89         1.0         \$           Administrative Cost         \$ -         1.0         \$

13	Total					\$ 119.70
14	Proposed Charge - CT-or Other Company Owned Meter					\$ 120.00
	T&D - Competitive Meter					
15	Labor	\$ 82.24			1.25	\$ 102.80
16	Labor Burden	\$ 32.20			1.25	\$ 40.25
17	Dispatch Cost		\$ 0.89	1.0		\$ 0.89
18	Administrative Cost		\$ -	1.0		\$ -
19	Transportation expenses	\$ 4.37			1.25	\$ 5.46
20	Total					\$ 149.40
21	Proposed Charge - Competitive Meter					\$ 149.00

## CENTERPOINT ENERGY HOUSTON ELECTRIC LLC - DISCRETIONARY CHARGES Standard: Meter Test FOR THE YEAR ENDED DECEMBER 31, 2018

SPONSOR: M. Troxle

Description:

Line			Co	st		No of	No of	Total	
No.	Type of Cost	F	er Hr	Per Event		Events	Hours		Cost
1 2 3 4 5	T&D - Company Owned Self Contained Meter Labor Labor Burden Dispatch Cost Administrative Cost Transportation expenses	<b>\$ \$</b>	82.24 32.20 4.37	<b>\$</b>	0.89	1.0 1.0	0.75 0.75 0.75	\$ \$ \$ \$ \$ \$ \$ \$ \$ \$ \$ \$ \$ \$ \$ \$ \$ \$ \$	61.68 24.15 0.89 3.28
6	Total							\$	90.00
7	Proposed Charge - Company Owned Self Contained Meter							\$	90.00
8 9 10 11 12	T&D - CT or Other Company Owned Labor Labor Burden Dispatch Cost Administrative Cost Transportation expenses	\$ \$	82.24 32.20 4.37	<b>\$</b> \$	0.89	1.0 1.0	0.75 0.75	\$ \$ \$ \$	61.68 24.15 0.89 - 3.28

13	Total					\$ 90.00
14	Proposed Charge - CT or Other Company Owned Meter					\$ 90.00
	T&D - Competitive Meter					
15	Labor	\$ 82.24			1.25	\$ 102.80
16	Labor Burden	\$ 32.20			1.25	\$ 40.25
17	Dispatch Cost		\$ 0.89	1.0		\$ 98.0
18	Administrative Cost		\$ -	1.0		\$ -
19	Transportation expenses	\$ 4.37			1.25	\$ 5.46
20	Total					\$ 149.40
21	Proposed Charge - Competitive Meter					\$ 149.00

## CENTERPOINT ENERGY HOUSTON ELECTRIC LLC - DISCRETIONARY CHARGES Non-Standard: Meter Test FOR THE YEAR ENDED DECEMBER 31, 2018

SPONSOR: M. Troxle

Description:

Line No.	Type of Cost	F	Co Per Hr		Event	No of Events	No of Hours	Total Cost	
	T&D - Company Owned Self Contained Meter								
1	Labor	\$	42.34				0.75	\$	31.76
2	Labor Burden	\$	16.58				0.75	\$	12.43
3	Dispatch Cost	•		\$	0.89	1.0		\$	0.89
4	Administrative Cost			\$	-	1.0		\$	-
5	Transportation expenses	\$	4.37	·			0.75	\$	3.28
6	Total							\$	48.36
7	Proposed Charge - Company Owned Self Contained Meter							\$	48.00
	T&D - CT or Other Company Owned								
8	Labor	\$	82.24				1.0	\$	82.24
9	Labor Burden	\$	32.20				1.0	\$	32.20
10	Dispatch Cost	,		\$	0.89	1.0		\$	0.89
11	Administrative Cost			\$	-	1.0		\$	-
12	Transportation expenses	\$	4.37	,			1.0	\$	4.37

13	Total					\$ 119.70
14	Proposed Charge - CT or Other Company Owned Meter					\$ 120.00
	T&D - Competitive Meter					
15	Labor	\$ 82.24			1.25	\$ 102.80
16	Labor Burden	\$			1.25	\$ 40.25
17	Dispatch Cost		\$ 0.89	1.0		\$ 0.89
18	Administrative Cost		\$ -	1.0		\$
19	Transportation expenses	\$ 4.37			1.25	\$ 5.46
20	Total					\$ 149.40
21	Proposed Charge - Competitive Meter					\$ 149.00

# CENTERPOINT ENERGY HOUSTON ELECTRIC LLC - DISCRETIONARY CHARGES Non-Standard: Meter Test FOR THE YEAR ENDED DECEMBER 31, 2018

SPONSOR: M. Troxle

Description:

Line	Type of Cost		Co	st		No of	No of	Total	
No.		F	er Hr	Per	Event	Events	Hours		Cost
1 2 3 4 5	T&D - Company Owned Self Contained Meter Labor Labor Burden Dispatch Cost Administrative Cost Transportation expenses	<b>\$</b> \$	42.34 16.58 4.37	\$ \$	0.89	1.0 1.0	0.75 0.75 0.75	\$ \$ \$ \$ \$ \$	31.76 12.43 0.89 - 3.28
6	Total							\$	48.36
7	Proposed Charge - Company Owned Self Contained Meter						,	\$	48.00
8 9 10 11	T&D - CT or Other Company Owned Labor Labor Burden Dispatch Cost Administrative Cost	\$	82.24 32.20	<b>\$</b>	0.89 -	1.0 1.0	1.0 1.0	\$ \$ \$	82.24 32.20 0.89
12	Transportation expenses	\$	4.37				1.0	\$	4.37

13	Total					\$ 119.70
14	Proposed Charge - CT or Other Company Owned Meter					\$ 120.00
15	<u>T&amp;D - Competitive Meter</u> Labor	\$ 82.24			1.25	\$ 102.80
16	Labor Burden	\$ 32.20			1.25	\$ 40.25
17	Dispatch Cost		\$ 0.89	1.0		\$ 0.89
18	Administrative Cost		\$ -	1.0		\$ -
19	Transportation expenses	\$ 4.37			1.25	\$ 5.46
20	Total					\$ 149.40
21	Proposed Charge - Competitive Meter					\$ 149.00

## CENTERPOINT ENERGY HOUSTON ELECTRIC LLC - DISCRETIONARY CHARGES Non-Standard: Meter Test FOR THE YEAR ENDED DECEMBER 31, 2018

SPONSOR: M. Troxle

Description:

Line No.	Type of Cost	Cost Per Hr Per E		Event	No of Events	No of Hours	Total Cost		
1 2 3 4 5	T&D - Company Owned Self Contained Meter Labor Labor Burden Dispatch Cost Administrative Cost Transportation expenses	\$ \$	82.24 32.20 4.37	\$ \$	0.89	1.0 1.0	0.75 0.75	\$ <b>\$</b> \$ \$ \$	61.68 24.15 0.89 - 3.28
6 7	Total  Proposed Charge - Company Owned Self Contained Meter		4.57				0.73	\$ \$	90.00
8 9 10 11 12	T&D - CT or Other Company Owned  Labor  Labor Burden  Dispatch Cost  Administrative Cost  Transportation expenses	\$ \$	82.24 32.20 4.37	<b>\$</b>	0.89	1.0 1.0	1.25 1.25 1.25	\$ \$ \$ \$ \$ \$	102.80 40.25 0.89 - 5.46

13	Total					\$ 149.40
14	Proposed Charge - CT or Other Company Owned Meter	•				\$ 149.00
	T&D - Competitive Meter					
15	Labor	\$ 82.24			1.25	\$ 102.80
16	Labor Burden	\$ 32.20			1.25	\$ 40.25
17	Dispatch Cost		\$ 0.89	1.0		\$ 0.89
18	Administrative Cost		\$ -	1.0		\$ ~
19	Transportation expenses	\$ 4.37			1.25	\$ 5.46
20	Total					\$ 149.40
21	Proposed Charge - Competitive Meter					\$ 149.00

## CENTERPOINT ENERGY HOUSTON ELECTRIC LLC - DISCRETIONARY CHARGES AMS-M: Meter Test FOR THE YEAR ENDED DECEMBER 31, 2018

SPONSOR: M. Troxle

Description:

Line No.	Type of Cost		Co Per Hr		Event	No of Events	No of Hours	Total Cost	
1 2	T&D - Company Owned Self Contained Meter Labor Labor Burden	\$	42.34 16.58				0.75 0.75	\$ \$	31.76 12.43
3 4 5	Dispatch Cost Administrative Cost Transportation expenses	\$	4.37	\$ \$	0.89 -	1.0 1.0	0.75	\$ \$ \$	0.89
6 7	Total  Proposed Charge - Company Owned Self Contained Meter							\$ \$	48.36 48.00
8 9 10 11 12	T&D - CT or Other Company Owned Labor Labor Burden Dispatch Cost Administrative Cost Transportation expenses	\$ \$	82.24 32.20 4.37	\$ \$	0.89	1.0 1.0	1.0 1.0	\$ \$ <b>\$</b> \$	82.24 32.20 0.89 - 4.37

13	Total					\$	119.70
14	Proposed Charge - CT or Other Company Owned Meter					\$	120.00
	T&D - Competitive Meter					_	
15	Labor	\$ 			1.25	\$	102.80
16	Labor Burden	\$ 32.20			1.25	\$	40.25
17	Dispatch Cost		\$ 0.89	1.0		\$	0.89
18	Administrative Cost		\$ -	1.0		\$	-
19	Transportation expenses	\$ 4.37			1.25	\$	5.46
20	Total					\$	149.40
21	Proposed Charge - Competitive Meter					\$	149.00

## CENTERPOINT ENERGY HOUSTON ELECTRIC LLC - DISCRETIONARY CHARGES AMS-M: Meter Test FOR THE YEAR ENDED DECEMBER 31, 2018

SPONSOR: M. Troxle

Description:

Line No.	Type of Cost	Co Per Hr		ost Per Event		No of Events	No of Hours	Total Cost	
1 2 3 4 5	T&D - Company Owned Self Contained Meter Labor Labor Burden Dispatch Cost Administrative Cost Transportation expenses  Total	\$ \$	42.34 16.58 4.37	\$	0.89	1.0 1.0	0.75 0.75 0.75	\$ \$ \$ \$ \$	31.76 12.43 0.89 3.28
7	Proposed Charge - Company Owned Self Contained Meter							\$	48.00
8 9 10 11 12	T&D - CT or Other Company Owned Labor Labor Burden Dispatch Cost Administrative Cost Transportation expenses	\$ \$	82.24 32.20 4.37	\$ \$	0.89	1.0 1.0	1.0 1.0	\$ \$ \$ \$ \$	82.24 32.20 0.89 - 4.37